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dg8mbgzg30000 mgengbob o3y dgbsdmm dgegab oergdgbde-
o bomdomgds gbmeagds, s giomdmomdsl — gmgdgb@otrmm
bromdomgdsms bogM(3g s 5nbadbgds Q sbmmo: Q={a, @,,...}.

09 9emg396@oM e bomdomgdsms Loghisg LabEmmos, Azgb
dgagndmos hadmgmgammmo dobo gmgdgb@agdo. 08 dgdmbggzseda, Mm-
(30 99396@ocmm bromdnmagdoms LogM(3g oS ob YLabEnemy,
35d0b dmbg@bgdmmas dabo gmadqb@gdn smabgmmb Mendg m3zanbg-
doo (bgbom). dogomoma, oy 94b3gcM0356E)0L (s330M39000L) dg-
badmm dggagdns bmgeamb ob Jomadqgdo, Gm3gmms dmbsobergm-
35 Boombl 5¢gds@)gds, 35d0b dgobedadolbo gmgdgb@emm bmdn-
mgdoms bogM(zg RonbgMgds d9dmgabsntoc:

Q={X: X 560l Jomadn, Hm3ol dmbobemgmds 1000000-%4 3g@ns}.

sbommann@o, oy hzgb dgdmbggzom gomhgzo byM@omb 3
oobol dgmby BMnwsb (396@Mom 3mmMEabsgms Lomaggdo,
35dnb:

Q={(x,y):x*+y*> <9}.

sbobndbogns, HmMI gMon s 03039 94L3gH0dgb@n dgodmads
50bg@mmb  bbgowabgs gmadgb@emm bomdamgdsms bLogMzom
0dals dobgg00, o Moma abBMgbogds g4L3gMndgb@o@mman. dogos-
00, 3ods0mal gogmmgdobsl, oy hggb g35068g6gLgdl Gmag-
mo  Mogbge  godmfbogds 3ol bgws  Bobbogbg,  853dnb
Q, ={1,2,3,4,5,6}, beaegwm oy Azq6 335068)969L9dL gL Mozbzo 396-
0o o) (b, 35306 Q, ={396(0, wyfo}. 88 dgdmbzgzedo Q, dg-
0(393L 898 0bggm@mBs(300L 30006 Q,. doa.: o) hzgb 30300 €, -abs
Mm3gemo gemgdgb@n dmbs, 35306 dggzodmons godzom €, -als Gm-
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dgm gemgdgb@otm bmadnmagdsl 3dmbms swanmo, doatMsd, 3ofMo-
Joo, gb dgdmgdgmos. LabyMggmos, bodmaswme, 30bafMagdmmm
99L39603968 006 s 3o3d0Mgdmma  doqLodom Mo  EbgMEMds300b
d93(339em0 gemg396@ oMy brom3aemgdames bogFzno.

8980LN010 1. ©sgmdzom, Mmd hzgb dgdmbgggom gomhigzom
Jobbol dogM godmdggdaem bod BobsMaAL s godmbdgdor mommg-
@ domgabl bEGsbosmEmas (b) oy bybrgdsmo (b). 35306 3o -
LodommFo 0bgm@mdsgool d53(339m0 gemmgdgb@ememm bomdaemy-
doms bngM(zg 0gbgdo:

Q, ={LLL,LLE,LYL,FUL,LYE, TV, TV GV

MRO™ 65 3emgd0 0bgxgm@mBa300b dgd (3390 gemgdgbG e brom-
domgdoms bogM(zg ngbgde:

Q, ={012,3},

Mmdgmos 3306396900, o o®Agemo bodn boboMdowsb Madwgbns
LB b Mma (56 bybogdammo).

LOBOHEXNBMIBN: 1. byl ghmbgm sagdobsl — Q={g, b};
Il. 3mbg@0lb mMxgm 030gd0bsl, 56 MG 3mby@elb gMhoMmums©
0a300gd0bol = Q={ag, ab, by, LL}; . 3mBgG0L Lodgge sagdo-
bob, o6 Lodo 8mbgGlb gBmEEMMmse saqdobsl — Q= {gag,
aal, aba, baa, abl, bab, Lba, LLL}; IV. BmbgBob N-xaM sa©gdo-
bob Q={w:w=(a,..,a,),8 =g b U} s dgogagdob LagHom

Mom@gbmds Gmmas 2"-ab; V. gfmo Loms8sdm jedsmmoab gogm-
9d0bob — Q={1, 2, 3, 4, 5, 6}; VL. 3004300, ;300056 3580050m
dmbg@olb. o9 dmzgs agMdn, 35306 goam@gdor Lomddsdm 3odos-
0gmb; bmemm o dmgs LagobyMa, 35306 3093 gPoxge 393-
900 3mbg@ol. 83 3g8mbagzado Q={a1, 22, 33, a4, 25, 36,y LL};
VII. 60 Lomsdsdm 3odsmmal gogmgdabslb — Q={(1,1); (1,2);
s (5,6); (2,1); (2,2); 0.5 (206); - . (6,1); .. L (6,6)) 9By
Q={(@,j):1,]=12,..,6}; VII. 36moy]ioob gotgobobmdol osc-
3960bsb — Q={,306a0L0%, ,m35(30b0"}; IX. Lo gmgmmbm La-
a63d0 godmdobgdoms Mommgbmds — Q={0, 1,2, ... }; X. dodgo
JLgemdo — Q@ ={[0, 220]}.



9mgdgb@otym bomdnmgdoms LogMzob bgdabdogt J3z9Lod-
Gogmgl bemBomgds gbmogds. o9y 94b3gMH0dgb@ ol 3mbzmg@memo
dggan 9399360b Gondg bomdnmgdsl, 35d0b 83dmdgb Gm3 gL
bomdomgds dmbs, bmmm Mmdgembsg o6 g3990360L — ol bomdo-
mgds oM dmbs. bromdnmgdgdo ©00bndbgds oo Mmnbymn
sbmgdoo: A B,C,D,.... bomdamgdolb A=Q «bmogdgb s950emg-
dgmm bomdomgdsl, bmemm B-b — Igndmgdgem bpmdomgdab. A o
B bomdomgdol 309fM000bg6s (sb godn) gbmeogds abgo bomdo-
gL, MmIgmaz bgds 35dab, MHm(3s 83 bromdomgdgdowsb geomo
300b(3 bogds s 300b0dbgds Loddmmmmn AUB (s6 A+B). A o
B bomdomgdol 0obsgggms (b bodmMagmo) gbmegds obgom beom-
domgdsl, Mm3gmoy begds 35306, Mmzs gL bmdomgdgdo gM-
DEOMMmI bgds s 500b0dbgds Loddmemman ANB (s6 AB).
A bomdomgdol bobabssmBogam bomdomgds gbmegds abgom
bmdomgdsl, Gmdgmos bgds 35306, Mmzs A o6 brgds s swo-
6036965 LoddmEmmo A. A > B bomdomgdals bbgomds gbmeogds
abgo bmdnmgdal, Mm3gmo(y begds 35306, Mm s bogds A, dog-
03 of bpgds B o smnbodbgds Loddmmmmn AVB. A ©s B
bmdomgdolb gbmwagds gaeglbgdswo oy An B=0.

o) Q-b 6960b30gH gemgdgb@ommm bromdomgdsl @; dggbods-
3965 aotyzgmmo Mobggdo P, =P(w), Gmdmgdog o3dsymego-
mgdL 30MmMdgdL: 0< p; <1 o Zi P, =1, 35390b 53 Mn(3b393L gbm-
©9dsm @, gmgdgb@otnmoa  bomdamgdgdol  smdscmmdgdo.
P(A) = Z@eAp(a)i)' oy P(a)=const o |Ql<oo, 3090nmmdon
adsmmodols 3mabo3n® gobdom@gdsl: P(A) 5 Al/| Q.

bomdomgdob bLGsGoLEGYG smdsmnmda nmzmgds 53 beom-
domgdab gomomdomo bobdamg W (A) =M /N (bowsi N = (300ms
LogMom Mobgzos, M 30 — A bomdomgdol dmbogbsms Ma(3bgo) ob
dobmab sbemb dgmazn Masbzo (Bomgds@nineow Db gmmay-
moMgds sbgmns: P(A) = LiLTlWN (A)).

8IM8IBHNIEN SL300NMBS. oy L dmbsz39:mdy dg3mbszgzom
0809096 B9 omb, 85d0b smdscmmds 0dobs, GmM3 sgmgdyemo
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BoM@nmo @ogzgds | =L 3mbsgggomdg: P=1|/|L]|. sbsemmanno
3563068905 33543L LodMEBYgdg s Logm(3gdo.

898010110 2. 3350 bLadobbol Fommmdo ool 143 33.06R0.
Lo3nBbAL (3960 Fgdofg BEHamm sGgL, MHMImal Gofmmmdbos
1 33.06h0 9Bm©qd96 ,bofol mzomb®. @obosmhAgbo sy oymaon-
oo 20 bgd@mMoe, MmImada(z 3obMIMamos 1-ob 20-3wg. ,bo-
0l ;mgomalb® gomgm oMol safMgmgzg bodggMoo Mammo GoMom-
oo 10 33. 0bRo o Mg gMon Mammo GgoMomdoom 15 33. abfo.
3089mobbdmm, Hm3 bLodadbgl dgdmbggznm gLk nbsML s 30-
3m3mo  dmdsmmds  0dobs, M3 obosbmgds: 8) MMM
Mameon dg-14 bLyd@m@do; &) 3g-14 Lgd@mMo, dogMsd ofd MM Rg-
500 Mammo; a) badggMon Mameo 56 ,baMals mgomn®; ©) emvb-
bmdMnsbo bgd@mMo ob Mg gMoo Mamea.

33mbLbs. dgdmzamma bromdomagdgdo:

A ={osbosbos 3g-14 LgJdm@o},

B ={wsbosbes "bomols mgoeno'}

D ={@sbosbws mGxgdomo Gameno},

T ={sb0sbes Lodyx ghoo Gamano},

E ={@obosbos gy(bmd@mosbo gdem@o}.

bowos, Mm3  moomgymo  bgd@meob  goMmormdo  0gbgds
(143-1)/20=17.133.06h0, bmmm mExgMs Gammb moomgmem
Lyd@MPNS6 LogMom g4bgds 15/20=0.75 33. 0bho goGma. 5do-
&m3, smdommdol ggmdg@Hmayyma o630 gdal mebsbdow, bado-

9090 dedommdgdn 046905 dgbadadabogo:
5) P(D " A)=0.75/143~ 0.005;

3) P(A\D) =P(A)—-P(AnD)=7.1/143-0.75/143~ 0.044;

a) P(BUT)=P(B)+P(T)=1/143+10/143~ 0.077;

©) P(EuD)=P(E)+P(D)-P(EnD)=10-7.1/143+15/143-10-0.75/143~ 0.55.
396586600 396GOLRMILN. Jgdmbzg300 0gdgb (53tmgd96) Jm-

sl bMgda. Mol Mool semdsmmds 0dabs, Gm3 JmEoal Loamdg
50358968 b gdn Robasdman BgbogHn bad 3mmbgool 339ML?

03mblibs 1. LodgEMool FmLobMgdoEsb gsdm3mnbamg Babsol-
Bom dgndmagds 3m(393mem 0dbgL JmGal dndsMormagds. go303-
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mmo JmMob 3gM396mognmstymn 00sdg@Mo. 3530b dbmemme
ol JmOs 5mgds@gds Robobymao bgbogma bed 3nmbgwal 4396w,
Gmdgmo 33gob ©0sdg@mb dobo bog@dalb 1/4-086 3/4-3g. dg-
Lododobo, smdsmmdal ggmdg@moyymo gobdoM@gdol mebsblds,
Lodngdgmo smdsomds 0gbgds:

[(3/4-1/4)2r]/2r =1/2.

2dmblibs 2. dYmgommdol g dmymegsm dgazodmoas JmEob
9600 dmmm s35x804boGmm bMHgbomdg. o3 byMEGomdo gogemg-
o 3bgdo s Rsbabmmo babogHo Lodzmmbgol mMo a39Mwo0,
Gmdmob bggmm 83 Bg@mEomdns, §dbal Lod 60 gFobol Gme
Jnobgl. 5dm(3060L 30MmMbsl 33sgmagznmgdl dbmmme ol Jmtog-
b0, ®m3mgdo(z bzwgds 3gomsbs 60 aMaybnsba 3mmbal dogboo.
530@m3 53 gDom godmmzmaeo badngdgmo smdsmmds ngbgds:

60° /180" =1/3.

3dmbLbs 3. JmGol 3gdsmgmdal obopaqgbsw bszdstnbos
©535b5bgmma dobo IMabgM@Bnemn. s o3dsymanmgdl s3m-
(3960L 30Mmdslb 3530b s bmmme 3530k, Mm(gs dobo 4sbg@Eo-
o 3mmd3bgdmos Imzgdmmo BAgbaMal 3mb396@ Mmoo beg-
Bofob dngbom, Gm3mab Moobo 30M356gemal babggstns. sdo-
&m3 bodogdgmo smdscmds Gmemns:

z(r12)* /I ar® =1/4.

39&GOLMILNL S6L6Y. Loy 035305, MMT 3m(3960L doMmdado
36105 DY LB gdmmn Mo 0amobbdgds Jmeob dgdmbzgzom goz-
mgdsdo. 3oMgge dgdmbggzedo, 0s3g@Mal asbbgmog 35LMns-
mgdo 0gcdl, ob dgadmgds gohgcglb @nsdg@malb 6980L3ogH
BoMG0mbg. GmmomdscyMom nmgmgds mgmdalb gohgfgds ©ns-
39@m0b Gmmo LogMdol 0bBgMzomgddn, domn dwgdomgmdabgsb
©33m4) 300090mo® 039G M0l doabom. 3gmeg dgdmbggzsda, bEg-
Bofob gfo Bg@mGomdn ©sdsgmgdamo mgmdo sbEmemagsl 180
a600b0sb Mbg3oL s nmzmyds, MM mg@mdolb ashgMgds dm(3g-
dmmo bog@dal 3ol dngbom ©sdm3nEgdamos Ibmmmm M 3o-
mob bog®dgdy o oMs 3ol BEgdsmgmdadyg, 569 Gmmomdsmyy)-
o0 0003mgds gMdal gohgmgds BBl Gmema Log®dals M 3o-
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mgddo. Moz dggbgds 39Ladg 53mbLELL, of bgMGomb 353000 I
o009 bosbo bAHob doaboom s 39dgdo smbdocmmdalb ndabs, Gm3 ol
dmbgmagds /2 Gowoymbob 3dmbg 3mb(396@&GMma 6ol doaboo.
dgbodsdobom, bbgomsobbgs 3obyybo sablbgds 53m (3060l Lbgswab-
bgobonmMo slidoo.

‘) S

d) 3) 3)

80800010 3 (30IBLI60L SFMBOES). LadMB Yy EOYMBOMNS 0I5~
bodMo (@ dobdomom) @odmMgdyma doMamgmycn bMggqgdom
s dgdmbggz0m 53009396 | bLog@dal (1 <a) bgdbl. Mmammos sem-
do00mds 0dnbs, HmA b6gdbo 3500833900L ghm-gOHnb doMaomgemmyMa
b 39960050.

33mblLbs. 653L0b FgdoMmagmds (3ombobaw aobobsdmgmgds do-
Lo (396@M0b odmMMgdoo X obrmmglb bMygdg s jymbom ¢,
Gmdgmboz 693bo vaqbl EEggms 39M39bwn 3 nmomMmsb. (3bswo-
o,md 0<x<al2ws —7/2<p<7xl2.

\ ‘ , aA

\ \ 4

N

dqdmznmmo  bomdoemgds: A={bgdbds gos3zgoms  gMom-gHomo
b9} 693Lol BogM gMor-gemo BEgal gows3390m0bal dgbemem-
905 mobogaMmmmds X <Icose/2.



a \IP\
v X'y

03 306mMdab 53359mp0mgdl by Eomgda, Gm3gmms (X,@) gm-
mME0bsdgdn AED ©od@mobym omgdos (Gm3mol Lodsmmgos
EF =1/2), beenm 693b0b yzgms dgbodmm dpamdsmgmds baboso-

©q6s ABCD doton 3nobgoom. dgbodsdnbsm, smdsomdal aqgmdg-
GMoymo go63sMGgdal msobobdow, bodngdgmo smdscmmds ngbgds:

P(A) = SAED /SABCD'

A X
al/2
C
B E=q4y0
A D .
—l2 F|1 O l?2 oo

(3690000, OM3 S,5p =an/2, bomm sdGMobyma sMal gom-
0mdob godmbsmgmgmae 30bsMggdmmo dGnEbofmmo @Ma3y-
(30006 BoMmMIalb Fm@OImoo:

l2
Spep = I IEcoswdgo:IEsin(prj;’jZ:I.
-zl2

dgbodsdobow, P(A)=2l/ar.

0dgsb m=21/aP(A), Goeg, mogal 3bMag, Lodysmgdsl ggsd-
m93L Bosbmmgdom godmgmgommom 7 Mo3bzol 3603369mmde:
o4) b93LL d9dmbzgz0m o3953090m LEdMEBYgdg N-RKIM ©S ob 3o-
omgemne 6M53998L goms3zgmeszh M-x g6, 3od0b Ls3dome oo
n-boomgolb P(A) =m/n o, dgbodsdobsw, 309dmmdo 7 Mozbgal
a0dmbomgmagm dnsbemmagdom asdmbobyymgdsl 7 ~ 2nl/am.



80800010 4. 303m3mm dmddscmds 0dobs, MHm3 bodgGmMoymo
3dmbg@&ob mMo sdmyy 3009090 5300gd0bol ghmggm donby dmgos
896Md0.

23mbLbs. o3 dgdombggzadn Q={ag, ab, ba, LL}; P{aat=P{al}=
=P{la}=P{Ll}=1/4; A={aa, al, ba} 0> P(A) =3/4.

8980210010 5. (5L YEEOL dSemdscmds 0dabs, Gm3 Bgbogm be-
0535dm 303smabl LadxgM aogmMmEgdabol dmbyyema Jmmagdo gemo
5 0303957

3dmblbbs. gmg3g6@omm bomdomgdoms bLogMig 0gbgdos
abgoo smaagdymo (i, j,K) Ls3gymmgdal gBmmdmomds, Lawa(s
®0m Mo 3m33mbgb@o mgdnmmdl 36n0d3bgrmmdgdl 1,2,...,6 g-
03569m0bogsb ©adme3000g0ma. badmogmoals 3Mnbzn3al cobob-
do (ab. omogn 1), sbgomo bLodgymgdol Gommabmds o0gbgde:
|QJ=6-6-6=216. 30650056 Lomsdsdm 3odsmgmo BgbngFns, y3g-
mo gmgdgb@ommmon bmdnmagds gOmbsnMom dmbammebgmas.
h396m30L Lo0bGgMgbm bmdnmagds s3b60dbme A Loddmmmon.
sbocos, ®md A={(111);(2,2,2);(3,3,3);(4,4,4);(55,5);(6,6,6} o
dmd3mdol  3mobogyto 356356 b0l mobobdom 33mumgdm,
md badogdgemn semdscmmds 0bgds P(A)=6/216=1/36.

89890010 6. 35630b0mmo dgdmbizgzom dgmhRgyma amambs,
Gmdgmbsz 3yogb mMo gedsdndzomo. Mol oMol semdscmds
030bs, Mm3 dob o6 34o3L s?

3dmbbbs. gemgdqb@emem bromdnmgdsms bogMsg ngbgds (a,b,c)
LadgmEmadol gHmMdmomds, bawss | sgamslb Bgmns baddzomnsbo
mgdbob 3oM3g9ma dz0emob bgbo, Il sgomsl — 3gmEg dgoemal bggbo
ol sgnemsl — 3gbodg g0l Lqbo. dogn 8c360dbma b sbmoo,
amambs — g sbmmo, bmmm dgeEhgmemo amambs — g° Loddmenmono,
35906 gemgdgb@ ot bmdnemgdoms bogM(sg 0gbgds:

0={9°99,09°9,999°,9°gb, 9g°b, g°hg, ghg*,bg*g,bgg’, g°bb,bg°b, bbg°}.
dgbodadobaw, badogdgemn semdscmmds Gmeos:
P{o6 3yo3L o} =3/12=1/4.

8589210010 7. 20 LggbBnEsb bobgzsmn Jomas s babgzsato
30¢)0. Jomasb ddmbizgzom 0396 LEMgbG s Laddmb 3Mgba-
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6@ LS s 30(39-30MgD0gbGL. Mol YoMl sebdscmmds ndabs, Hmd
369b0gbG0 gobmgds Jomn, beemm ga(39-309bogb@ 0 — gogn?

0dmblLbs. (3bowns, MM3 bagdg g3043L as63gmEgdal gomgdyg 20
m309J&0wsb 2 mdngd@ob dgmhg3obmob s Mmamei goioo gb
dgbodmgdgmos 20-19=380 Lbgosbbgobsomsw. gmgdgb@ oty
bmdomgdoms LogMzg dgagds LEmMgw 53 380 gMmbsnMaow dg-
bodmgdgmo  gmgdgbGofmmn  bomdnmagdobsogsb. bgmdqdbymd
9eq396@ s bmdnmgdsms Mommgbmds 3o, badmagmols 3¢nb-
(3030 0565635, 0gbgds 10-10=100. dgbodsdabow, Lodngdgemo
sedommds 0gbgds 100/380="5/19.

8989L100110 8. &gbsbyE com@mdo mg396 0Ghgzo byor MosbaLb
©d 300093 9o dmbnlb Mosbalb 1...,44 Mosb3gdnsb. dmdggdosba
0363900 0Mhgzs dgdmbzgzom (g3043L & Im3ggd0s6o s 39 6o3-
3900560 Mo3630). Bo YRGOH™M ImbommEbgmos: 0dz9b dmngqgdm
306390 byon Mazbzoom dmbalb Mozbgal gomgdy, oy dmoggdm
306390 bmnsb mmbo Mosbzoms s dmbal Gazbzom?

0dmblibs. 44 mdngdBowsob 5 mdngd@L goMhgzo odGMbgdol
350939 > omsggdol oM gd393> ypMowmagds. dgbodsdobow,
23593L Cs, 3m330bs(300 (0b. @30 1) @5 Mocmgemo domgsbobsom-
30l d3mbyl Gozbzob o®Rgz0l 44 dgbodmgdmmds. s3gbsw, b
h396 a3093L Cf4 44 = 47784352 9 939b@ oo brom3oemads. dg-
dmgommo  bomdomgdgda:  A={8mggds  3oMgzggmo  baomo
03639000, dmbyb Goizbzob goMgdg} s B={3maqds byymawsb
mobo Goibgoms ©s dmbyl Mazbzob Moibgom}. sbowns, Hm3
30M39mo bymo Mobgzo 03l ghmswgo d9dmbgggedn, bmem
dmbyl Ma3bzol godmMoasbgs brgds 43 dgdmbgggedn, s30@mad A
bomdomgdol bgmdqdbymd gmgdgb@ommm bomdamagdoms Mom-
©qbmds sMal 1-43=43. dgbodsdnbs,

P(A) = 43/47784352~9-107".

9mB3a 930560 5 Mo(3b300006 4-0b 53mBgzs dgodmgds C; =5
LbgoabbgobosnmMow, bmmm dgbyomg dmdggdosbal godmmosbgs 3o
Cz =39 Lbgoobbgobsnmom. s3sbmabagg, B bomdoemgdsl bgml
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MBymdL dmbyb Mozbzol ghmogMmo 35M056@0 s Ladmmmme
a3573L: | B]=5-39:1=195. dgbododnbo,

P(B) =195/47484352~ 4-10°°.

9. 0. B bmdomgds 4-10°/(9-107) ~ 4.44-%96 ©36m Jmbe-
mmEbymos 3oMg A.

898910010 9. 52 356080056 3dMMbgdol gocgdg 0mgdgb 5
396BL. 8) Mol Mol smdsmmds 0dabs, MM domdo o6 0gbgds
»3590%; 8) Mol MMl semdscmds 0dabs, MHm3 domdo 0gdbgds K
»a9mo® (k=01..,5); g8) »agmgdaol” o Momogbmdss yggmsdy
DB Imbarmebgmo?

39mbLbs. gmadgb@ecmmo bmdomgdgdolb Mommgbmds ngbgds
Co, (ormoggdgdh gomormgdslb o6 gad3930)- 9) dgdmbgggedo
bgmd536ymdn gemqdgb@ofmemoa bromdnmgdal dobomagdsw 5 3oME0L
s@hgge Mbos 3mbrgl 52-13=39 s> ,a9m0Esb* s Mopasb gb
3gbadmgdgmos Cly Lbgomsbbgobsoms, 580@ma 5emgdmmmdom:

P{osto "amamo"}=CS, /CS, ~0.22;

3J6013360. Lsdngdgmo sedommds o6 dg0n(33mgds 9 oS-
b0l g030035m0bbnbgdm, dogmMed b gogomgamabbnbmor Mm-
amf(3 9mgdgb@ommo bmdomgdgdol bogMmm Mommgbmdsda,
abg bgmdgdbymda gmgdgb@stmma bomdamgdgdal Momogbmds-
do(s. gb 50bLbgds 03 goMgdmagdom, MM bsdsEmmmnsbos Moboggem-
OMdS:

ACTA =CriCk.

d) dgdmbgg3sdn K ,ammo® qbos somhgb gumgdol LagHom
Bomgbmdosb 569y 13-©6. gb gbadmgdgmos Cfy Lbgomsbbgs-
booMom. sbsMhgbn 5—K 30680 mbos s0chgb momRgborma 39
39606, o3 dgbodmadgmos Ci* Lbgswsobbssbso@sw. 653-
030l 3M0b(3030L Mmebobdow bgmdgdbymd gmgdqb@ st bom-
Bomgdoms MomEgbmds 046935 Cl - Ca® o Ladogdgmo smdsmm-
35 Gmos:
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P{k "aum0"}=C/,-C5*/CS,, k=0L1..,5.

a) bobs 3464&do domgdmmoa gsdmbobyymgdall 358mygbgdoom

©53Mb3Nbogdom, MHmI yzgmodg gxmm Imbsmmebymos 1 ,a¢9-
mo“ semdsmmdoom 0.41.

8089L0010 10 (,8ILENI& “ 3NCXI0NIS bJ). 25 bogoamgcgm 60@3—
®0©sb O ,6900609M05%, beamm ©sbsmAgbo 20 — 0600 dgbogmn®.

Mmdgm LEMIbEGL oJ3L ,dgbagfMa® damagmal smgdol g0 ow-
dommds: 3ab(y 3oMggmo 00gdl doemgob, o) 30bg dgmeg newgdl

doemgol?

33mblLbs. 536036ma 3oMggma LEGMY6EGL FngM smgdmeo
doemgonb bm3gMa i sbmomn, bmemm 3gmeg bGgbE ol BogM smg-
demo domgomal bmdgho | sbmmoa. ©ogmdzem, Mmd ,dgbngMo®
doemgmgdol bmdmgdas: 1, 2, 3, 4, 5. 35306 (sbowns, md
Q={@,]j):1,]=12..,25/i# j}, | Q|=25-24=600 o, 3165660300,

Rogomgammm, Mmd yzgmes 9 gdgb@omeymo bomdnmagds Gmma-
doons: P(i, j) =1/600.

dgdmzommo bmdomgdgda:
A={30039ed> LA YgbBI> oM oMo dogrgmo},
B={39m0g ULEyYwgbdds> so00m goGa0 dogngmo},
35306 53 bom3omgdgdlb o43L 3gdmagan baby:
A={(i.)):1=1..5]=1..25i# j} oo
B={(i,}):i=1..25]j=1..5i# j}.
8300 dbObsbos, MmM3 | A|=5-24=120, | B|=5-4+20-5=120.
5308M3 omdscmdab 3mabngyco ao6dsmGgdols mobsbdsc:

120 1
P(A)=P(B)===—===.
(A =PB)=c0=5

9.0. mM039 LGYEILGL 53L 3oMgo domgmal sgdal 9P ©s
03039 dmdsommds.

LIFOLI3I. bobs 5dm (356530 303mzgma semdscmmds 0dabs, Hm3
d9Lodg bLEMgbG 33marmgdl ,,89bnge" domgab.
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8980LN010 11 (80X SEMENL ROFI). 33593L ogadg Lodzymby-
0L Bm@Iom omsggdgmn Mammgdo oby, Hm3 bzghmdo ghomo
amens, dgmeg H0gdo babobasb mebsdm 356domgdbg mea Mam-
mo, dgbodg Mngdn dgos Mo MammENEsb Mobsdsm 3s6domgddy
Lodo Mameo s 5.3. dmemdo oMol gdgbo Gamma. 39-7 Moado 3o
5360L dmmm 6 MaME0Esb Mobsdst dobdamgddy 7 mMdmmo. bg-
5 Mammbyg 930090696 d9Hnb s dob dgndmns ngmEomb Msbsds-
610 5dsmMd0o ob JoM 3003, ob oM (36603 Mammowsb Magmmby,
(3 badmmmme LEMmEds HmMIgmndy MINmado hogstboo.
Bam@s smdsmmds 0dabs, MM dydmo Rogofmgds dgbmog
®IMmdn?
°
@)
0O
O OO
OO0 0O
O OO O O
O O O O OO

Uuuuuuuu

1 2 3 4 5 6 7

0dmblibs. MmamM(y 3bgoogo oMbLdmMAL 3ofggm o dg-7
M 3Imgddn d@mmob Rogemobol gMmsegMmon ads (§Msgd&ma-
s), 3gmeg o 39-6 EINmgddo dnMonl hogaMmmbal — 543b-93L0
3%, 39Lo3g s Igbyog EMBYmddn — MbyNIgE-nbym3gGo ades
5, dmmmb, dgmobyg mm3nmdo — dnMonb hogomobol 20 gve.
39960l (dgmgagdab) bEmo Momegbmdss 1+6+15+20+15+6+1=64
5 y3qgms 9b dgmgan mebsdMaw Imbammmbamos, 30bs0s6 mo-

Mo GMogd@mManl gogmobal ddma gobazal 943Lb @oxe-
bgdob Mammgddy s ymzgmo ogsbgdabal ob Mobsdama smds-

0©M650000 38 ANMEY0d db Jofx3bng, ob Jof(36603. obsds-
omdosmnmo 64 dg9ansb dgbmog MInmdo hogomobaly byl
mBymdL 15 dgga0 s, dgLsdsdabo, Ladgdbo sendsmmds 0gbgds
15/64.

94393mm Imyzoboemas gomBmbol ogabyg Mamemgdal 7 Gogals
dgdmbzq39do moomgnm 3mDoz00dg dGmal Bmbggocal dgbod-
mm abgdob Mosbzo.
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o i 6 o
B I o

898910010 12. 303m3mo sedommds 0dabs, Hm3 66 gdo dq3-
obgg3000 Roggdymo BgMGoma o6 Rogammgds 538 6 gdn Robo-

e Bgbog® 9d3bagobyedo.

38mblibs. ogmdzom, Mm3d 6@l Mowambns R, 35306 dobdo Rs-
bobyymo bgbogfo 9d3b3nobgonlb g39Moai 046gds R. 83sbmsbs-
39, BGob goGomdos |S = R?, beamm 9430 390bg00b goBormdos

- sl % R?. 5308m3 Lodogdgmo smdsmmds 046930
233

o ISl-lsl ™" R 3B,

sl «R? 0 2n T

808020010 13. AB dmbogzgondy dgdmbggzom sgwgdgb Lod
bgm&omb C, D s M . 303m3mo smdsmmds adobs, dm3d AC, AD

5> AM 3mbs 3390900bogsb dgodmgds soamb Ladgmombgon?

53mblbs. 5360dbma AC, AD s AM 3mbs 3390900l bogcdg-
900 39L53530bo© X, Y S Z-0m S gmgdgb@oMm bmdaomagdsms
LogMEob Gmemda gsbzobormma bogMzolb byMEomoms LodMagmy
3MmE0bs@gdom (X,Y,2). og Rogmgmom, Gm3d AB dmbs3390mab
bog®dg Gmeos 1-0b, 35d0b gmgdgb@ o bromdnmgdoms bog-
(39 046905 39930, H@M3mals Bodms ghma. 83539 Mmb, bgmdga-

bymd gmg3gb@omym bomdomgdsms bodMogmyg (Ladgmmbgool
34bomdals Mobobdow) dgwagds 0d BgMmBomgdabogsb, MHmIgmos
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3MMM0bs8)gdabomgals bOmmegds bed Fnmbgonlb YEGmEmdgda: X
+Yy>Z7,X+2>Y,Yy+7Z>X gb 30 bom3mowggbl 3mndol 6o6omb,
Mm3dgemo(g ImgMomos Jobasb bLodMmGyggdoo: X +y =2, X+z=Y,
y +Z=X(gmhom-g60m0 53 bLodMGYowsb, 39Mdmm X +y = Z, dmygsobo-
0o bobobdy).

<y

e

ymggmo sbgomo bLodMEyYyg 399d0sb Imgmal doMsdnasl, MmA-
mob dmnmmds Gmmos

Wk
N

1=1.
6

dgbodsdobaw, 3mdab @omRgboema boboemal dmsyemmds 0gbgds

|v]=1-3- :1.
2

ol

530@md Lodngdgmn seNdomMbY, 356356 B)gdals mobsobdow, ngbgds

I
V] 2 2
8980LN0NN0 14 (JIb3IRwHNL 98MMBO6Y). mn oo dgmsbbdws
3503390 daomdy dgb3gb 9Mm3sbgol 6-0sb 7 Losmsdwy.
oomgnemo dsmasbo dgdmbgggom dmdgb@do dnol emdmem
sanmasl s dgmegl gmmegds 20 bymnb 356domDy (dgdwga 30
doob). 303m3mo sdsmmds 0dobs, Hm3 gL 30Mgdo dgbz009d056
9600 dobgob.
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0dmblibs. 53060dbmm, gMom-gfmma 30Mol ©scddymm sanmdy
d0bgmob EMm 64 X-00, bmemm dgmeg ool — 64 Y -0o (Lo
X ©5 Y 303mbobymos bosmygddn). gmgdgb@otyym bomdnmagdoms
Log@MEob Gmedn dgggzadmas sgommo 03 (X,Y) bgM@omms Lod-
o3y, MmImgdoz 9M0gmm3geb 3350M0@L g3990360l. 53 dg3-
0bgg35d0 hggbmgol Lonb@gMmgbm bgMEomms (bgmdgdbymd gemg-
396@ oM mm bomdnmagdoms) LodMogmyg 0dbgds gMogmmmasbo
3390M580b 03 Bg@MGomms LodMsogmyg, AMIgmms 3MMEMEbsEgdo
96108569000 b0g856 @IAME gm0 oMo dg@ gl 20/60=1/3-00:

A={(XY);| x-yK1/3nQ.

30000006 |X-Yy[<1/3<-1/3<y-x<1/3&x-1/3<y<x+1/3.
530@m3 sgoemn goboggdns, Mmd A badMagmyg 0g6gds gMmge-
mm35b0 330080l dogboo Yy =Xx-1/3 o y=x+1/3 6Mggqdl
dmEob Img(399mo aog8gMsgdamo 56y (Bms 0<Xx<1/3, 3530b
y =X—-1/3 b6 gob bosgmoem d3gos LodmaMob Gmemda 0dbgds X
mg@do: 0<y<x+1/3, bomm GmEs 2/3<X<1, 35306 Do
Lodmazama y=X+1/3 bEAgob boigzmem 0dbgds y=1 begg:
x-1/3<y<1).

5308 ™3 Ladngdgma dSemdsmmds ngbgde:

|Al _1-2/3-2/3 5
Q| 1 9

P(A) =
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01030 I
dM33060&M&A0J30

JM83N658M&NI0L ILIFIEBEISEN. sndsomdol sdm(30bg00l
5dmbLbal 30M39mm 9893y, 1398 gLb dgdmbggzeda, suz0mgdgemns
3560bodEM3MML MmamE (3 gmgdgb@ofmm bomdomgdsms bog-
M30L gmgdgb@os LogMom Momegbmds, nbg o3s oY) 0d brmdo-
m9d0b bgmdg3bymd gmgdgb@ommm bmdomgdoms Mommabmds.
996Gty bomdomgdoms Momegbmdal godmbsmgmage do-
Bomo 3M0b(303L Bocdmawagbl 9.b. bod@mogemal 3G0b3030, HmA-
mob 3g6dm dgdmbggzedo sbg gm@m3nmommgds:

bodMagmol 3M0b(3030: 0y gMomn mdogd@ob dgmhigzs dgbod-
mgdgmos N bbgowsbbzs gbom s mnomgmmo o3 dgbadmgdmm-
d0bomgzob dgmeg mdogd@ob dgmhgss dgbadmgdgmos M bbgosb-
b3gs abom, 35306 MdogdB s byzomolb dgmhgzs dgbadmgdgmas NM
Lbgoabbgs aboo.

dog0m0ma, o) 353535(3L 043L 4 39Moban o 2 3ogs 30, dodnb
59 3085 30(3L d43L 39Mabaobs s 3ngszolb dg@mhgzol 4x2=8 dg-
Lodmgdemmds (3oM0sb@n).

6o3Mo3mal 361063030056 s 353300600 bdnMow babamagdemms
bol dbaogbo (bobgdMo) LosgMadals 564y EgbMmMamsdals gsdmygby-
do.

dogomoms, @gbMmmamsdom gsdmbsbyyma dmbg@nlb mfggm
580980b dgbadadnbo dgmgagdol bLodMsegmg 0dbgds:
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80800010 1. (5dgbo  gmgdgb@ommmn bomdnmgdabogsb
dgagds gmgdgb@omm bomdamgdoms bogf(zg o9 ™G 358s-
ngmb gogm@gdo gfoxgM?

0dmblLbs. 30M3gmo 3odsmgmoa dgadmgds @og(3gb 6 Bobbago-
b 6930Ld0gMdg (3odomgmol bgws bobboadg dgodmgds gsdmbh-
bogl 6930L30gMo 6 Mo(3b300s06). 53 6 dgbodmgdmmdnwsb moomm-
gnabsmgol dgmeg godomgmo dgndmgds ©og39L 6 Bobbogowasb
6930b3d0gMdg. 930&m3 653Mo3mal 3M0b(3930L MBS MM 3o-

domngmo dgodmgds sog(3qL 66 =36 LbgoobbgobsoMowm.

8980LN01N 2. 35300900 9o dmbg@olb s gogmmgdo gfo bo-
0535dm 308smgmb. 3mbg@o dgndmgds @og(3qL 2 bLbgowabbgs dbo-
9bg. 98 mEo 3gLadmgdmmdnEsb Mmommgnmabsmazal 3odsmgmao
dgodmgds ©g(39L 6 Bobbogowsab 69d0bdngcmdyg. dgbedsdnbag, dg-
bodmm d9gams BomEgbmds, badMmagmal 3Mnb(3030L mobsbds,
0gbgds 2:6=12. gb dggagdos: g1,a2,...,36,01,0b2,...,b6.

8980LN01N 3. 3530900 3mbg@ol ghmg g, 09 Imzos 3qgMdo
39mMgRIM 39309000 3mbgBsb, brmem Babssmdwga d53mbizgsedo
308mM 00 bomsdadm 3035mgmb. 3mbg@s 0bgs dgndmgds @og(39L
2 Lbgomabbgs 3boMgdg s 3odsmgeman sbgzg dgodmgds ogzgb 6
Bobbognsb 6530LdngFMdg, BoaMod of aME3gmas bodFmsozal
36063030l doMomswn dmmbmgbs, Hm3 doM3gmo 3Gm39McMab
moomgneo dgeganbsmzol 3gmeg 3Gm3gnmol dgogams Mom-

©qbmds aymb w33mgmo (54 30 dgmeg d9dmbzgzedn ggog3l ob 2
ob 6 d9badmgdemmds). 8d0@m3 Jgbodmm dgogams Momegbmdal

bodMagmal 3M0bzn300m godmmgms o6 0dbgds domgdyma. bLo-

bodgzomyda og dmbommebgmaoas 8 bbgoabbgs dgmgan. gb dg0g-
a9d00: g, ab, b1, b2, ... ,bé.

bod@ogmol 3M0b(3030 dDmasmo sbg yosmodwgds: oy gMomo
md0ggd@&ob dgmhgze dgbodmgdgmos N, Lbgswasbbzs gbom, mommy-
@0 83 dgbadmgdemmdabomgnl dgmeg mdagd@ ol dgchgzs dgbed-
mgdgmos N, bLbgswsbbzs abom, moommgmmobsmzgol doMggmo
mo dgbodmgdmmdowsb dgbodg mdngd@ab dgmfggs dgbodmgdg-
mos Ny bbgoabbgs aboom ©s o. 3., 35d0b mdogd@os M-gmolb (53
3Mm(390960b M-%96 as3gmE9d0b dgmgasw) dgmhgss dgbademy-
dgmos N -N, ---N, Lbgosabbgs gboo.
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89800010 4. 5360560ls, dm@gMdmmeal, @gbgmEGabs s byg-
bobogeb dgdmastin Loyddal edgbo LbgoLB3s 3M3dnbsznnl
dgmogobgds dgadmgds 3mdbdomgdmabomgals, o) dg@figgs dgbod-
m939m0d 4 bobgmdal b360sbabs, 3 Lobgmdal 4@ gMdMmmabs, 5
Lobgmdal aLgME0Ls s 4 bobgmdal b3960bogs6?

0dmbLbs. Loy ddal yzgms dgbodmm 306056@gdal Momegbm-
35, 633Magmoal 3Mb(3030L mobobdo, 0gbgds: 4-3-5-4 =240.

89891010 5. G360 mmbo Lodbndbs Mosbz0lb dgwagbs dg-
admgds (30860960b 1, 2,5, 6 @5 9 Lodysmgdom, o9 Mocmmgmmo
85dmyqbgdmemo 046g9ds Ibmemme 9o ggc?

0dmblibos. 30600006 Mozbgo Mbos ngmlb embo, R3gb azodsl
960gmob 56Rgzalb dbmemme Mo dgbodmgdemmds. mommgmmo

sehgmmo gMogmobsmgol 396 dgagzodmos sbgnmgdol (505360
dggomfomor 4 Lbgobbgs aboom s ghmgmmabs ©s sbgymal om-

hgg0L 3939 smabgnmagdol (3083600 dgazodmos dgzomhoma 3
bbzoabbgs aboom. dgbodsdabow, Bs3Magmal 3M0b3030L Mobab-
dow, h396 dgazodmos dgzoanbmo 2-4-3=24 Lbgobbgs mybo
Lo3dbndbs Mo(zbgo.

8505b5(33mgdg00 — gb oGal 33dabs(309d0, Hm3magdo(y -

890600 3m(3939mo 1 gmgdgbBosba LodMagmal yggmes n gemg-
396@0bogob o gMmodobgmnbogsb aobblgogmgds dbmmme gemg-

396@&9gd0b gobemogqgdals Gogom. Py = nl.
53(*)25360 — gb 860l m gmgdgb@noba 3m3dabs(sngda n gobbbge-

3900 gmgdgb@ ol dgmbg LndMogmnsb, MmMdgmgdo(s gMm3sby-
00bogob aobbbgogmgds o6 gmgdgb@gdol dgdoagbrmmdoom ob

993968 960b gobmoggdal Mogom. A" =nl/(n—m)! .

RNBRJS9d0 — gL ofal 1 gemgdg6@Gnsbo LodMagmanl ommogg-
dgmo m gmgdgb@nsobo g3gbodmagmaggda. C) =nl(mi(n—m)!). sbo-
0o, mmd C'-m!=A".

8989100110 6. H53gan 3obbbgseggdamn Los dgndmads dgoag-
Bog 0469L 7 Lbgomabbgs ggomabogsb?

38mblbs. P, =7!=1-2-3-4.5.6-7=5040.

898910010 7. 3gx0dc9dsdo dmbsboemg 10 LM ELI9bnwsb
30639 bLod saomdy aobyyma bLodn asdsMmx39d4mo Modb
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Lbgoabbgobonfoe dgndmygds gobmogbogl obagnmomgdgem
3396 (3bmdg3v9?
58mblibs. 4 =10-9-8=720.

898021010 8. Igbotifigs dgx0dgdsdn dmbsbomgmdl 10 swe-
300b0, MM3gmmogob gobsmdo aoal bada. gabsmoli@gdol Mad-

b0 gobbbgozgdnmo badgmma dgadmgds godmgmabogl?
33mbLbs. B0obs dogomomabogsb asbbbgsggdom, o gobsmab-
&gd0b Mgl (omoggdsl) 360d369mmds oMo o43L. 8do@md 30y4g-

6960 ¥MBgdal Bm@OImob:
3 _2_8-9-10
o 6
8580200710 9. 20 msGotnnlb domgmnsb 0mgdgb m@L | s I
30Dl dmboggdo. Modwgbo gmgdgb@nbogsb dgwmagds gemgdqgb-
&M bomdnmagdsms bogMsg?
3dmblibs. gemgdgb@ oMy bomdnmgdsms Momegbmds ngbgds

=120.

| |
AL = 200 _ 200 519 380.
(20-2)! 18

80802010 10. 03mzgom 6 goblbbgoggdymz0xMosbo @ gmgam-
bol Bm3Mgdol Mozbgn, oy 6gdnbdogH sanmsl dgbedmgdgmos
9696mb bgdobdngMo (305360.

58mbLbs. A} =10-9-8-7-6-5=151200.

89800010 11. Go8gbo gboo dgndmygds Jomgds@ogmtn bo-
Bdmgomgdal 3Mgdowoydal & bgzMowsb bodo Lbgosbbgs dma-
bLgbgdmal dg@hgzs Fomgdod oz Lodmgaswmgdol Lado Lbge-
obbgs dgbgzgmabomgal?

8dmblibs. 3m3dabsznoms Mommgbmds ngbgdos

, 5 5l
=2 _->_5.4.3=60.
A (5-3)! 2

898910010 12. 303mzmo 4 LBMIbEOLS s 3 3Mmygbmmabe-

256 dgggbor dgbodmm gmagasznoms Momogbmds, Mmdgmos
d93909 2 bbb s 1 3Bmeygbmmabogsb.
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0dmblbs. 4 LEMLYbEGNLORSL 2 bEYwgbG b dgMhggs dgodmgds
|
Ci= % =6 Lbgowsbobgs abom, boemm 3 3Gmggbm@abogeb 1
|
36mggbmmolb 396MRgzs dg0dmgds Cj :%:3 bbgoabbgobson-

0. dgbodadabow, 633Msgmal 360b(3030L Mobobdo, yggms dg-
Lodemm gmgas30oms Bomgbmds 0gbgds CZ -C; =6-3=18.

8980EN010 13. 653009665065 dgodmagds 6 Labgmdab sboggmdg-
dgmo BogmngMgds ogsmogmo amdgm mammdy, o (36mdamos,
M3 mG0 Jomgsbo o6 dgadmagds 9McBsbgmol a39Mm0m snEmb?

33mbLbs. 53 M0 sLaggmdqgdgma BogmogMgdowsb gem-gfmmo
29(0830M (35(139 5 bsMR60 b ogsmogmm mefmmby. 5 bag-
0096 560L mammbg omseggds dgbadmgdgmoas 5! bbgoabbgsebson-
0. 3oL dg3ga Mo(3 MIMMDBY omeggdmons 5 bogmagcgds 3g-
6 60300096535 396 oYL ghm-gfMmn Fomgaabol 439M by (613
doMx,3603 o o3 JoM(36603), Igbodsdobew, 3g-6 bogmnggds dg-
Lodmgdgmos soEmb 6-2=4 swgomasb. 5308m3, bsd@Mazmol
3606(3030b 0565635, Ladogdgmn Momegbmds ngbgds: x4 = 480.

8080010 14. 35bz0bommo oo gymbmgsbn MxN  dowg,
Gmdgmo dgoagds 1x1 335065@89d0bsasb. 303mgmo 0d wdm3-
mgbo gbgd0b Mom@gbmds, Mm3gmbes dngysgsto dom3bgbs J39-
o Jobowsb — BgM@nmawsb (0,0) domyggqbs Dyws 3mobgdo —
BgdGoemdo (M, n).

3dmbbbs. mdmzmgbo gads (0,0) bg@Eomosb (m,n) by@MEomdo
dggqgds M+N 3mbs3zgonbogsb, Mmdgmms dmEnl M 3mE0Ddmb-
Gomm@ns s N 3o 390 03omMo. Lbgoabbzs abs aoblbbzegmgds
dbmmme 3mEH0dMbEG oMo s 39M@03omMn 3mbs 339mgdals dm-
bo(33mgmbab Mogoom. 8308 m3 3 dgdob LogMmm Momogbmds gdmbgg-
35 03 39bodmgdmmdgdolb Mommgbmdsal M3 bbsntosz M+ N dm-
bo33900bogob dgbadmadgemons dgombigh M 3mEadmb@smyma dm-
6o33900, o6y C. . (3godemgdmes g56339b0ms 08 dgbademgdmmdg-
3ol MomeEgbmds Madgbbsntoma(s dgbadmgdgmos dgomhgl sts M
3mM0bMbBommEn Imbs 33900, 5edgm N 396 E035mM0 8mbs339-

00 3, 35306, 3sLybo ndbgdmms C ., . s80m, God@mdcngswm, agm-
39& oo 89359mbdgom, ®md C1.. =C;

m+n m+n )'
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BAommo gosbazzmgdgdo — a3omebo(33tmgdgdL, MHmIgmba(s
s®a0mo 593L Mmdngd@gdol BMgbaMDdy omsoggdobal (3obmsglby-
30bab) gbmegds BEammo gomobs(33mgdgda. asbbbgseggdoo LEmE
bodDy gobmogqgdobogeb, mMo BMoymo aoobs(zzmgds o6 am-
3mds a5bbbzozgdnmom o9y o3 aobmoggdgddo bgdobdngMo mdo-
9980b babs s 3mIwy3bm mdogd@gda 33mgmoas (88 dgdmbggge-
do o/ 5MbgdmdL 30Mzgmo s dmmm 3mDa(309). dogdmomam, 0y
mobo 50530560 08353dmdL dGaxl, Rggb o g303L sbomon gowe-

bo(33tmgds 030 Yzgmob 35000350 a0mMgdm gfomo (56 Modgbndy)
3mbaz000 bosmab abFolb dmdEomdol (6 3mdEomdals Lobobsse-

dgam) dodoomgdoo. o) gobgabomasgm g 3mmsdsadglb go -
LoFgdMm 3MmDba30bg S SBIMAYD LodL agsmaaqgdo 6gdabdng-
o, Moz dgbodmgdgmaos 3! LbgosobbgobsnMow, @ognbobogm,
Mmd dMogolb ®edsdol MmbL dgbadmgdgmns dmmsdadggdols 3!
LbgobabgobonMow gobmaglbgds.

LadsBmmosbos dgdgan dmaswmo gdanmgds: bOgBomdg aob-
moaggdmeo N 35bbbgsggdmmo mdogd@ob yzgms dgbodmm gowme-
bo(33mgdoms Mom@gbmds memns (N—1)!-o0b.

356 530bs, 09y LEMMbsDMZeb N sgombdg M(M<N) mdo-
94&0b a06003Lgds dgademgds Al Lbzssbbgebsnmom, bMHBamM Dy
25bmaaqdmm N sanmdg M mdogd@ob gobmagbgds dgodmagds
9339 Ay /m Lbgowsbbzobsomow (39Mdm dgdmbggzedn, Gm(zs
N=m gmgdnmmdom bMHoym go@obso(33mgdoms Momogbmdal:

Al In=P /n=n!/n=(n-1)!).

040807 h396 goboemsgooo gobbbzozqgdmmoa mdagd@gdol gowo-
bo(33mgdgdbL. (3b00s, BMI M9 930090 MOIMNbYYMn 563560l Lo
sbmb a, b ©s €-b, 35306 Bomn gobbbgeggdmemon 3! = 6 gowoba(s-
3mgdgdos: abc; ach; bac; bca; cab oo cba. 853603, oy 53 Lodo
sbmEsb b s C gMmo s ngnzg X-0s, 85306 axXX; axx; Xax; Xxa;
Xax; XXa goobs(33mgdgdomsb, dbmemme 3 (axX; Xax; Xxa) obg-
3o 306bbgozqdmema (3=31/2!). moba aobbbgegzgdmmo a, b, ¢ s d
sbmb d93mbzg3dn 30056533 gdoms Momegbmdss 4! = 24, dog-
03 o) dogomoma, a=b=Xpsc=d =Yy, 35306 R396 a39467d>
dbmemme  41/(2! 21)=6 asbbbzoggdmmo gomobo(3gemgds:  XXYY;
XYXYy; YXXY; YYXX; XyyX o YyXyX.
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LodoGmmosbos dgdwgan dmasmo gdnmgds: 0d N mdogd@Gob
a56bb35390mm goobo(33mgdoms Momegbmds, Gm3gmms dmMab
N, 3063gmo Godoboss, N, 3gmMg &od0bss, o o. 3. N, — K-no
&030bos, dgoaqbl:

11,..1
ST n—llnzr;.!.-nk! (3bo©0s, ®mM3 an =P,).
doMoms(3, MmamM(3 (36mdomos, yzgms mdogd@on gobbbges-
390990 MH™M3 ymgaemoym, 35d0b 4osbs(33emgdoms Mommgbmds ng-
6gdmes Nl doo dmMal gfmo s 0gngg 0gbgds: 1) ob N-gumgdo,
Loz 3Mb3MgGmm N, sanmslb asb 3oMzgmo §odalb mdogd@gdo
@ domo MomeEgbmds dgoaqbl N !-b; 2) ob N-gymagdo, Lowss

3Mb3M9@mm N, sgomasl asl dgmeg ndob mdngd@gdo s domo
Momgbmds dgoaqbl N,!-b; s o. 3. k) ob N-gmmgdo, bawsg 3mb-

39 N, sanmsl aslb k—*gjﬁm 8030l mdogd@&gdn s doomn

omEgbmds dgoaqbl N, !-b. dgbodsdabsow, Ladngdgm Gomegbm-
3oL dogomgdom, oy N-b 393933069000 N IN,L-N 1-%96, 56 asb-
I
Lb3o390Mm 35056533 gdoms MomEgbmds 0d6360ﬁ .
In,k-n, !
8980EN01N 15, H530gbsnfsm dgadmagds 3 bomgmo, 4 yzomgmo
5 2 R0 bsmm@s 35635m336mo Lssbabeam Badzal bob g86s-
0909 Imbymdommdadn, Mmdgmba(z bom@ob 9 dywg goshbos?

33mblLbs. 4obbbgozgdmm asbmoggdoms Momegbmds ngbgds

q
a2 =1260.

LodMagmol oymegs — Dmax g LagoMm brgds N mdogd@obe-
256 d9d3mgomn LodMsgemol M J39L0dMsgmgE dgbadmm oymags-
»d M0(3630L god8mmgms. LodMmsegmal oymazs gbmegds 3ol 439-
LodMogmagoms abgom gOEMMOMamMdsl, MMIgmms g4ogMmnsbgds dm-
(399990 LodMsegemal Gmmos, bmemm 83 J3q9LbodMogmgms bgdabdo-
960 Byzomo qomogbgdswons. mommgmem 439bndMegmgdn gemqdgb-
&0 amoggdsl 36033b6gmmds oMo 543L. gobgabormmo bLodMagmy
{5, 9, 0, m, ¢}. 53 LEBMOZ3mMl Fgbodmm oygmMBgdo M baboma,
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Mmdgmmogsb 3oMggmn dga3o3L 4 gmgdgb@l, bememm 3gmemg 3o 1
0939680, 3g8gand: {(2, 9, 0, @), ()} (9, 0, @, 1), (9)}5 (0, o,
0,9), (9)}; U, 9, 0, 9), (0)}5 {(5, 9, 0, 9), (M)} sbgo @ogmPsmo Ho-
mg6mds 506036935 Loddmemmmo C*, Lowss Jagws Gobgo 5
330h39690L @obogman LodMagmoal gmgdgbGms domnsb Momeg-
Bmdal, bnmm g Mozbggdo 4 s 1 30 o) M3wgb gemgdgb@nsb
J39b0dMsgmggdo 39mao dm (393 bLodMagmal, sdsbmabagy:
a1 =i=5
> opn
LadsBmmosbos 3g3gan bmgowo admmads: N Mmdogd@nbo-
256 3d9dmgocn bodMogmmol M boboemow dgbadmm oymagsms Mo-
M bmds, Los(y 30Mggma babowmo dgaseglb N, gemgdgb@L, dgmeg
bobomo — N, gmgdgb@L s 5. 3. M-y&a 6sBoemo — N, gmg396@L

.....

5006036935 Loddmenman C*"

n!

NNy, Ny
G Cnint 1’
n!n,%--n_!

Loai Ny +N, +---4+Nn, =N (3boos, H™I
|

A =mﬂ3?)-

domoma(z, dmgzoggo ddmgabsnfo: sgnmma bgdobdng-
0 N-9mgdgb@osbo Jgqbodmogmg N-gmgdgb@osbo LndmMagmal
(080L g539093s dgodmads Cr Lbgowsbbgsbsnmowm), omBRgboemo
N—n; md0gd@nwsb s3nmmm N, -gmgdgb@onsbn bodmsegmyg (530l go-
3099%s 3gadmgds Ci2 bbgoabbgaboomsom) o o. 3. bodmagmol

36063030l Mobsb3o@ N Mdogd@obogsb dgdastn LodMogmol M
baBoemom dgbadmm agmazams bagMomm Mammgbmds ngbgde:

nl (n—n)!
C:l .C:irh .C:i”f”z .“C:an“"”m—l - | |' | : |
n!(n—-n)! nI(n—n, —n,)!

(n—n, —n,)! (n-n —--—n_ ) nl
n!(n-n,-n,-n)! n !(n-n —--—n) nlint.n 1
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898010010 16. 75396 Lbgosbbgsbsafaon dgndmagds gowabe-
Bomegl 7 35360960 LabEMIOML gem 3 sanmnsbbs s m& 2
530056 bm3FMqddn?

0dmblibs. dgbodmm gosbsbamgdoms Momgbmds 0gbgds
|
;7”2‘2 = " =210.
312121
3mmobmdosm@o gmEmIgms. 4obznbommma 53m (3565 0dals dgbo-
bad orm Bmam®m 353bLbbsor gMRbamagdo (8, +a, +---+a,)" gsdmboby-
g00L godmbomgmagmag. badsMomnsbns dgdgan mobsgsmmmds:

(& +a, ++a)" =), ——afay .
rk-r!

[20,...5 20, +--+F =n

598303995,  go005353Md3mmm  N-xaM  md30L  magdy
(8 +a,+-+a). 8590b Bngomgdm k" dgbLozmgdlb d,d,---d, Lobal,
boa(z Mmommgnmo mebsdsdmogeman d;, i=12,.,n, s6ab 56 a,, 56
a,, s 5. 3. 56 a,. o360dbmo B(I,..., I,) Loddmemmo 03 dgbs 3-
906900b gMommdmamds, bowsy 8, 336307dd MdbsdsdMogmaw I, -
®JO, 8, — IL-xge , ©s . . &, — I, -}gM. 35Ldg9805, HMI sbgon

rk-r!

gL 3698930l MomEabmds Gmmos -ab, beemm dgbodsdabo

|
dgbogmgdo 30 0gbgds n at-ay.
rt-r!

RYBEJOd 356dgmegdgdom. N gmgdgbGowsb M gmqdgb@nsbn
ROBEIOG00 a56dgmegdgdoo gbmmgds xamRgdlb, MGmImgdocs
dgagds M gmgdgb@nbogsb, MmIgmmegsb mommgmmoa gmgdgb-
&0 30931036935 gMo-gMomb N §0300sb.

dogomomo, bodn a, b s € 9mgdgb@nwsb dgbadmadgmos dg-
350030bmo dgdmgan mMgmgdgbBnsbo xnRgdgda 3obdgmgdgdao:

aa, bb, cc, ab, ac, bc.

Ladsmnmosbos dgdgan MbsGIMEMS: Momgbmds N gemg-
d96@0@sob M gmgdgb@nobo xB©gdgdal gobdgmmgdgdom Gm-
WO f =C"t =P

n+m-1 n+m-1-
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dotomas(y, 6960Lb3ngMo xRS (3ombobow gobabobmgmgds
0¢) dogmmomgdo ymggmo N Godowsb Madwgbn gemgdgb@o dgwool
dobdo. ymzggm xYBYdsL dgznbodsdmm bymgdabs s gMmgdob
30300g3Mmds, Mm3gema(z dgoagbomos 3gdwmagan bgboo: sgbgmm
9600 3dsbgmnlb g39Mmnm 0dgbo gMmosbo Modwgbo 3ofggmo @o-
30b gmg8gb@o dgeob xBRY6>d0, 398rga ©o3byHM® bymo ©o
3ol d930ga 03gbo gMmnsbn Medwgbo dgmeg &odol gemgdgbdo(s

dg0b gBgdsdo ©s o. 3. (Bogsmoms, D300 ebgMom xueg-
©96908L Lado SLMEEL ME-MEs dggbedsdgds dgbsedsdnbaw dgdwy-

a0 dodwagzcmmdgda: 1100,0110,0011, 1010, 1001, 0101). sdGngew,
N 9mgdgb@nsb 6gdobdng® M gmgdgb@nsb xyB©gdsl asbdgm-
969800 399bodsedgds 30dmg3tmds dgmagboma M gMmosbobe-
356 5 N—=1 bymabogob s 3oMngom. dgbodsdabsw, Ladngdgmo
Gomogbmds 06gds ' =C  =C!

nem- = “nimt-

80800010 17. 303mzmm MomEgbmds 0d 3oMnsb@gdol od-
©qbbsnMowsy dgbadmgdgemoas sdmgambomo 3 sbm dgdwgan 12
sbmEsb: o, 9,9, 8,3,3, 8 & & 3 G G-

33mblbs. 53 dgdmbzgzedn N=4, bmemm M=3. 5308m3 badag-
dgmo GomEgbmds ngbgds: f43 = Cf+3—1 =20.

898910010 18, ©m3obmb 3960 dgadmgds gobgoboemmor Gm-
amy 7 Gobgowsb (0, 1,2, 3, 4, 5, 6) m& gmgdgb@nsbo xua0g-
3900 3563gmMgdgd00m. 530@m3 53 RYRIOsMS MOM©gbmds ool
f?2=C2?,, =28.

89800010 19, 303mzmm X +X, +---+ X, =N g5b&mmgdals
dogem sM9MYMP00o 53mMbablbms Mommgbmds.

0dmblibs. oMLydMEL MMMogEm(3ombobs dgbodsdaobmds oe-
60dbymo 3obBmmgdol 8dmbBobLbgdbs o N gmgdgb@owsb M

99396@ 056 35639mMgdgd00 KNRydgdL ImEab. oy azod3b
dogmo  sMomafmymagomn  Mosbzgdo X, Xy, X, 0bgomo, Gmd

X, +X, +---+ X, =N, 35306 Jdgaz0dmos dgzo0a0bmo M gmgdgb-
800b0 ®xYB©gds, 9] 9300g0m 3oMzgmo Godab X, gemgdgb@l, dg-
Mg §odab — X, gmgdgb@l, s . d. 3g-M @ndob — X, gemgdgb@L.
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3otodom, 09 33946905 N gmgdgbBosb M gmgdgb@nobo xnes-
©905, hg9b dogomgdm Lobyobo gobGmmgdal goM3zzgmm o3m-
babLBL g sGeamymynm Mo3b398d0. 5308 M3 Jmgm SO SM-

ymgzz00 33mbablbbms Mompgbmds ndbqds f" =C

n+m-1°

898021010 20. 303mgma M (33mo00b Lot mmmm BoMdmgds-
©0 g964(300L N Mogol aobbbgseggdym 396 dm bomdmgdymos Mo-
mEgbmds. N Mogal 39Mdm boMImgdymo sMds M 0gdMmo
35606M3mgdol Gogdyg, ob ©sdmznEgdamos dbmmme 03sdg oy
53009bxgM brgds 3obsMImgds mnmmgymo (33monm. 5do@md
N Gogob aobbbgseggdym 390dm Bomdmgdmmms Mommgbmds Gm-

mo 0gbgds X, +X, +--+ X, =N gobGmmgdal dmgem sMomemym-
R0 53mbsbLbms Momwgbmdal, 9. 0. f" =C L.

n+m-1~0

08001300 308MOIZE’ JI18800608(1w1Jb 8S3(1II6IS10].

2dm@Bg3s edMMbgdom: 5JL39EM0896@G0b ymggm badox by y«-
00056 530 gdyymo dmMmo 11356 dMbrgds. 3ogmabbdmo, Gmd
dMomngdo gosbmdmamaos Mozbzgdom 1-0sb M -3g. aobobbge-
39096 M0 &30l sdm@mRg390L: ameggdmmo sdmmhgzgdo s -

Mg g0gmo 38mMAgggda. omoggdmmo s3mMAgzgda smabadbgds
Loddmmmmo (a,...,a,), bmmm Esymsggdgmo s3mMAgzgdo —

[ @]
3dMMbgdom omagqgdgmo sdm@mRgz0l dgdmbzgzado:

Q={w:w=(a,.,a,):a =1...M;i=L.,nN} oo |Q=M".
M3 90gmo sdm@Bg3950 dMMbgdoom:
Q={w:w=[a,.,a]:a=L.,M;i=L..,n}, |Q=Cy. ;.

2dm®Rg3s 80MNbgdol gofMgdg: N< M s s3mmgdamo due-
00 99356 o6 dOMbgds.
33MMbgdol goMgdg omaggdemo dgMhigzol dgdmbgzggado:

Q={w:w=(a,..,3,):a, #a, k=8 =1.,M;i=L1..,n} oo |Q=A;.
OMmda9dgmo dmMBg39d0 sdMMbgdal 306 gdy:
Q={w:w=[a,..,3,]:8, #a,k=l;a =1..,M;i=L..,n}, |Q=Cy,
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Lodmenmm biyMomo sbigmos:

Rmo3gdYrn | @oYrRoggdgemo
356 9bgdom M" ch.
03969300 30693y Al ct

dogomoma, M =3 o N=2-0b dgdmbgggedn dgbodadals
9m9396@ oM bmamgdsms bogfM(3990L 946gdsm dgdgan bo-

bob LMY JEHgda:

dgehggo
(1,1)(1,2)(1,3)
(2,1)(2,2)(2,3) E’;}E’gs’g ©33Mmbgdom
(3,1)(3,2)(3,3) S
(1,2)(1,3)
(2,1)(2.3) [1,2] [1,3] [2.3] Qi”?sa&’b
(3,1)(3,.2) 89090
9M0MOmMomMds | oMM | OO 4dgMmO
bLOBOHXNAIS(X:

l. 396LDg, MMIgmdg s bLodo gangs, RanBbgmgdol sMhRgzal
yzgmos dgbodmm 3560568)980b Moagbgos N, =N, -Ny, Losi N — i -
M6 %a39%90 LEMEI6EJOL Momgbmdss (304gbgdo BadMagmal
360b(303L);

Il. Gomegbmds yzgmes dgbodmm 3m3dabszngdols, Modwgbbso-
od(3 dgbadmgdgmos M dgdogmo gobgomsgbmo N gogmbdo,
&mmos N (omogqgdemo 53mMBg3s edGMnbgdom, bowsis M =n
©> N=m);

. M 5@©580560L odsgdal Emgqdol yzgms dgbedmm 3ma-
3065300 (03 3oMbdom, HMI Mmomgmo sdsgdol pmyg oMol MHm-
39m0dg 365 @@o©sb) @memoas 365" (Logdg g30d3L 9dm@mBg35Lmsb
3dMMbgdom, 5dsbmabagg s3mMmAgzgdn nogmgds amaagdmmaw,
bosz M =365 s N=m);

IV. ®ommgbmds yzgmes dgbadmm 3m3dabs3ngdol, Gedgbbsn-
003 gbodmgdgmos & dy@mma gobzsmaegbmm 5 ymmdo, abg H™3
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960 ggndo oymb gmo dg@moa, Gmenos B! (6sdMsgmoal 3Mnb(s0-
30b 0obobdow);

V. 36680930b Mom@gbmds, Mm3gma(s ¢brs dgoaglb N 3mbe-
Bomabogeb dgdmast bfomem Logs@ozm @umbomdo &mmos
C2=n(n—-1)/2 (omoagdgmo s3mmRg30 odMbgdol astqdy).

80800010 21. 5L Yol smdsmmds 0dnbs, MM dmbg@ ol 6-
RIO 089080bsL g g g do0b(3 Imzgs 3 9Mda?

0dmblibs. o03b0dbmo A-mo bomdomgds, MGm3 dmbyGal 6-
RIM 030900bsL 9PN R M Fonb(3 Amgs agMdo. gobonwsb dmbyg@ob

ymgzgmo s309ds dgodmgds @obEmmoglb mMo bbgosbbgs dgwog-
3007 33M4)30090mam bbzs v300gd980L dggagdabogsb. 308 md,
bodMagmal 3(0b(3030L Mobobdo, 9emgdgb@otym bmdamagdsms
LogM(39 dgagds 2° =64 9eq396@stmo bomdomgdobogsb. o3
dgdmbggzado atm dmbg@bgdmmos bobabssmdwgam A bomdon-
m9d5bg 300oLgms, MmIgmo(y 60dbogl, Gm3 ImbyG b 6-%gM va-
©g00bob oMz ghogg® o6 ImgznEs 39Mda. gb dgadmagds dmbogl
dbmmme 9o d53mbggzedn — 09y 943boggx g dmzoms Loggabyy-

0. 3gbo3580bo, P(A) =1/64. 5308ma

P(A)=1-P(A)=1-1/64=63/64.

898010010 22. 15 g@omabogsb dgdoasta 3om@nnb dgbodmb-
398ma©, Mm3gmms dmmob 5 ygecgobns, dgdmbizgzoom o@mhgsqb
Lod EgGOmb. g@&dMgdol 3oMGns nmazmgds M33Mg0bow oy
M356M30b0 50IMABEYds gMmo ©gGomo 3o0b(3. 3ndmgmo smdos-
M5 0d0bs, HmA 3oMGns 0gbgds gzomg0bo.

3dmblbbs. 30M39mo aGomal dgMhgszs dgbadmgdgmos 15
bbzoabbzsbsnfow, 3gmMg g@omalb dgMmhgss dgbadmgdgemas 14
Lbgoabbgobonfoe s 39Ls3g @y omoabl dg@mhgzs dgbodmgdgmos
13 bbgoabbgobsnfow. dgbodsdabew, bodMagmal 3G0b3030L mo-
bob3ow, yggmes dgbadmm Ladgmmms Momabmds 0dbgds15-14-13.
25000300090 R396m30L LsbGgMgbm A bm3omgdol Lobobss-

dgam bomdnmgdsdy: A - sdmMbgmm L3 gGomdn bodngg od-
6935 goGgabo. sbgon Ladgmemab sMhRggs Mbos mbrgl 10 30Manbo

©9Gomnsb s, babs by gmmdol sbsemmanyMo, A-ob bgemdga-
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Bymd Ladgymms MomEgbmds ngbgds 10-9-8. 5308 m3 bsdngdgemo
Smdd0mmds 0gbgds:

10-9-8 _ 67
15-14-13  91°

8980210010 23. 300639696300 20 3mbsbomabomgals, Gmdge-
o dmEob 12 mdomabgmos, LabEMIMmdn ogs33bmmas 20 bm-

3960. 53 bmIMgdowsb 12 gomadynmgdl bemgsb. sd0bobd@sdm-
0 dgdmbgzgzom s6300L 3MmbygMgbz00L 3mbsbormggdl bmdmgdals

P(A)=1-P(A) =1-

a5bomgdgdL. 303mzmm smdsmmds 0dobs, M3 12 mdoemabgmb
dgb3ggds 0b bmdMgdo, GmM3mgda(z dr3zolb gowedynmgdl.

0dmblibos. 3mbgggmgbs00l 20 ImbBsBomoabomgals 20 Lbgswasbbgs
bmdMob do(393s 03wgbbsntow dgadmgds, Medwgbbsomawsy 20
md0gd@&0 3gndmgds gobmagbogl 20 saomsbl, sbyy | Q|= 201, sbo-
mmaonmo, 12 6mdgmda 12 mdomabgmob gobmagbgds dgbadmg-
dgmos 12! bbgowabbgobsnmMawm, bmmm omhgbom 8 bmdgmdo 3mb-
%39M96(300L @obsMAgbo 8 3mMbsboemnl gobmoglbigds dgbadmgdgemos
8! bbgoabbgobonmoe, odmyzogdmam 0dabogsb oy Mmdgmao
»domoabgmo demgadg bgwob 3dmbg MHm3gem bmdgmdn dmbgzogds.
530@m3, 633Msgmoal 3Mnb (3030l MsbsbIsw, bgmd936ymd gemgdgb-
&M bom3nmgdsms MomEgbmds 0dbgds | Al=1218!. dqbsdsdo-
Lo, boadagdgmo smdscmmds ngbgds:

12188 8-7---1

= ~7.9-10°.
200 20-19---13

P(A) =

89800010 24. 5309596 N (35t LEMdFS3M 3odomngmb. ndmgzggom
smdsomds ndobs, Mm3 dmbym Jymoms godn 0dbgds: o) N; o)
n+1.

3dmblbs. Lomsdsdm 3odsmal ymzggmo sgwgds dgodmgds
3LENmEaL 6 Lbgesbbgs dgoganm gMmdsbymnbsgsb @sdmy zo-
©gdmo. 830G M3, badMagmal 3M0b(3030L Mabobdo, gemgdgb@e-
G bomdomgdsoms bogMsg dgoaqds 6:-6---6=6" Lbgosbbgs

n-x96
N-gmemobsgsb. sdomgsb, ghmsegfmmn 0gbgds abgmn Lowsg dm-
b do 060l N (3g&d 11, ..,1)). 3gmerg dg3mbgg-
9 Jgmoms xo8o 5ol N (59Mdme, ( ))- 8gmtg dgBobgg

n-x9®
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35d0 3o bgemdgdbymda N-gumgdos obobo, Los 9o sgomosl
©aob 2-0060, 4y39mo @sbsmfigbo 3o 1-0069d00. dgbodsdnbaw, sbgm
N-gamos MomEgbmds gdmbggzs N saomoEsb ghoo sgomal
dgefggoms MomEgbmdal 569 N-b. sd0@md Ladogdgmo sedsmm-
3980 0gbgdos: ) 1/6";3) n/6".

dogommomo 25. 03. xogobodgamal Lab. ¢bogg@bodg@ob 3
LEYMIBEGN, oemasl YMboggMbLoG @b 2 LGMLbd o ©s BgMmgmgmal
1b603960L0GgE0L 4 LEMEIbEO dgdmbigznm Kwyds 3 gogmbao.
»0mggmo 33 bsegmolb bgdobdng 30ambda dmbggmals semdscm-
39d0 gemn s 030395 03M39m omddmmds 0dobs, MMI: o) Kogo-

bodzomolb 1boggMLoGg@olb 3 LEYYbGn Imbzrgds Lbzswabgs

308mbd0 (bomdomgds A); &) amasl ¢boggMbodgdob 2 bEmwgb-
&0 3mbgmgds bLbgswabbazs 3oambdn (bomdamgds B).

— . oo f— 9

3dmbLbs. o) 6o3Mogemol 36nb(3030L cmobsobdaw |Q|—393 @3_3 .

%4

53000mm bbgomabbgzs 30ambab bgdnbdngmo 3 domgma s asgmbsobo-

oo go35b0dz0mals 1b0g9ML0G9E0L 3 LEYIbEL, 530l as39mg-

b dgbodmgdgmos 3! bbgoobbgobonto. cnmmgymn 83 3o6Mnsb-

&0Lm30L 5MLYdMEL obaMAgbo 6 LEgbBEL 3 3ogmbdn gosbo-

Bomgdol 3° dgbodmadmmds. 530@ma | Al=343° s, 353sbowsdy,
P(A)=313%/3° =31/3° =2/9.

3) oemosl bngg@bodg@ob | bEabGL dgydmos soMhomlb bg-
30bdngFn 3 goambomsb, Igmeg LGMEgbEL 30 bgdabdngMo sMbyg-
bomo 2 30a4mbnEsb s ymazgma o3 3m3dobsznobsmgals s@LgdmAL
oboMAgba 7 LEGMYbBOL 3 3o3mbdn gowsbsbaemgdols 3’ dgbod-
mgdmmds.  dgbsdadabo, BsdMagmol  3M0b3030L  Mobsbdswm

|Bl=3-2-3" o, 583356000, P(B) =3-2-37/3° =2/3.

dogamomo 28-0b gog®dgmgds. 30a9mobbImm, Hm3 moomg-
@ 308mbdn oMol bybBow K smanmo s gogzobodzamal mbo-

396bodg& 0L 3 bGgbdL dgmdmos onze3mb b5dobdngFn swaon-
0. 03M390 d3d3mMds 030by, MMI Kogzob0dzomalb MboggMbnd -

&0l 3 LEMEIbE 0 53mMAbgds Lbgsabbgs 3ogmbdo.
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0dmblibs. 53 dgdmbggzado gmgdgb@ommm bomdamgdsms bng-
M3 Jdgoagds domgmgdol  bm3dMgdol  Lodgmmagdobogeb o
| Q=3k(Bk —1)(Bk —2), M3 dgqbgds bgmdgdbymd gemgdgb@ommem
bom3nmgdgdL, Bomo Momegbmds 046936 ¢339 3k -2k -k =6k* s,
dgbodadobow, badogdgmon semdscmds Gmeons:

~ 6k® S
T 3Kk(BKk-DEk-2) (3k-1)Bk-2)

P.(A)

3I613360. >030em0 ©dLBIBOS, MM 353mbgddo sanmgdol
0mEgbmdal qLobEMmme gsdMob dgdmbggzsdo (569 Mm(se
k — ), 80300980, Hm3 badngdgemo sendsmmds Mobmmmzmgds Bo-
bo ogamomal o) 39164830 o gdee smdosmmdab:

2k? 2 2

lim P, (A) = lim— = lim ==
e = 0k? -9k +2  ©>+9-9/k+2/k? 9

89890010 26. s> scnolb 100 dommgmowsb 25 3mdggdnsbos.
03m39o dmdscmmds 0dabs, Gmd 3 domgomol dgdgbabol odzgb
3MRgdom 3magdal goMgdy (bomdnemgds A).

0dmblibs. 3obg0bnmmo 83 53m (30600 53mMbLENL Mo gbs, HmA-
m900(3 9Mm3dbgmnbogob asbbbgezwgds gmgdgb@omym bomdo-
m9bomd LogM(z0b go6domEGgdoon.

I 9emg39b@ oty bomdnmagdsms LogMsg asbzdomEmm, Mm-
am& (3 bagowon domgmgdolb bm3FMgdal 30dgztmds. 83 dgdmbggas-
Jo (3bowos, B3 |Q =AYy, bomm | Al= AY o bodogdgmo smds-
omobs 0gbgdes:

AL 75.74.73
A3, 100-99-98

P(A) = 0.418.

Il 9emg396@otm bomdamagdsms bagM(sg gob3dsmEmom Gm-
am (3 bogown domgmgdal gEmmdmomds, Lod®segmyg (Ladgmmo).
9L dgbadmgdgmos Moash hggb a3906@9Mgbgdl sMs Mmameo
0gommdoo 0gbs dgdgboemo dnemgmagdo, s6edge 350m3dn dmdggdas-

6930 GomEgbmds. 53 398mbgg3530 asboggdos, Gmd |Q=Cy ©o
| Al=C3 , boaemm badogdgmo smdsmmds 046gdo:
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Ci 75.74.73
c3, 100-99-98

P(A) = ~0.418.

898921010 27. 05399335m, M3 mo@ofgodo 05353gds 6 3ma-
3960560 bmdgMn 49-sb. dmdagdnsbo bmdMgdol sdmmgdals Mogl
360d3b9mmbs 5605 543b. moGemgadn dmbsobaemg nMhggl 6 bm3gML
49-05b. gndmgmon 4 dmdggdosbo bmdMol godmzbmdols smdscmmds
(bomdomgds A).

0dmblibs. gmgdgb@ommmo bmdamgds ngbgds 6 bmamal g-
OMmomMds 49-©sb. sbgomo 6 bmdMosbo gMmomdmomdgdal Momeg-
bmds gdmbggge 49 gmgdgb@nsba LndMogmal 6 gmmgdgb@onsb q39-
LEdBOZEgMS MOMEbMBOL, 569y |Q=Ch. MoGegolb gomsdsdy-
d0b dg8ga 300535d985d0 dmbabamg 49 bmdgMo ngmyzs M K-
Bo©: 6 3m3a 60560 bmIgMo s 43 sG0dm3agdnsbo bmdgfo. 6 Ima-
3960560 bm3Mowsb 4 dmdggdosbo bmdmals dgMhggs dgbodmydg-

mos C; Lbgosbbgebsofsn ©d mommgnmo 3 306056@0bomgals

56bgdm3L sboMRg60 2 5(hodmBagdnsbo bmmol sMRgz0lL CZ 3g-
Lodmgdmmds. dgbodsdobow, 6sdMagmol 3Gnb(3030L obobdaoc,
bgm3dgdbymd gemadgb@omem bmdamgdosms Mommgbmds ngbgds
| Al=Cq -CZ. 5808 m8 bodogdgmo semdommds Gmmos
P(A)=C;-CZ/CS ~9.7-10.

80802N0IN 28 (Rod0163I393bJ). 303mgmm dedsmmds 0dobs,
®md: 8) M dgdmbgggznm s@Rgmmo ssdnsbols sdsgdol mggdo
oM dgdmbzgze gMm3sbgmb (03 domdom, MM yzgms @y Gm-
mamdomg)Mns); &) M dgdmbgggzam sMhgmm ssdnsbdo dmadgdby-
35 mMn 35063 0bgmo, AMIgmoms 8dsgdol Pmggdn sgdmbzggs
9600 dobgob.

5dmblbs. o) 9emgdgb@ oM bmdnmgdasms LogM(zg dgqbodsedgds
3989 33mMAg398L sdMMBadom, basiz M =365 s N=m,
36 | Q]=365"; benegmm bgemdg86ymdo gemg896@strmemon bomBnmgdgda
30 3989 em 33mEMARg398L ©adMNBadal asmgdy, Loz sgMgmag
M =365 o N=Mm, 5308m38 om0 Mom@gbmdsos — Ay, . 39bsdsdnbac,
SB50MBOL oo gnen go635MGgdal msebabdaw, 43543L:

P g Ly 2y g M-l
P(m)_sesm_(l 365)(1 365) @ 365)'
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3) Labnbssm3gam bmdamgdol smdscmdal asdmmgmol 6g-
Lob msebobdow 30 a3043L, Gmd
Ags
m)=1-—>-,
Q(m) 365"

dmgoygebmo 83 smdommdals 3bndzbgmmdgdals (3bGomo bm-
3096m0 M-0b dgdmbggzsedo:

m 4 16 22 23 40 64 70
Q(m) 0.01636 0.28360 0.47569 0.50730 0.89123 0.99711 0.99916

LobBgMgbms  80bndbml, Gm3 (dmeamenbols Lobobssrdwy-
ame!) 3mobob 3mbbsgmgms Mammgbmds, Hmdgmdas 1/2-ab Gmeno
SdsmmMdom 3mndgdbgds mto dmbBsgemg 350b(3 g s ngogg o-
do@9d0b mggdom, 563 0bg ons: 0go Gmenns dbmenme 23-0b.

80BOTN0NN 29 (3MBIBS TSI%IS3N). a35d3b M Bomgomo asws-
bmdGoemn Mozbzgdom ghomowsb M -dwyg, Mmdgmomsogsb N doemg-
»0 bmdMgdoom gMmowsb N-3g dmdggdosbos (M =2n). 3900¢-
@mmom N (39 domgonl. Ml Mol smdsmmds 0dabs, G o3 N
domgmnEsb gMomo 3sabz 0gbgds 3m3dagdasba (s3mbndbmo gl
bomdomgds A sbmma)?

33mbLbs. 306500056 domgmgdals 8dmemgdal (4oz0l) mebdnd-
©9360mMdab 50 543L 36n0d3zbgmmds bognw domgmgdda dmdggdnsbo
domgmgdal s®bgdmdal 56 o6 sMbgdmdol mgembsbHnboom, odn-
&m3 9mg3gb@omm bomdomgdsms bogMzgb 946900 d93ga0
L& ad&am:

Q={w:w=[a,..,a,]:a #a,k=l;a =1..,M}.
dgbodsdobaw, Rzgb 30gM bgdmo dmygebomo (36Gamol msbsb-
do | QI=Cy, .
bomdomgdsl (330b036mo ngo By -0m), Hm3 bayoo doegomgddo
56 M0l dm3ggdnsba doemgmgda, 946906 d93ga0 LM J@nme:

B, ={w:w=[a,..,a,]:a, #a,,k#l;8 =n+1..,M} 05 | B, |=Cy, _,-

s30@m3,

P(Bo) — m — m — (1_1)(1_
Co Al M

n
vy v
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dgbodadobow, badgdbn semdommds ndbgde:

n n
c(le—— ).
I\/I—l) ( M—n+1)

n
P(B)=1-P(B)) =1~ (L—~)(L-

o) dogsmoms, M =n? o N—00, 35906 P(B,) >e™ (o] €
693960l Go(zbgos) o P(B) —>1-e 0,632, bosz 3Hgdomdal
boRdomg Lo zdsmm aos: 1339 Bms N=10,35d0b P(B) =0,670.

LIFOLI3I. Babs 53m(39b0L 306Mmdgddn godmgmm smdscmmds
0dobo, MHm3 bagon N domgomnesb dybEem M (M<n) 0gbgds
dmdggdosba.

8030E00N0 30 (ISONNISTNIS0L ISNGIBILIBIBJ). 53773350
3mobdo, ®m3dgmdacz 10 3mbbogmas @omMmgds godmgombgs, bawa(s
»00mgneds ImbBagmgd 56398930 b domoommb ob Lodo o3-
bobogn, MmM3gmbsy 9dmgsglb N30MsBgbmdsol (3bMs s3bsbognwasb.
A oymb bmdomgds, Hm3 gho-gemo dmbBagmyg abobgmgdmem
0465 yzgmos dgbadmm (3b6Ms 56398 930. Mol Mol Bobo semdscm-
35, o 963980b dg3Lgds 0ym dgdmbggzomn, 564y 8b63980b dg3Lg-
d0b 6930L3ngMa 3mM3dabs(300 Gmmomdscmy@ns.

0dmblbbs. (3om3gmmo ImbLBsgmabomgal o63980L dgzLgdals
Lbbgoabbgs 3m3d0bs(3000m0 Homwabmds Gmmons C¢-ab, bongnm 10
563980b dg3L9d0lL 35610568)9d0L Mom@gbmds 3oMggma dogsmo-
0l sbomman@o Gmmos (CJ)-0b. 50650006 gm0 563980 39-
admgds 393bgdm 046gLb 6530L30gMoE, bmmm ©sbsmAgb (36
56398930 gm0 3oLyybo sBnJLaM MmO s sbamfgbo Mo 3o-
bybo 3o dgademgds 696ab3ngMew sdmamhglh M3 dgbadmgdgeman 3o-
Lybowsb, sd0@md gmgdgb@emymoa bmdomgdgdol Mommgbmds
A 3o Gmmos |Al=CS-(C)° (o9 Bygomol 3o(ggm 3m83mbgbdL
dgmdmos doommb M aobbbgseggdama 360d3bgmmds, bmemm dgm-
g 3m33mbgb@lb 30 30M39mabash sdmyyz0gdms — N gobbbges-
398990 3603369cmmds, 35306 sbgmo Byznmgdol Gomogbmds bs3d-
530l 3M0b(3030L 0obsbIo 046905 — M-N). 5490056 33543L:

_ G- (Cg)’

P(A) =8l
) (Cs)* (

Cs
C

1
)’ =5
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LIFOLI3I. 60bs 53m(306030 03m3zg0 smdosmmds 0dnbs, M3
96m-96mm0 LENIBEGO oLdbgmgdamn 0469ds K -x g6 (k <9).

808020010 31 (M ,ETBI”). a5bzabomma 3G9x8gMabLal os-
d0dn, Mmegbsg 3oM@ob dg33Mobl domamo 32 30680 dgdmbgggom
bobomegds (Mngqds) Lod dmmadadglb dmEal, aby H™3 mocgy-
™o gdnmmdb 10 3068L s Mo 3oM@0 0bsbgds ,Logomgdda®.
Bam@os smdosmmds 0dabs, MGmI ,boyomgddn” smdmhbrgds
M0 , G b0“?

33mbLbs. mMo 39680b Lbgssabbgs 3Mm3dabs30g80l Momegbm-
ds, Mm3gmog dgodmgds smdmhbrgl ,Lognmgddo®, Gmemos
CZ =496. 30680b 39336590 mmbo ,GnDos“os bbgowobbgs 3ma-
3065(30900L MomEgbmds, Mm3gma(z 3ma3(399d MG ,GndLY, Gm-
mos CZ =6. dgbodadobow, badogdgmn semdocmmds Gmmos

Cc? 6 3
/322 _496_0,012.

LIFOLT3I. 053913350 babs 8dm(3065d0 gEm-9M8s dmmads-
dgd, bobs Mo mog30bo 3oMEGgdo, 0(30L, B3 Fob ,GMbo“ s 5730.
dg0(33mqds 09y 56 35306 smdosmmds 0dabs, Mm3 ,Lagomgdda®
M0 , B b0s“? godmmgamgo gl smdosmmds.

808OEN0N) 32 (J5IRIITNIB001 FII3E6BT). 53739350 a35d3b
N gomo dgdmbggzoo momoggdgme 3gm3g@Mogmo BoggHo,
Gmdgmons dmEob M (300 3oMo3ombgmns (M < N). dmombmgg-
35 3m0dgdbmb yzgmos dofomgmmbgwn, oy dgdbs bomdmgdl gmg-
396@&9d0L (g0gnmgdal) Loomomomp bisboMgdoom gojbsgools dm-
3nmmmdoo ghon gmgdgbdon, 3sbmobogg bmgds s 330M3904mo
99396@0L 3mDoz00L 3oBLM3Mgds s ol Mez0eb e
3166Mbqdnm. 303M3Mm dSemdsmmbs ndabes, MHm3 ©s3 330039090
dgdmgdl om8mohabmb yzgms M domogymombgon sMs ¢dg@glb N
©533003980Lsb (N=M,.., N)?

8dmblibs. yzgmos dgbodmm gemagdgb@ommm bromdnmgdoms Mom-
©9bmds 0d6g-ds | Ql=Cy . bymdg3bymda 5mq8q6@scmmo bromdo-
mgdgdo abgoo [a,..., &, ] ghomdmaomdgdos, Mmdmgddaz M saon-
mab g06003bgdmmas oMoz mbgogdo (930b dgbodmgdemmdame
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BomEgbmdos Ch ), bonenm ©obshgs N —M segomsl 3o s o6-

0 3nobggdo (530l Jgbodmgdmmdsms Gompgbmdss C ). ©80-

&m3 bgmdgdbymdo gmgdgbGemmmo bmdomgdgdal Gomogbmds

046935 Cl - Cil - gLodo8nbow, badogdgmo semdsmmds Gmmos
_Cw Ciw G G

P, (n)= = = .
O e T T

o301
3JR3IBNXN bLRMINXI3NL OT3001M3I30

dmdsmmdams 993Mgdol 3obmbo: o ANB =@, 353ab

P(A+B)=P(A)+P(B).

bobobssmBogam bomdomagdols semdsmmds: P(A) =1-P(A).

bbgomdols semdsmmdol gm@Mdgmes: oy B < A, 35d0b
P(A\B)=P(A)-P(B).

Lodmgsme: P(A\B) =P(A)-P(ANB)

oy ANA; =8, Gess i # j,80306: PO A)=D"" P(A).

B30 bromBamagdado magbgdsmns: P(AUB) =P(A)+P(B)-P(ANB).
P(AuBUC)=P(A)+P(B)+P(C)-P(AnB)-P(AnC)-P(BNC)+P(ANBNC)

Lodmgsome:

P(iLZiA) :Zn:P(A)—ZP(A NA)+ D P(ANA m&)—---+(—1)“*1P(éA).

i) i#j=k

306530000 5n350mB0l eI ems
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A bmdomgdol 30Mmdoco smdommds 3ommdsdo, MHmI swaon-
™o 3dmbes B bomdamgdsl smnbndbgds P(A|B) (s6 Py (A)) Lod-
dmmo @

P(A|B):=P(ANB)/P(B), oy P(B) #0.

»ngobgdgdo:

0<P(A|B)<1;
AnB=0 = P(A|B)=0;
Bc A = P(A|B)=1;
o) ANA =0, 6m@s i # j,85306: PO A)[BI=Y P(A|B);
P(A|B)=1-P(A|B);
P(AUB)=1-P(ANB);
P(ANB)=1-P(AUB);
PI(AUB)|C]=P(A|C)+P(B|C)-P[(AnB)|C];
P[(A\B)|C]=P(A|C)-P[(AnB)|C].
bodMagmol sgmdosmmdols gm@dnms
P(AnB)=P(A)-P(B|A)=P(B)-P(A|B).
P(ANBNC)=P(A)-P(B|A)-P[C|(ANB)].
Lodmgsome:

P(ANA N--nA)=P(A)-P(A[A)-P(A|AN-NA).

B30L8ogFo A s B bmdomgdobsmgols:
P(A|B)+P(A|B)=1.

BoBonma(3, 39685689300 mabobBaw a3od3bL:

P(ANB)+P(AnB) _P[(AnB)U(ANB)]_P(B) _,
PB®  PB  PE)

P(A|B)+P(A|B) =

BI60BI65. Lobmasomo P(A|B)+P(A|B) #1.

033m 30009dumo s E53MY 30gdgmo bomdomgdgdo
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A bomdomgdsl 9bmmgds B bromdnmgdabsgsb medmuzog-
dgmo, oy P(A|B)=P(A) b G5 ognggs P(ANB)=P(A)-P(B).
o) P(A|B) = P(A), 35306 g35930 089m 3oegdammo bomdnmgdgdo.

o9 A ©s B bomdomgdgdo ©sdmyyznwgdgmos, 35d0b bomdo-
96960 A o B sgMmgmag 0odmyyzogdgmos.

o6 A o B bomdoemgdsl 96mmgds dnMmdomoe 0030930009890
dm(398mmo C bomBomgdal dodstro, oxmy P(ANB|C)=P(A|C)P(B|C).

bmdomgdosms gMomdmomdsl AL A, ..., A, gbmogds Bygom-
Bygomo@ @sdmygogdgmo oy: P(A NA;)=P(A)-P(A), Viz].

bomdomgdosms ghomdmomdsb AL A, ,.., A, 96mmgds ghom-
dmogoe admgogdgmoe oy Vo k<n, L #i,#--#i:
P(A AA, (A )= P(A)-P(A )+ P(A).

8989LN010 1. seodosmnmds 0dobs, M3 3mbbogmy asamsbogl
d0bndomma 3m33989b(300L brga@l domgds@nzsda ofab 2/3,
boenm gobogedo 3o 4/9. semdsomds 0dobs, Hm3 dmbBagmyg gowme-
mabogl 3obndommo 3m339@8gb(300L brzaMb g bogsbda donb(s
dgomggbl 4/5-b. Mol MMab semdscmmds 0dabs, MmM3 3mbbsgmg
meo3g  bogobdo  goomabaglh  3nbodsemmMma  3m339& 96300
bezomb?

33mblbs. dgdmzgomme bomdomgdgdo: A — dmbBsgmyg gowmo-
mabogl dobadommn 3m33g&qb(300lb drgemb domgds@ngzsdn, B —
dmbbogmyg go@amabagl dobadsmymn 3m33g@qb(s0al drgemb ggo-
b0godn. 35306 h3zgb gagodsl, Gmd: P(A)=2/3, P(B)=4/9 wo
P(AUB)=4/5. bLodmgbgmos — P(ANB). bom3domgdsms xsdab
sdomnmdol gmmM3mmowsb dgazndmns agbgtmm, Hmd

P(AnB)=P(A)+P(B)-P(AUB).
dgbodadobow, 33543L:
P(AnB)=2/3+4/9-4/5=14/45.

8980LN01N 2. 5L Yol semdosmmds ndabs, H™3 Mo 3o350-
ol go3mMgdobab xoddn dmzs 7 o6 11 Jmms?
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0dmbLbs. dgdmaznmmo bomdoemgdgda: A — mo 3odsmeol gogm-
900bob o330 dmgs 7 Jums, B — mn godsomol goammgdabel go-
390 dmgs 11 Jmemo. (sbons, dmd A={(16),(6,1),(2,5),(5,2)(34),(4,3)}
> B={(56),(65}. Gmgmt(s s0badbnemn oym, o3 dgdmbzgzsdo
9m9396@ oMy bmdamgdsms bogf(zg dgmagds Gmmdgbadmy-
dgmo 36 gmgdgb@emyymn bromdomadobsgsb, s30@ma smdscmmdal
3mobognfo  gobdomBgdol  0obobdow: P(A)=6/36=1/6 o
P(B) =2/36=1/18. gofws 530bs, aoboggdos, Hm3 A s B bom-
domgdgdo oo3bgdo0s s, dgbedsdnbaw, g3043L:

P(AUB)=P(A)+P(B)=1/6+1/18=2/9.

89800010 3 (898 1M 180T 0 39650R1ILN). gthann 3@ gm-
Bemmaogco baan®o 10-sb 9 d53mbgzgzedo LEmGo© o(3bmdl
530bol, bmenm dgmeg 30 10-006 8 dgdmbggzada. 1 sa30b@mboom-
30l 30M39m3s Loanmds 060bsbbsMdgdyzgms ,Ligma® 530bwon,
d9mmg boan®ads 3o ,ddMomn” 5d0bro. 30bsnwsb bbgs dgbodemgd-
mmds o 56bgdmMEL, 538 Mo bm3omgdal gogGHm0sbgds bomdm-
00aqbl o9)30mgdgm bromdomgdal: {"lggeo"} U{"dd@smo"}=CQ.
5dobmobogg, gb bmdomgdgda emogmmgsdmadmosbogns. dgbo-
35d0bo,

P bggsmo” U " 83600 }) = P liggeo” } + P{"83Gsmo"} =1,
dq8m3z0mmor brom3nmagdgdo:
A={I Lowp@o Womse oG6mdl sdobob},
B ={Il Lowyy®o LYm@sp 03bmdls sdobol}.

35306, 306mbals mobobdo P(A)=0.9 s P(B)=0.8. 54qwsb

25dm30bamg, 1 sa30bE@mL ,bggemn® 830bel Mbros 39mmEgm oe-
doomdon P{'lggeno"} =09, beaemm ,3dMomo” 58060l smdomm-

doo P{"3dGoe0"}=0.8. dgbodsdnboc,

1=P(Q) = P{"lgger0"} U {"3dGo@0"} = P{"ligger0"} + P{"3d@ om0} =
=0.9+0.8=1.7.
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bo @og99d3000 dgzscomds? 56 dgadmgds Asnmgammmb, Gmd
P{"lggar0"} = P(A) s P{"39d@oa0"}=P(B), ovnbrsz 080l go-
dm, dm3 A ©s B of oMol gomogbgdswo (bobsdwgomgda 0.9 sl

30Mmdoma semdscmds 0dobs, Hm3 1 s3306@mb 0bgds ,Lggeo®
530b0, 30MHMbsdn MMA 3MMabmdL 5390090L | boa o).

898920010 4. 0396 3mobdnbgor sboem 3693d0, Gm3 50%-0s
dabbo 030bs, B3 dodomb 0630356L s 50%-0s do6bo 0dabs, ™3
330605L 0630393L. oMb oy oMd Lbma: 100%-05 dobbo 0daby,
M3 ob396960b EMggdal gobdsgmmdada n6303930b.

0dmblibos. gb @ob3gbs oG sl LEMMa. oy dgdmzgamgdom bom-
domgdgdl: A={dsdoml 030390} s B ={33005L 0fg0dgdL},
bomdomgds — ©sbggbgdol mggdol go63szmmdsdn 0b30dgdL
stob AUB. g3043b: P(A)=P(B)=0.5. 5308m3

P(AUB) = P(A) + P(B) - P(AnB) =1- P(ANB),

(3 bogmagdas 1-Bg, ob4 dobbo 0dabys, Hm3 ©obggbgdab mggddo
0630890 bogmgdos 100%-bg. dg(30m3s Bgmdstgmdlb 0dsdo,
cmd hggb dgazodmos semdsmmdgdol 3nfadoma dg3Mgds dbm-
mme 35306, Mm3e bromdomgdgdo gmegbgdsns d5danb, Mmegbas,
LodmgoEME, dmdscmnmdgdall %o3L YMbos godmzgs 3mmo ™mebs339-
00l smdsmmds, Hm3gma(g o3 39dmbggzedo 60dbsgl, MHm3 nb30-
396L Mmame (3 3dsmb, abg 3gomob.

89800010 5. Gl Ml semdscmds 0dabs, MHmI Mosbzgdo-
©56 1..,100 d93mbgzgznom s3mmhgmma Moisbzo googmazs ob 2-By,
ob 3-Byg, ob 5-By.

58mblbs. J98mznmmo brmBormgdgde: A ={@oibgo ogmes K—bg},
k=12,... 35306 ULodngdgmos P(A, UA, UA). zbowons, Gma:
AA=A, AnA=A, ANA=A @ ANANA=A,.
s30eo dobsobggomos, MHmA:

P(A,)=50/100=0.5, P(A,) =33/100=0.33;

P(A;) =20/100=0.2; P(A,) =16/100=0.16;

P(A,) =10/100=0.1; P(A;) =6/100=0.06;
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P(A,) =3/100=0.03.

530@m3d bodo bmdomgdobomgal godal smdsmmdal gmMI«y-
mob dobggom 3mgdmmmdm, MHmA:

P(A,UA, UA)=05+0.33+0.2-0.16-0.1-0.06+0.03=0.74.

8985ELN0IN 6. 4790 >0l 10 ;mgotan, 10 dogo s 10 Boogmo d¢p-
00, Y9006 d9dnb3z93000 0009096 5 3ol ©adMbgdals go6gdy.
G0l A0l semdscmmds 08abs, M3 dscmdo o6 ngbgds yzgms Bgfn?

33mbLbs. dgdmznmma bromdomgdgdo:

W ={o® sGols mgm®o}, B={o@ s®ol dogo} oo
R={o® sl Jomgano}.

35306 hggbmzol LonbGgMgbm bmdomgds ndbgds W UBUR.

boos, Hm3 W "B MR =J. s@z0mo psbobsbos, Gma:

PW)=P(B) =P(R)=C5/Cy;
PW nB)=P(BNR)=P(RNW)=C_ /C.

dgbodadobaw, bado bmdamgdobsmgol Kodal smdsmmdal
gmOIPms 33odmgaL:

P{o® o600l yggms ¢3g@0}=3C5, /Cy —3Cyy /Cyy +0~0.32.

89890010 7. 5¢0dsormds 030bs, Hm3 0630393L dodsmb ngogge
G5(3 dmdocmmds 0dobs, MM 0630393L 330M5L s oMl 0.5. sbgzg
(36mdomos, M3 6303006 @yl 3mbrgslb 630030060 Mg dmds-
omdoo 0.7. oL ool smdsmmds 0dnbs, MHmI abggbgdol wemy-

980 356353mmdadn 06303930b.
08mbLbs. dgdmzgommo bomdomgdgda: A={dodsml ofgodgdl}

s B= {33005l 0f30990L}, 35306 bomdomagds — wobzgbgdol

eg9dalb  gobdogmmdada  ab30898L oMol AUB. agz0d3b:
P(A)=P(B)=0.5 s P(B| A) =0.7. 3gbsdsdnbo,

P(AUB) = P(A) + P(B) - P(AnB) =1- P(ANB),

beremm 659Mo3mols sedommdal gmMInems ggodmasl, Hma
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P(AnB)=P(B|A)P(A)=0.7-05=0.35.
5308m3d a3543Lb: P(AUB)=1-0.35=0.65.

8980EN001N 8. 52 356080db dgdmbzgzom ngdgb 4 3oME@L ©sd-
mbgdals gotgdg. o) domdn smdmhbrs K @ bn“, 35d0b dgmeg 52
3900000 000gdgb K 3oMBL. Ml oMol smdscmds 0dabs, MHm3
™ME039 LG 3 gdmmo 046905 DNLE S ME-MmE0 ,Gnbo“?

8dmbLbs.  dgdmgommon  bomdomagdgdn:  A={m@o "@ybo" 1

obBowsb} o B ={mm0 "Gybo" II wobBowsb}. hggbmgol Lonb-
&9Mgbm bmdomgds 0dbgds AN B, Hm3mol smdsommdol 3otwms-
3060 3boom godmmgmes oM sGab oM@ 030, dogMed Laddg Lo 38smw
3035MB03905 o) 35dmzgnyggbgdm nomdom smdscmdol (369050
3 30boMg96mgdo badMagmnl semdscmmdal Bm@m3moam. sgamo
abobobos, HmA:

Ci

2 2
p(A) = S Cae o, PBIA =+

2 2
52 52

3, 3gbodsdaba, P(ANB) = P(B| A)P(A) ~ 0.0001.

8980100110 9. 45630b0cnma Mg sbgda, Lawss ME-mMo bogdgzns.
BMam@0s dSmdoscmmds 0dobs, MM misbdo mEMogg 353330 35300
04) (36mdamans, BM3: o) PG™Lo 353930 — 3o¢05; 3) gmon ds3d30
3006(3 — 3og0s?

0dmblibs. o7 gmmgdgb@ommm bromdomgdsms bogM (g sbgmos

Q={33.3d- §3- I,

boas »3“ 900b0dbogL 3ogl, beoem , 4% — domb. Rogmgsmme, Hm3
mmbogg 3900930 GmmomdsmMos. d53maznmmo bomdamgdgda: A —
aymb bomdomagds, MHm3 @cmbo dsgdzo — go¢0s, bmmm B — ogmb
bomdnmgds, Hm3 13(30mbo 653d30 — 3ogns. 3sdob AN B — ngbgdo
bomdnmgds, MHm3 mM03g 653930 35905, bonemm AUB — 30 0gbgde
bomdnmgds, Hm3 gMomn 353330 350b(3 39¢90s. 3gbadsedabew, badogdg-
0 5mddmMdgd0 04690s: ) P(ANB| A) s d) P(ANB|AUB). sw-
3000 sbobsbos, HmA:
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p(AnB| A)~ FLACBINAl_P(ANB) 1/4 1

P(A) P(A) 1/2 2’
P(AAB|AUB) = P(AnB)n(AuB)] _P(AnB) 1/4 _ 1
- P(AUB) “P(AUB) 3/4 3

885EN0NN 10. o> A 5 B 058m4300939m0 bromdomagdgdos,
85806 38m<)30@939m0s 53Mm3g brm8omgdgdo: A ©s B, A ©d
B, A > B. sgz0mo dobobgzgomns, MHmI Ls3damabos dgdmbdwgl
A ©> B bomdomgdgdol ©s8maz00gdmmds. 39bs8mBagdgmos,
&m8 P(ANB) = P(A)P(B). a3543b:

P(A) =P(ANQ) =P[AN(BUB)]=P[(AnB)U(ANB)]=
=P(ANB)+P(ANB).

5308md, A s B bomdomgdgdol ©0odmyyzogdmmdal bo-
39d39mbg 309899cmmdo dgbsdmb3gdgm mobogemomdsb:

P(ANB) = P(A)-P(AnB) =P(A) - P(A)P(B) = P(A)P(B).

89800010 11. m& 393509l 08090696 MG R 9. n3mzggo sends-
ombs 0dabs MmI 63 53096900bsL by Jymoms Ksdgdn 0gbgds
7o 11,

0dmblbs. dgdmgomma bmdomgdgdo: A — mo 3odsommab |-
a0 (1=12) 30gmEgdabob Imbym Jumoms goda 7 dumes, B, -
Mo 3odommal 1-gfa (1=12) goam@gdobsl dmbym Jamoms
%530 0695 11 Jmyems. (sbowns, Gm3 bomdomgdsms byzomgda A
©> B, @0 A, @ B @a8mggorgdgeros, Mmamd3 @sdmginrgdg-
mo  53093960Lb dggagdn, bmemm bomdomgdgda A NB, ©o
B, N A, ¢qoogbgdomas. 8308ma3 badagdgmo smdscmmds ngbgds

P[(A nB,)u(B,nA,)]=P(A nB,)+P(B,NnA)=

= P(A)P(B,) +P(B,)P(A,) :%%%%:%

858020010 12. A s> B @33me3009dgmo bomdomgdgdos o
P(A|B)+ P(A|B)=1.03m3g00 P(A).
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0dmbLbs. 30600006 A s B 0sdmeznwgdgmons, sd0@md mo-
dm300989m0 04bgds sgGgmzg A o B. dgbodsdobaw, dga30d-
0 d369Mmo:
1=P(A|B)+P(A|B)=P(A)+ P(A) = 2P(A).

s308m3 P(A)=1/2.
898920010 13. oy oo3Lgdo A ©s B bomdnmgdgdlb goshbo-
50 3M3bYmM3gabn smdommdgdn, 3530b nbobo sMo@edmMY)309dy-
0. JoMomy(3, 30bs0sb ANB =0, 530@m3 oy A s B 0dbg-
dmEs 8dm 30009390, 35d0b Nbos gL ymoglb Gmemds
P(A)P(B) =P(ANB)=P(L) =0,

(3 960bs50dgagds 3oMmdsl, dmd P(A) =0, P(B)#0.
89850010 14. 36 356078 0bLogasb dgdmasmn sbGnwsb dgdmbsg-
300 009096 9o JoMEL. 5Mab Yy oM edmy30gdgmn bmdo-
mgdgd0: A — gl 306080 39x399, B — gb 3o &0 sgdobos?
0dmblLbs. (3boos, M3 ANB 0d6gds bomdnmgds, Gm3 gb
3oMB0 d3Mol dgg3g90. semdscmmdal 3mobogntn a4o63sM@gd0wsb
33°d3L:
P(AnB)=1/36, P(A)=4/36, P(B)=9/36.

09bos(3 93 dgdmbggzedn bEmmogds Gmemmds P(ANB) =
=P(A)P(B), 330&m3 50060dbgemn bromdorgdgdo 0odm«)3009dgemas.

8080EN01N 15.52 306000056 dgdmbzgzom ngdgb 30MEL. gobgo-
boenmo bmBomgdgdo: A={30080 ,Endos“} s B={3o080 ,am-
@obod“}. 9M0b o) o610 A o B ©00dme300989emn?

5dmblibs. nbGmoz0nMoe gobsoggdns, Hm3 gb bmdamgdgdo o
0dmg3s 0bgm@m3o300L JgmEals dgbobgd. ,Gnbolb” sdmmgdal oe-
dommdos 4/52=1/13 @ o 0396 god30 0bgm@3s(309, H™M3 53m-
Mgdnmo  39ME0 ,amobss”, 35306 ,Gnbob” smdommds abgs
1/13-00. ,&9Dob® 3GM3mM (300 Fomosb @obBSdn ngnzgd M3
3om39 3°bbocrge »3:gegdda”

Sbmo gmM3smmMo dg30dmbImm, MHm3 gb bmdnmgdgdo wo-
dmg30@)dgmos. 33od3b:
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P(A) = 4/52, P(B)=13/52=1/4,
P(ANB) =P{"3ybo" "aygeoles"}=1/52

5, dgbodadabow, P(ANB) = P(A)P(B). 3535bo@sdg, A s B mo-
39 30009390,

898020010 16. oy dogdsmoom 15-do 300l obBnwsb babsob-
Bof 3000039300900 ,03mM0b* 2-006L aMhgds oy o A s B
©33mY30Ryogr?

0dmblibs. gMmo dgbgogoom Mbos gogodmmm, MHmI 3sbyba s-
900009, 306500006 ,08960L" 2-050L sMoBgM0 bogfMmm 56 543
SO (3 »amgdmob” o 303 @ DYdMab®. Fogced Lnbsdwmzomgdo
9L sbg of oMb, 3oMEob aodagdsd dg(z3oms ,GMbob” 3Gm-
3300 ab@odo (4/51-ab bo3gmo gobws 4/51), 835d0b Mmzs oM
dg33emoms 3OmM3mEA 300 ,amqdda” (ab obgg o@hs 1/13). gm-
oo M30Mmdm semdsmmds P(A) =4/51, bmmm 3oMmdomo
30 o60ob P(A|B) =1/13 @5 gbgbo @mmo o sab.

803OTN0N 17 (R0 8059b SAMGIEY). sDo@@ma msdsBgdals
dmygommmo gmebgn dggzomog g dgMg bomogodmds 3oMEbom-
0L 03530b 393mga 306MMdgdL: ab googmMgdl mEm 3odsmgmb
24-x 96 ©s dmggdnmo 0dbgds 09y gMox g do0bz Imzs mMo g4-
3b0560. dabo FmBobssmdogag assgmEgdl mob 30dsmgmb gM-
ORI 5 ImoggdL o) ghmn 593L0sbo donb(z mazs. gemo dgbgco-
300 ©9 3969 93353mdL, dogcsd Lnbsdwgnmgda b YBG™ bInMow
5890000, 300607 0395005 5 3533060390m3dd dodoGms (36mdaen Jo-
0935803mbL &. 3oL 3omb. 30356 330mm Mo Y3obyybs dobs 3ob jomds.

5dmblibs. dgdmgamma bromdomygdgdo:

A={mc0 godomaols 24-x9@ ao3m@gdolols ghmxg®
do0b3 dmgs m@o gdgbosbo};

A ={m@0 godomeols i-9@0 gogm@goolsl s@ dJmgs
@0 gdgbosbo}, 1=12,..24;

B ={mobo godomamol ghmx g aogm@goolsl dmgs
9000 943Losbo ds506¢3};

B, ={9d3bosbo s dmgs i1-9@ 3odomgenbgt, 1 =1,2,3,4.
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(3b5©00, O3 A bromdomgdgdo 9Mm3sbgmobogsb edm jowgdg-

— 24
mod> > A= r_\lA, . 350 530bs, P(A)=P(A,)=---=P(A,)=35/36.
dgbodsdobo,

P(A) = P(SA) =P(A)-P(A)---P(A,) = (%)2“.
5808m8 Bg3omog g 396G ab Fmaggdals smdscmds 0dbgds:
P(A)=1-P(A)=1- (g) % ~0.491404.
sbammannmMoe aoboggdos, ®mad B; bomdomgdgdao ghmdsbgmo-
bogob odmm30gdgmos, B = éBi , P(B,)=P(B,) = P(B,) = P(B,) =5/6
QO
P(B) = P()B) = P(B)- P(B,) - P(B))-P(B,) = ()

dgbodsdobaw, dg3oemag g 39Mglb dmBabssmdoganl 3magdals
Smdo0mmds 0gbgds:

P(B)=1-P(B)=1- (2)4 ~0.517747.

Mmamez gbgosgm, P(A) <P(B), Mo Bamdmawaqgbl g 39-
9L ©5330603900b dg(3609Mm sbLESL.

89800010 18. ambgdogoysb@yma dmgomadg omanemm sw-
a0l Jfodg aoabgmabomgolb 12-x96 0gbs ogsMndgdamo.
(36mdomos, M3 gL ymggmmgal bpgdbmes bLsddsdsommdoo b6
byondodosmmbam. 50bbbgds gb dgdmbggznmmdaom, o) 98 Mggddo
3o@Mmo 5dmngMgdlb bog bom dmdEomdals 3mbGEMmeL?

5dmblsbs. dgdmzgamma bromdomagdgdo:

A={12-x g0 ©oox5M0dgl Loddodommdom ob
b0 dsdommdom dgdmbgggom}

)

A ={k-960 ©oxo®0dgos Loddsdsmmdom b
by dsdsmmdbomn dgdmnbgggom}, k=12,..12;
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B={12-x9® @ooxo®0d9L 33000l g@mls ©s 0dogg
0@ oyl dgdmbgggom}.

(3bo0s, @md A=A NA, NN A,; P(A)=2/7,k=12,.12
(QO
P(A) =P(A)-P(A,) -+ P(A,) = (2/7)* ~0.0000003.

dgmegb dbMng, 330600L ghmbs s 03539 MG @b 12-%96
dgdmbggz00 ©ogsMndgds 0dbgds  aogMmnsbgds moboizgon
bomdomgdqdal: 12-¢96 dgdmbgzgzoom ogsMndgds m@mdsdsomm-
b0 o6 Laddsdosmmdom, 12-x 96 d9dmbzgz0m K SMNTgds MMTs-
om0 56 Mmmbdsdsomdom s 8.9. 12-gg96 dgdmbggzom oxs-
03905 dsdomnmdom b 3306omdoo. moommgmmo 53 bmdnmgdal
sedommds Gmemns 0.0000003-0b, bmem domn Mommgbmds dgoc-

296l C2 = 21-b. gbodsdaboc,

P(B) = 21-0.0000003= 0.0000063.
mM039 gb dsmdsmmds domnsb dz0Mgs sbyy Bmam(z gfom, abg
d9meg dgdmbzq3dn oxeMn3gdals semdscmmds d0DgMmawm d(30-
699, B3 Jommamngdlb 085dg, OM3 50badbym mggddn 3o@ Mo
MBO™ 3gBow dMm3mbmabos.

89800010 19. »d396 oom, G™3 0gdzgbb sbom dgdmdgmb
3453L 2 dgomo. Ml Mol smdsmmds 0d0bs, B3 dob 34o3b 2 Jo-
modgomon, o) (36mdomos, Gm3 dob 3ozl Lyyem 3mBo ghmo Jo-
modgomn?

38mbLBs. 9rq39b6@) M bromBarmgdams Log@sge Q={bb,bg, gb, gg},
Loy dogo (b) s amam () omegqdamos sdswgdal maowal
dobggno. o Rz9b 30a3Mmobbdgdm, Hmd dndobs s gmamlb ods-
©905 gMmbonMomss dgbadmgdgmo s Lbzosabbgs 533306 bLgbo
©5dme 3009890, 3530b mnmmgmmo gmagdgb@emymn bmdaemg-
30l smdocmmdss 1/4. badngdgmn 306mbaocn smdscmds 04690

P(gg) _1/4_ 1
P(bg,gb,gg) 3/4 3’

P(99bg, gb,gg) =
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8980210010 20. »d336 oo, M3 ogdggbl sbom 39Dmdgmb
3453L 2 d30m0. 9o Mgl 0g396 onbsbgm, Hm3 3gdmdgman byg-
0bmd®s Mo30L gmMmambolmob gMmo. Mol oMol smdosmmds
080bs, M3 dgbmdmob 3gmg dznmmn(z gmambos?

0dmblbs. gmo dgbgozom gL dogomomo 19-ab 3LasgLboo.
0396385 05330639853 aodmMoasbs 2 dndal dgdmbgzgss bb s 3o-
MHMo0m0 dsedosmmds dgmrg M3 gmambos bs aymb 1/3. dgm-
gL 3bMog, 30bonsb Azgb 3amobbdmdm, MmAd Lbgswabbgs dog-
d30L bggbo MY 30gdgmns, sSdsmmds Mbrs nymb 1/2.

ogbbboo Modns of boddy. 3oMggmo 53mbLbs sMslbbmmas. 1/3
oMol semdommds 0dobs, M3 dgbmdgml 3yogh 2 gmambs, Mm(zs
(36mdoemos, MHmd dob 3g4ogb L (3mBo gMma gmambs. bmmm v 3o-
bob3bgm dgdmbgggada Fggb o6 g3xmMdor sbsemmaoy® nbgmmmads-
(3050. Azgb Ibmmm 035 @sgs330M©0m, M3 3gbmdgmo LyoMbmo-
5 7Mbb 39 en 3MZMmbslosh. gl 4obLbzsggds doemnsb 36ndzbgmm-
3960 5 5MLgdoMNS s IMoMbM3L gogoBsMmMMzmMo gemgdgb@smmem
bomdnmgdsms LngMzg, Goms a3Jmbrglb dgbadmadmmds sw36g-
Mmoo MHmam® 06hg3b 33dmdgmo oy MHmIge do333m06 gfmaw Bogs
LabgoMbm. 838 J0Dbom, d3d3L, MmMBgema(s Bnnl 3dmdgmmsb gm-
0o LabgNMbmE a0393900mm DyEs Nbrgbow 3oMb 33maz0. 3530

sbamo gemgdgb@ oty bromdamgdsms bogMzg 04690
Q={b’b,bb",b"g,bg",g"b,gb", 979,99},

boa(s, dsgsmoma, b'g 603bsgl, Hm3 M@Gmbo dznmo dogdos,
boenm 3 (3Bmbo — gmambs o ddmdgmo LgombmdL dogmsb gm-
»oE. o9 ddmdgmo 85333 0MhggL dgdmbggzom, 35d0b ygzgme
9 9396@ oM bromdnmagdsl ozl 1/8-0b Gmeo smdommds. ob-
mo 5g0mo Esbobsbos, Gmd 4 gmagdgb@omymo bomdomgdal
Mmb bgoEBMAL 3dmdgmo amambsbmsb s 8JgEsb MM dgdmbgg-
3090 dgmg d53d30 93Mgm3g gmambos. dgbedsednbaw, badngdgmao
30Mmdomo smdsmmds 0gbgds 2/4=1/2.

8980210010 21. Lobgds dgagds ©sdme 30 dman gMbdzom-
bofMgdoo ™G  3m33mbgb@nbogsb, Gmdgmmogsb mommagymo
R0 (30mboM gL semdscmmdoo P . ndmggo semdsmmds 0dabs, HmJ
LobGgds 0xNbdznmbamgdl 3mMd3mbgb@gdal: o) dndwgazmdbaoma
dg960g60bob; 8) 3aMamgmen dggfogdabsb.
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0dmbLbs. dgdmzamma bromdomagdgdo:
A ={lLol®gd> Fybjiombo® 9oL},

A ={I 33369630 396 J0mbo@dL},

A, ={II 3033mbgbBo &1bJz0mbomgdls}.
35306 o) dg3mbggzedn A=A NA,, bmem ) dgdmbggzsda 30 —
A=A UA, 05 ©353m930096cmmdob godm dgbadsdabo ggodsb:

5) P(A)=P(A NA,)=P(A)-P(A)=p-p=p?;
3) P(A)=P(A UA,)=1-P(A UA,)=1-P(A)P(A,) =
=1-(1-p)-p)=1-(1-p)*

898000110 22 (,39L60I “ 3NXI0NIS BJ). 25 Logsdm(3m doemg-
00 O ,8900609605%, beaemm ©sbomfgbo 20 — 060 bgbogmn®.
Gmdgm LENIbEGL oJ3L ,dgbagfMn® damagmal smgdol dgG 0 ow-
doomds: gob(y 3oMgzgmo 0gdl doemgmb, oy gaby dgmMg aemgdl
doemgol?

33mbLbs. | ®53d0 gb dogomomo 41339 53mzgbLgbocm sdsmmdals
3obognto 3563508 gd0lb asdmygbgdoom. 8dmgblbscm sbms ngo
9 9396@ M bomdomgdsms bogM 3ol sbemgdn@o dgdme@sboms
5 bsdMogmnl smdsmnmdol gm@mImmal aod3mygbgdoom. Babobbsm
dgdmgommo dgdmgan bomdomgdgda: A oymb bomdomgds, Hm3
306M39m3dd bLGYEYbEGs vomm dgbogMa domgma, bmenm B oymb
bomdnemgds, HmAd dgmMg bLEMgbGds snmm dgrbogMa domgmo.
30d0b  (3boos, MM3  YEmogMmgsdmdmaibes  bomdamgdoms
LodEMo3myg Bgagds Mmba bromdomgdabogsb

AN B,Amg,z\m B,Z\mﬁ.

sdommdol 3mabogyo 35635M 890l 0dbobdo
P(A)=5/25=1/5, booenn P(A)=20/25=4/5. 3gmeg 36603, 8m-
(3960L 0655Mb0sb 353m3nbafy, o9 (36mdamas, HM3 3ofggem-
3o LEMIbEIS somm bgbogHn doemgma, 35d0b smdsmmds ndabs
®md dgmeg bBIBEG N s0mMgdl dgbogM domgmb nbgs dgodmgds
353M30m35mMo dmMsmmdalL 3mobogyMo 3sbdomM@gdoor: 53 d43-
obggzsdo yzgms dgbadmm dgogams Mompgbmdes 24, bmem
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bgmdgdbymd gemgdgb@ oMy bmdamgdoms Mommgbmds 3o dbm-

mmE 4 (Mogeb ghma dgwbogfo domagomo 339 S0goMmns) ©o,
dgbodsdobo,

P(B|A) =4/24=1/6.

sBommgon@om, P(B|A)=20/24=5/6, P(B|A)=5/24=5/24

©> P(B|A)=19/24. 5808m8 ™o bmomgdol 658@agmols smds-
Mol gmEMINmob ;mobsbdow a3093L:

P(ANB)=P(A)-P(B| A) =1/5-1/6=1/30; P(AnB) =1/5-5/6=1/6;

P(ANB)=4/5-5/24=1/6 o> P(ANB)=4/5-19/24=19/30
(893603bs30, MHmM3 Rz96 o4 FbmEme LobEmmobsmzgal asdmg-
D359 Y39 dgbadmm 3ommdomo s badmagmal smdsmmdgdn).

boos, Gm3d B=(ANB)+ (z\f\ B). 5308m3 smdosmmdsms
dg36960L 306mbal mebobom

P(B) = P(AnB)+P(ANB)=1/30+1/6 =1/5 (= P(A)).

898910110 23. ymodo M dmEomns, oo dmGalb N ;goons. go-
3mgmo dmdsmmds 0dabs, HMI ymosb mMa dymoonl dndwgs-
MHMdom 36MNBgoal goMgdg 9dmmgdabob: o) 3nMggmo dyGmo
D gM0d; &) gmMyg dMmn M gmMod; a) mMM0gzg d)MHon MgmMas.

3dmblbs. A ogmb bomdomgds, Gmd i-gfa dgGmo mgmnmns
(1=12). 35306 smdommdals 3emabo3nen go6356Egdolb mobsbdow:

s) P(A)=n/m.

306 530b,

P(A, | A)=(n-1)/(m-1) @ P(A, | A)=n/(m-1).
5308 ™3 b633M03mol dSemdosmmball mEMINmalb mobsbdow:

a) P(AAnA)=P(A)-P(A, |A)=n(n-1)/m(m-1).
sbammaoyMo,

P(A, N A,)=P(A)-P(A, | A) =n(m-n)/m(m-1).
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080@)008:
3) P(A,) =P[(A N A)+(A NA)=P(A NA)+P(A NA)=n/m.

89800010 24. yynoob odab N rMs. sedosmmds 0dobs ™A
S0 oMol 93 YRMo0sb gMom-ghmdn Gmmos P -bo. ndmggm
sdommds 0d0bs, HmM3 dyGma oMol 1-96 qrmada, o9 (36mdo-
0o, MM dMon momngmm K Msdo dgbadmagdgmoas agmb msbe-
do6M0 dsdommdgdom?

0dmblbs. A aymb bomdomgds, Gm3 dyGma sGab -0 nx-

530. A oymb 3 bmdnmgdgdal asg@masbgds A=£{A . 306mdols
»obobdo

P(A)=p s P(A | A)=1/n.
5308 ™3

P(A)=P(A A =P(AP(A | A)= p-1/n=p/n.

898510010 25. 35678960l b 36960006 (MmIgmdn(y 36 3oME0d)
dgdmbzq3000 0009396 9o 3oMEL. aobzobomma bomdomgdgda: A
0ymb bomdnmagds, Gm3 s3m@gdymo 3oMmEG0 ,oaMmobss”, bmem
B oymb bomdnmgds, Hm3 s3memadmmo 3060 ,LyMsmnsbos® bo-
M0 RGM00. 56056 09 56 gb bomamgdgdo @edme300090gmn?

(3650005, Hm3 53 dgdmbggzsdo

|Q =36, P(A)=9/36=1/4, P(B)=8/36=2/9 o
P(AnB)=4/36%1/4-2/9=P(A)-P(B).

9-0. gb bmdomgdgdo 55 MY 30 dgemo.

8989LN010 26. 05393350, O™ 353MmMgdm M bomsdadm 3ode-
ongmb. aobzobommo bmdnmgdgdn: A — 3oMggm 3odomgmdy
dmgzos 39680 Jums, B — 3gmeg 308smgmdg dmzoms 39680 Jou-

ms, C — mfngg 3odsomgmbdyg dmbyyem Jymoms godo 3gb@os. go-
356 330M0 53 bomdnmgdgdol @sdm30gdmmdol bs jnmbo.

(36505, O3 P(A) =P(B)=3/6=1/2, beacnn P(ANB) =3-3/36=1/4.
5308m3d A o B bomdomgdgdo 0sdmyyzogdemos.

LIFOEI3I. 3953mbdgo, dmad P(C) =1/2.
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dg3b603bmm, M3 A s B bromdomgdowsb gMo-gGHmols dmb-
©q60b 306mdsdo C bomdomgds brgds 35d0b s dbmeme 35dnb,
B30 96 3oMggm, ob dgmeg 3odsmgmbyg, dgbodsedabo, dmgaws

mbo Jaems 564y 3303L mobogemomdgda:
ANC=ANB o BNC=ANB.

A ©5 B bomdomgdgdaol ©sdmyyznogdmmdowsb godmdwonbs-
g bmdomagdgdo A ©o B o A o B saMgmgg ©odmy30009d-
0o, 5d0@md

P(ANB)=P(A)P(B)=1/4 o> P(ANB)=1/4.
dgbodsdobo,
P(ANC)=P(ANB)=1/4 s P(BNC)=P(ANB)=1/4.

9L mobogomomdgda 3o, P(C) =1/2 semdsomdal gomgamabbo-
69300 603653L, MM M 300gdmgdos A ©s C s B s C
bomdomgdoms Bygnmgdags.

LIFOLI3I. 39odmbdgom, Mmd brmdomgdgdo 26-5 dogsmmo-
00036 56 50l gOHNMEMn3z5© ©odmY) 30 dgma.

8980LN01N 27. 053990350, 398309060 bLod Imbg@ob. dgdmgo-
Mo bmdomgdgdo:
A — 3of3gmo s gmeg 3mbg@o @og(3d ghma s ngogg Abamgdy;
A, — 3gmg 5 dgbadg 3mbg@o g (30 ghma s ngogg Abamgby;
A, — 3oMzgmmo s dgbadg Imbg@o og3e gfmo s ngngzg dbamgdy.

sg30mn  dgbodmbdgdgmons, Mm3 ofgesb 6560b3ngHa ™o
bomdnmgds @sdme3009069mns, bememm badngg ghmo ©edmgnwg-
0, 30650@sb 09y Rzgb 339(3m©0bgds MmA dogomoamaw, A ©o
A, 3mbs, 35306 R396 b ow g030m, HM3 A, sa3Mqm3g dmbs.

LIFOLI3I. dgodmbdgom, HmI bomdomgdqgda A, A, o A
bygom-Byzomor @3myz0Rgdgmos.

8080&N0IN 28 (X30RISNL RLIIE D). 303m3mM0or 5ddMES
030bs, MmI 3mbzMgGmmoa bzmmol 150 dmbBsgmowsb gMhma do-
0b(3 @adogdmmons dmzgdnem BodbomMgdnm mgl, dogsmoms,
30639 by @ gddgmb?
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5dmblibs. dgdmgammm bromdomygdgdo:
A ={i — 160 L9600 sdswgdamos 109}, i =12...,150;
A = {5600 35063 150 Iy 00956000 b @odomgdamos 1.09}.
Bsmgmns, Gm3 A bmdomadgde gEmmBmogs@ @M j0@y-
Bgrmos > P(A) =1/365. gofies sBobs, A = s A, o, 3s3s-

Losdg, Lodmgbgmos @odmy3nEgdgm bmdomgdosms asgMmos-
69d0L smdscmds. goszogm bobnbssmdmgam bromdnmgdsdy ©s
30b5Magdmmm g-3mMasbols 306mbom. 35306 g3043L:

150

P(A)=1-P(A) =1-P(UA) =1- (1 A) =1-P(A) - P(A)).

5300900033 P(K) =1-1/365, o9 30batgqgdemgdo bon@mbals

30bm3ab gm@EInmom (1+x)" = Z:anxj , 30300900, MMA:

i

150 1 1 1
P(A)==—-C2 (=)*+C (=) -CL, (=) +---
(A) 365 150(365) 150 365) 150(365)
306500056, 150/365= 0,41, beeom

1., 50,1 (0,40
Cholom) < (i L 04D

= <0.005,
365° 365 24 24

5do@m3  3b3Mngal b0dob(33mmomdol  aodm, oY) gowszegmgdm
36 36030L B93698L obygdmemn 39-5 B3M0sb (36 3603980L bmgs-
0 MgMEN0sb 3538m3nbafyg), 3gbademgdgemas 3888 30(3mm, Hm3

2 3
4", ©O4D - 6.41-008+0.01=0.34.

P(A) = 0.41—

80800010 29 (L6 III0NILLIL IIHRIEZS BI). Fe(39349m0ds M mdo-
99480 350sbmdmamo Masbggdom 12,...,m, s3sbmsbsogg obyg, GmI

3mdzom, mdogddo 1 3mobogaizafogds Gmames ,boyzgmgbm®,
ey 009980 M 30 Bmam@(3 ,9439madg oMgbo”. ogmmobbdgds
6md mdogd@&gdo dgdmeol @Mmalb dm3g6@89ddn 1,2,..., m dgdmbgg-

3000 M0g00 (5697 yzgmes dgbodmm M! aosbs(3zmgds Gmma-
o Mng). 058333063989b dgmdmos mMn domgsbals dgomgdom
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0 3oL Mm3gmos 939mgbo s MmM3gmaoa omagbo. Lagomms Loy 3g-
ogbmb dg@hgzs 03 3omdbdoon GmM3 mdogd@&gdo BoMdmnoanbgds
Lomomome ©s 39390l ©adsbbmgmgds bgds ©sd33060-
3960l dog6. 56 dgadmgds Lo 39mgbme dohbgem 0gbgl ob mdo-
9380, EM3gmoi 053306039090 Mmd0gd8gdnsb gMmbdg 35063
9o6Ogbos o6 GmBgeroi 9339 0dbe V303RIIImo. Fodzom, @8-
33063989m3s mdogd@o dgomhos K-a6 bodoxdg (K<m), by
OMZamngfMgdmen Mmbngd@gd0wsb ¢ 30bsb3bgmo smdmhbrs y39-
™o B0body M3909b0 s 8d0@md dmbrs dabn dgMhggs. Mmammos
ddommds 0dabs, Hm3 s3mERgmn mdogd@o 0dbgds Loy zgmgbm
dogmo ghomdmomdoesb Mmam 1339 asbbomym, obg xg®

30093 3obmboemsg mdngd@gol dmealb?
0dmblbs. dgdmgommm brmdomygdgdo: A oymb bomdomgds,

®md K -M0 mdogddo bomigmgbmes yzgmes s@bgdgem M mdogddb
dmEob s B agmb bom3amgds, ®m3 K -6 mdogd@o bayyzgmgmes
©5330039099m K mdogd@L dmab. goboggdos, Gm3 dmbadgdbos
30Mmmdomo semdsomds P(A|B).
306500006 AcC B, 530@md ANB=A s P(ANB)=P(A). d3-
Lodsdobo, 3oMHmdomo sendsmmdols 3ob6domB gdals Mmsbsbdaw
P(A|B)=P(A)/P(B)

300000056 Mb0g98gdab yzgmes dgbodmm gomsbs(zzmgdgdo Gm-
momd30Y)M0s, 3308mMd smdscmdal 3maoboinma 3563568 gd0b

®obobdo® dgz0mo obsbaobns, Hm3

k-1! 1 3
@ k% PWE
dgbodosdobow, P(A|B)=k/m.

LEOSB9a0s. dgodmgds o3 Fo(3EgL, MM Lowzgmgbm mdo-
9980b 83mERg30L M3GndsmyFa LGB gans Fmbymdoeoas d4q3-

(m-1!_1

P(B)= m!

©9ab50Ms. 930b036ma Laddmemmo m” abgomo ba@ Moo
03630, OMImabogobsy bodsMmmasbos @ memmds
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bomzg09b0r m309980b omb930L m3Godsemaymo  bgmodgsns
g mdstrgmdlb 0dsdn, mmd @sgs330M@900 @5 7793580M0 3039~

o m —1 m309580 @5 d9dwys do358MA9crmor o 35003985 0bgo
T 8md9bB5dwa, Bmrze So@zaemo 898mBbrgds yzaems 60653me-

39029 95999b0 m3oggBo-
dogsmomoe, oy M=1..,10, 35306 M -ob 39Lodsdobo 3603-

369mmmdgdos:
m 1 2 3 4 &5 6 7 8 9 10
m-m3@0dommo 1 1 1 1 2 2 2 3 3 4

Logdome oo M-obscmgal m ~m/e (Loois & = Bg3960b
036300, €=2.718) ©s Lozgogbm mdngd@ob sMhgz0lL semdscmm-
35 osbemmgdom Gmmos 1/€=0.368 (09330, ghmo dgbgmzom,
d16gdMng0s, Ima3hggbgdmes, GmM3 gobbobomggmn mdngd@gdab
M GomEgbmdal BOsbmsb gMmsw, Layyzgmgbm mdagd@ ol s@hg-
300 omdosmmds Nbws Bobymoym Bymobosgzgb). g. 0. boyz9096m
m309980b ombgz0L m3Godseramo  bEmoGggns dogmdsmymadl
0dsdn, mmd mbws w3m3580Mm M30958900b Logmorm @Homawynbm-
30l @osbemmydno dabodgmn o d9dmyg sgombomo Jomzgemn obyg-

o0 m309580, BmIgemory y39cms 606589 39009b0s.

01030 IV
LEITN IR3301MB3OL BMEHIIRO.
3963J3M&J3N010 GRJISN

boaemo sendoomdols gmmdaems
bomdomgdoms ghommdmomdal A A, ..., A, gbmogds bmdo-

mgdoms LEymo LobBgds, oy A NA =0, Gmzs 1#] ©o

EJIAI =Q (ogomomo, A ©d A).

o ALA,,..., A bomdomgdoms bEmmo Lob@gdss (P(A)>0,
i=12,...,n), 35306 sgomn 343L LMo sSMdsIMBol FMEImEsb:
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P(B) = X P(AIP(BI A).

Bo09bob gmmdaymo

o ALA,.... A bom3omgdsms bLmmo LobEgdss, P(A)>0,
i=12,..,n,3530b s0gomo 543L ds0gLol gm@Igmals:

P(A)P(BIA)

P(A|B) =< .
> P(A)P(B| A)

80689mmgdoma (300980. 89Hmbamamals gmmdeems

aobgobommo gMomo s 03039 94b39M03gbEgdal bgMos, MmAI-
9303 GoMEgds gMmo s 03039 30Mmdgddo gHmdsbgmabogsb
©3mg30Rgdeor. 98sbmobogy, gmagm 3mbiMgdae gdb3gmo-

396@30 hggb gob3obbzozgdm dbmmme MM dggab: goMzzgmmo
A bm3omgdolb dmbogbs (Hm3gmbsz Sommdomowm ,bsM3s@gdsb*

MBbmgdg6) o 8obo o6 Imbrgbs — A (Mm3gmbss 486 36L* @bm-
©9%96). A bom3domgdal Imbogbols sedsmmds bgdabdngmn g4b3g-
0d9b@nbomgol 3y3ng0s s Gmeos P(A) = p, borsi 0< p<1.
39bodsdobo, P(A)=1-P(A)=1-p:=q (p+q=1).

smdommdal 0dobs, Gm3 N gJb3gM0dg68dn A bomdomgds
Imbos K -xgM godmomgmads g. 6. gMbymal gm@Gdnmaoo:

n! K n—k

P(k)=Cyp“‘q"* = q

“Kn—kn "
535L0bsgy, 50300 593L Mvbogsmomdsb:

Pn(k+1):%ﬂ(k).

smdommdgdal ghonmdmomdsl P (K), Gmiss k=0,1,...,n gbm-
©985 3mMd30mdgdals bobmBosmeyMo gobsbomgds.

abgo K, Gobsl, ®m3mob dgbedsdobo sendsmmds P, (K,) vwo-
©qbos P, (0), P,(),..,P,(n) omdocnmdgdl dmEnlb womdsmglbo
Mo3b30 gbmeagds. Momdasmgbo Mosbzo a30h39690L N odmey30-
909 (30830 BoM3s@qdoms Mo MamEgbmdas yzgmedy ycm
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dmbammebgmo. omdsmgbo  Mozbzo boMdmewaqgbl dgdwgan
DGMemdol doge 53mbablbbb: Nnp—gq <k, <np+p.

390 bmbols ggmmdaems
MobogaMmMbal |in1 p,(K)=2 e 7k! 3mobmbol gm@GInmo
np—

96m@ads. ngo Ladmomgdsb ndmyggs 303mzmo N O3MY)300qdg
odn A bomdomagdol K-x96 dmbogbol semdsmmds (GmEs N
Logdome @oEns, bmemm  p bLogdome 3dzoMy, odsbmobsagy
np =1 <15) 3530LmBob dosbmmagdomo gm@Gdnmom: p,(K) ~ e k!

od m3dn £396 d939693000 S0mm3ncm0 sendscmmdnb godmygbgdnl
gmo-960) bodz690mmz56 53958 b. dotomswo nwgo drogmdsmymdl
085dn, mmd mmagboz oemdoscmmdol godmmzens Sofmwodnmn g doo
bsg8sme dbgemns, Jsdnb dgbodemgdgcmos 3mmdemgdolb goymaps obgo
Jgmdm d9dombzgz9300, bswsry 3ommdnomo semdoomdgdo swzoemn
3odmboomgengerns. 3ogomomem, ©ogMadzsm, MHmd mdzgb yowyy-
mmdo bobdom og&mImdaenl doemsgdn, bowss Jnhgdol @o@dmmgs
»o3Lb3s 6303980L dg8mbizgzeda RzgmmgdMogo 3Gmdemgdss. mg3gb
0300, OmM3 bobdomMa s3@mIMdamgdalb @osbmmgdom 5% sy wo-
B05b6g8mo nym Bysmmomdal godm s LB3g30omab@qdol dggs-
Lgdoom sbgoma 538mImMdomgdols 80%-b dmdsgsemda q469ds dMagol
LyPomDama 3MMdmgdqdo, bmem o9y bobdsmn v38mMImdaemgdo
SM7 56 04m D06y mo Bysmoommdol gsdm, 35306 53 538 m-
dmdomagdol dbmemme 10%-b dgodmgds d994365L sbosmmaamo
3mdmagdgda. Mol Mol sendscmmds ndobs, HmM3 0d3z96 s3@™Im-
domb 3ma 305696000 399436908 dFogals 3mdmadqdn?

53 bo@o300da (3bowons, Hm3 hggb dgazodmos gedmgmgammo
smdosmmdgdn mMngzg gobbbgeggdmem dgdmbizgzedn: Bysemmam-
300 ©8D056gd M s 8 D0sbdgm dgdmbizgsgddo.

30639 Mngdo dg3bgomo o3 sdm(30bsl 3MIM3mM (300l mgam-
LaDANLOM. ymzgmo goyommo 1000 s3@m3mdoemnsb 50 sfals swo-
69 bysmmomdom sb0sbgdmma s dsmn 80%-b 56 40 538 mIm-
doeb dmdsgomdn g4bgds dMagol LyMomdyma 3Mmdmgdgda. 950
33@™M3mMdagmn 5Myg oM nym bysmoomdnm @obosbgdmmo s dom
10%-b o6y 95 o38m3mdamlb dgodmads dgg4dbsl  sbogmmanmo
36mMdmqdqd0. 3qLsdsdnbow, h3gb 30gdmEmdo bime 40 + 95 = 135
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53@™M3mdoeml 1000-@sb s smdosmmds 0dobs, Hm3 dmdsgsmdn o3-
&mImdoel dgq43bgds 30IMbrmgdgdo ndbgds 135 : 1000 =0.135.

09) 39dmzg0mgdor bmdomgdgdl: B ={bysmmonmdoo @obos-
6gdnmo} s A={s38m8mdamlb 35q369ds 3MmMdmgdgdn}, 35306
3bsbgo, dm3d P(A) =0.135. dgmegl dbfng, (sbowons, Gmd P(B) =0.05,
P(B)=0.95, P(A|B)=0.8 > P(A|B)=0.1 ©s R396 809/ g58mo-
300 5dsmmds God@nmdmnga otab 0.8x0.05+0.1x0.95=0.135.
mmgmey 3690530 bodngdgemo sendoomds bsmdmowgnbl mmo g5b-
bbzoggdacmn dgdombzgzob (6yscroomdoo s bnobgdacemn s wow-
b006989070) 5emBo00m389380b dgbmbocr bodmscrmb, bswsy 6mbgdo
om0l 88 dgdmbz93980L dgbsdsdobo sendscmBgdo. gb dsgoemrnon sb-
@96 breyemn oendocmmdolb doernsb dbodzbgcnmzobo ggmmdoemols go-
Imy96930b oeneb@momgdol, mmdgembsey j90mdm dgdmbzggzodn sg3b

d9dwggn boby:
P(A) = P(B)P(A|B)+ P(B)P(A|B).

898020010 1. Lodyzosb ,Ls3dMdmm® Fgdmbggzom gomgdom
M sbmb s dgdwga dgdmbzgz0m 300gdm 99356 83 SbmgdlL (3oM0gm
030 gddg. Mol MMl smdsmmds 0dabs, Mm3 abgs dognmgdm
Lodysol ,Loddmdemm®.

0dmblibs. gobgaboemmor mMo gobbbgegzgdmmo dgdmbggge: 1)
sdmegdymos mMogg ,m", Mmdgem dgdombgggzedoy 6gdabdogmo
3Mbgdobal Boomgds Lo@yzs ,Loddmdmm™ s 2) s8memgdmemons
bbzoabbgs sbm, Mm3gm dgdmbazgzedaz Lo@yszs ,Loddmdemm® do-
00905 o) sbmgdalb dMMbgds Imbrgds dsm bobynlb gdsmgm-
35bg. (3bowns, HM3 gb Mo dgdmbggzs godmmnzbagl gMm3sbgob
o 8dmbyMoglh yzgms dgbadmgdemmdgdl. dgbedsednbawm, LEMmO
sdosmnmdol gm@m3Mmolb go3mygbgds dgbadmgdgemos. gmgdgbge-
e bmdamgdosms bogfmsob DbGoe smbgfmol asmgdg Aggb
dgag0dmos 3063356 mo bomdamgdgda:

A={doomgds Lodygs "boddmdenm"} o
B={m&o0gg obms "m"}.

(360005, ®m3 P(A|B) =1. o0y sbmgdn gobbbgezgdmmaos, 35306
abobo 930560 dydaMgmdal sNdMMbogds semdsommdom 1/2,
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obyy P(A|§):1/2. Mo sbmb dgMhggs 8-06 dgbadmgdgmos
Ci =28 Lbgosbbgobootsew, GmIgmms dmeol dbmmmeo 9o
dgdmbggzado dga3b309ds mMa ,m". dgbodsdobow, P(B) =1/28 wo

P(B) =27/28. 5308 md, bLodmmmme a394090s:

P(A):ixl+£x1:§.
28 28 2 56

dbxgermdob gb g3 s bdnmsw bozdomobos sdmzobol sdmbblbbg-
O @O 0I25ROMYEDO@ 080 7350056 335300293 9e79dgbE oYy
bomdoengdoms bogmzob dbow o3980b 36m;g00@sb.

8989100110 2. o 3950L 308mb 35630056980l Habzo bodm-
350mME ©336emmgdoo 0.1%-0s, beaenm 86939mgdL dmEal 30 0.4%.
(36mdomos, MHmM3 Imbabrmgmdal 20% dbgzgmos. Mol Mol oem-
dommds 0dabs, MM oM036939mb a5693000M©gds FomEB3z960b
300m?

0dmblibs. dgdmzgomme  bomdommdgda: A= {gsbmgometimgds
308m} o B={3b6939mo0s}. Lodngdgmoas 3ommdoma semdoscmmds —

P(A| g) . 93mM (30600 306MmMbols mobobdow 33543L, HmA:
P(A) =0.1%:100% = 0.001, P(B) =20%:100% =0.2,
P(B)=1-0.2=0.8, P(A| B) = 0.4%:100% = 0.004.

dg30&96mm gb dmbso(3939d0 LEMma sSEdsNMI0l BmEIMsdn
5 040056 53m3zbLbbom bodngdgmo 3oMmdoma semdscmmds. a3o73L:

0.001=0.2x0.004+0.8x P(A|B),

boosbacs P(A|B) =0.00025.

8980LN0NN 3. 354300 M0 YOI S SM-300 (39(M0 3530 S
g dgEma. Hmam® Mbos gossbsbomma dnfmmgdo ymmgd-
do 0bg, M3 3ogLodsEHn agmb semdsmmds 0dobs, Mm3 3gdmbgg-
300 d9Mhgmmo ynmosb dgdmbzgznm s3mmadsymo dnmon ndby-
35 ;mgoo.

33mblsbs. dg3mzammo bromdaemgdgdn: A={sdmmgdmmos mgmtin},
B={396Rgmmos | gnmo}. 35306 dnFmomgdals assbsbomgdol d9dwaa
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Sdommdals  asdmgomgmom  bEmn  semdocmdol  gmmIymao:
P(A) = P(B)P(A| B) + P(B)P(A| B), boscs P(B) = P(B) =1/2.

a5630b60mmo bodo dgbadmm dgdmbggge:
1) 960 ynoda Rogomo m03g dnEma, 35306 LEmmo Semdos-
oMol mMINmob msbsbdow dngomgdm, MmA:

1,10 1
P(A)==-(=+0)==;
(A)= 5 (20 ) 2
2) moomgem ymdo gabzsmagbmo 10 dm@on. 9o ymodo Rog-
Mo N mgodo dgtmomo (0<Nn<10), boaenm dgmegdo 30 10—n ogo-
&0 dnEomn. 35306 bLEMmo sendosmmdals gmEmInmol ;msbsbdsw:

1,n 10-—n 1
A) == (— ==
P(A) 2(10 10 ) 2’

3) 9600 yodo hogomo 10+K (1<k <9) dgmon, bmem 3gmeg-
do 3o 10—k dnFomo. 30639 ygoda Rsgomo K+n (1<k+n<10)

Moo @m0, bemem dgm@gdo 30 10—-K —n ogoo dg@omo. 35306
LEMEo dSdsNMbOL BNl Mobsbdo a3543L:

1 k+n 10—k—n n n
P(A) == = -
(A) 2(10 k 10-k ) 2(10+k 10+k 10—k) 2(10 k ),

Lo 13960b3bgma YGmmmds doomgds 0d Bog@nsb, MHmA

n n
— <
10+k 10—k

o) sbems 30boMagdmade msbogsmomdbom T%lot—k 199

35306 ognbobogm, MmI smbodbye dgdmbggzsado P(A) smdbsom-

30b mo©gbo 3603365mmds 0gbgds

1 14
T (=41 =
2 X( AT

ym39mo39 bgdmor 0gdmomsb 3odmdmnbafyg 3oL 33600, HmA
bodngdgmo smdscmmds 3ogdLodsmy@n 0dbgds, MmEs 9o ymodo
dm3zom03Lgdm 19 dy@al, GM3gmms dmEab 9 ool mgoto, bm-
mm dgmegdn 3o dgbedsedabae dbmmmme 9o mgo dy@mmb.
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dg3b0dbmm, Mm3 gl smdsmmds dobodomyyMo 0dbgds, Hm(3s
™m(3039 d9Onb dmgomagbgdo 9o yyodo.

94399mo h3qb dmgzoyzebor gfom 3oM@ng dogomoml bomsdsdm
3o8ommgddg, Mmdgmda(y ghomo dgbgogom 01390 o6 1bos 3 Jmb-
90 930658gbmds, Jogcod bobsdgamgdn gb sbgs.

8980LN0IN0 4. 3563060cmma Lodo bomsdsdm 3sdsmgmo A, B
o C, ®mdgmms bobboggddg dgbodsedabaw Bgmns:

3odoomgmo A:1,1,5,5,5,5
d‘)aomUQm B: 3’ 3’ 3; 4,4,4
3odsomgmn C:2,2,2,2,6,6

53530 3030bsmgmdl dgdmgabsntaom: 0396 o mg3q60 dm-
Boboomdmgag @gdo momm-momm @Ml s 0396 ®o35bmodm
dmBobosmdogaglh s0MRomb Lamsdsdm 3odsmgmo o gosgmEmb
0g0. d93amd 0g396 oMhgzo ghm-gMob oMhgboma 3odsmeg-
d0sb @ dsgmmgdom dob. Imgqdmmos ol gobsy dmygs YRGm do-
moen Jams. momngmb 0g396L 3mbabssmdmgagb asshbos m3ame-
&gbmds, 306500006 0gn 30Mzgmo nMhggl 3odomgmb. dogmed, Mad-
©qbo©s(3 mg39bmz0L (36mdomons dobo sMhggsbo, ymzgmogal dg-
a0dmosm abg dgamhomom 3magdals semdscmds, Gm3 ab 3980 ngmb
1/2-%g. gb s0bLbbgds 393mgan aofMgdmgdoo: bomsdsdm 3odsoemg-
b0 abgomns, ®m3 A 3080mgmdg Lodmsmme 3g&o0 Jams Imeab
300009 B 3085mgmbg; B 3985mgmbg bodmsmme 3g@0 Jmmes dm-
©ob 300069 C 3985m9mbg s C 3030mgmdg Ladmsmme 3980
Jmmos dmeob 3oMmg A 353s0gmdy. Jomma(s, o 5360dbsgm
0aMgm39 bomsdsdm 3odommgddg dmbaem Jumgdl dgbedsdnbaw
A, B 05 C sbmgdoom, 3530b (3bsns, Hm3

P(A>B)=P(A=5)=4/6=2/3,
P(B>C)=P(C=2)=4/6=2/3,

beenm 39bsdg dgdmbzggzobsmzal g30bsmggdemmo LB se-
3500md0b gm@Imoo:

P(C>A)=P(C>A|A=1)P(A=1)+P(C > A| A=5)P(A=5) =
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1 2ipcogetit 1,25
6 6 3 3 3 9

mmgmey 369wog:m, yz9cms gb sendommds bobgzomdy dgdoo.
gobogndos o 07635 dgmmy 8odzmmndemol bgmodggos: o) oy
Bomzcm0 sombggb A j0domgeml, dodnb dymmgd abos smbomb C
Jodomgemo; 8) ooy Somzg9cmo somhgglb B jodsogenl, dsdnb dgmegd
@boo smbomb A jodoorgemn; 3) oo Somzgcro sombgzb C o o-
Jomgeml, 85dnb dgmmgd mbws smhomb B j0ds;mgcmo. domoscerns,
000 mb 07396 doemnsb gaerabao bomor og3960 Mm3MmbybGal Jn-
Jomor odemggor Mo dob mpemgdols googgmmb 3omzgemo smhgz560,
dogmod bLbmmgw dobo ombgz0b0b (30m@bs godemgzo @30Msdg-
bmdsb.

bobgdMo nogMmeds boMdmowagbl LEMma semdosmnmdol GmM-
Inmolb ommbEmacgdal Lowigmgbm badmemgdsb. of ymggmo
a5bbbzoz9dmma dgdmbggzs Bomdmnpanbgds bob Gm@ob Lobom
5 aMdgmegds 35653 LoBS3 of oaqds Rzgbomgol Lonbdgmgbm
©3gd0mn 8b Yomymanmon 3sbybo. mommgmem g563@mMgdals sem-
dommds godmamgmgds dobo GmBgdalb dgbsdsdabn semdscmdgdal
3033Msgmagdom, bmmm bodogdgmo smdsomds donmgds gob-
d@mgdgdol  smdosmnmdgdal dg3Mgdom. J3gdmo  dImyzsboemas
5) dg3mbzgg30L dgbodsdobo bobgdMo @nog@meds (gboMmmaMmads):
C=2

Boggdo

dmagdo

dmagds

89801010 5. (e gfmbonfo yonEsb gfmdo dmmagbgdemos
a 0go®o s b Jogo dmMon, bmemm JgmEgdn 30 C mgoo s d
dog0 d@mo. mommgneo ymosb d93mbzgzom 0wgdgb momm
Sl s 9003b5396 dgbody ymmdo. ndmggom dSemdscmmds adaby,
md 530b d93gg 3gbedg ymmnEsb s8megdymo ghmo dufmmon -
69ds mgmo.

63



0dmblbs. dgdmgommoe bomdammdgda: A (i=12) — i-go
yno0sb s3mmgdymo dmmn mgodns; B — dgbedy ymonwsb
sdmegdmo dMomo mgmmons. dgbsdg ygomda dgbodmagdgmaos se-
dmhAboglb: mMo ;mgmfn dnMmomo — bemdomgds A N A, ; 9600 ogo-

0 5 gfmo dogo dnMon — bomdomgds (A AA)U(A NA,) 6
Mo dogo dnMon — bomdomgds A NA,. aoboggd0s, MM bomdn-
m93980 A NA, ANA, ANA ©> ANA, §860b bemdomgds-
0o LEMYm LobGgdsb. sm360dbmo gb bromdomgdgda dgbodsdobow
H,, H,, H; 0o H,-000. (365000, 603 bmdomgdsms Bygzomagdo

ALAG ALA G ALA @ ALA, ©38m9300939m0s. 580@m8 33573L:

a c

a+b'c+d;

a d b C b d
PH)=—2 % . pH)=— % . PH)=— .2 |
(H.) a+b c+d’ (Hs) a+b c+d’ (H:) a+b c+d

P(H,) =P(A N A,) =P(A)P(A,) =

a5Md 530bs, (3boos, Mma: P(B|H,)=1; P(B|H,)=P(B|H,)=1/2;
P(BIH,)=0.335bs3530bog, LB sdsmnmdal mEGMmals me-
bobdo, 3mgdmemmdon:

a c a d 1 b c 1 2ac+ad +bc
. 14+ . 4 . —t+t =

a+b c+d a+b c+d 2 a+b c+d 2 2(a+b)(c+d)
3J613360. 0g039 046905 demdscmmds 0dabs, Gm3 dgdmbazgzom
dgeRgmmo gonesb dg3mbgggnm sdmmgdnmo dnMma mgomtos.

P(B) =

dofmmma(3, 30b50@sb 83 dg3mbgzggzedn bomdamgdoms bLEKmo Lob-
&gds 046gds: dgombs | yyomo (s30603bmo ob C,-0m) o6 dgomfis I
ymoo (0306036mm ol C, -0, (3bswons, ®m3d P(C,) =P(C,) =1/2),
5308 m3 LM dSEdsNMI0lb FMAINms ggzodmasl:

P(B)=P(Cl)P(B|C1)+P(C2)P(B|c2):%.[ajb+Cid _ Z‘Z(ZC:b??c:C)'

/ NYOM0
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64 g0
I <
dago




dmgxnm h396 83F0mmgds IMmogormxgmomo Sommdnomds. 3s-
aomoms, P(A|B) 3oMmdoomn smdsmmdbols godmbomgmagmoa dg-

0dmgds dmdsgamdn LagnMm asboglb asmzzgmmo C bomdomgdal
306mdodn dmdomds. 30600006 30Bmbdomo semdscmmds s3Mgm3g
Sdommdds, o dbommn sMogghns, 353Mad dgbodadobo LEMmO
3md50mMdol FMOINMS YRO™M Moo godmoynmgds. 39Mdme,
3300 543L MobogsMMAs:

P(A|B)=P(A|BNC)P(C|B)+P(A|BNC)P(C|B).

89800010 6 (LNF3LII6NL 30HIRMILN). S 3emals YboggMLodg-

&ob g9bgGmmoa 8030l 33mg393dn dg60dbyem 0dbs, HM3 353900
DRBOM 9@ b30gd056 MJGMEbEGMEmsdo 306 Jomgda. ge-
0 bemob 3990ga @md@mEsb@cedn domgdmm ndbs o35 3539500
45% o Jomgdal 30%. 353aman 33mg3980Lsmz0b dgoMhbs 6 o-
©0 9603900 9G0 S PMJGMMSbE NS ES0YM MM 35E&JaMM0S®;
»306 030" s ,M0mo® 030l Jobgogno Lo YBG™ sEz0mos ©S
Lo yMm dbgmo EmJBmMEMbE MM Imbggoms. 5mdmAbws,
Gmd ,Oonm” 398 93mM05d0 RsaMosbs 303838 35(3900bs s Joemg-
30l asbmmgdom gMmn s ngogg — 26-26%. 5308 m3 go@abms 3o-
(3900L Lobomggdmme (3boos Mbos ymgamoaym dgmeyg (,do6M-
&03%) 398 9a3mM05do. doaMad ,35MG03" Jo@gamGnsdn Rotosbmem
0dbs domagdal 80 % o 35(3980L bmemme 62%. dgbodsdobo,
Lomas Mbos nymb dg3mds. J393mo dmyzsbomns @md@mMab-
&0l 3mb3nEL3n dmbsbormyg (BMARbomaddn) s RsMosbmma 3o-
(3900b5 @ Jomgdol Mazbgo 3o@gammMogdal dobgogom:

3530 Jomo
»35MG0g0” 864 (1385) 106 (133)
w0 mo” 334 (1306) 451 (1702)
R530 (2691) (1835)

65



a5630bommo dg3mbggzom dg@bgmmo 3mbgn@mbobdon. A aymb
bomdnmgds, Hm3 3mb3n@mbob@n Rsnfnsbgds md@mMebEmmado,
bogmm M o W — dgbodoedabom, 3mbinmbobGo 3o0 @s domos.
»OOm0” © ,35M 030" 39&gamMngdn 5¢36036mo dgbedsdobaw D
> E osbmgdoo. (36mdamos, Gmd P(A|M)=45/100=0.45 oo
P(A|W) =30/100=0.3. 9gdmo dmygsboema (36G0emasb hobl, Hma:

P(A|M A D) =334/1306 ~ 0.26, boeme P(A|M AE) =864/1385~ 0.62

QO
P(A|W A D) =451/1702~0.26, beogne P(A|W N E) =106/133~ 0.80.

Mmam (3 3bgosgm,
P(A|[M nD)=P(A|[W D) ©os P(A|MNE)<P(A|WNE),

dogmsod P(A|M) > P(A|W), 5693 hotnzbzol domMmdoomn smmdsomm-
3960 Jomgdobomzol mMngg 398 9ammMnsdns ngoggs ob yMm do-
MO 30Mg 39(3900Ldm30lL, 35306 Mmegbsi o@gammagdol
250937 RoMosbz0L doMmdomn smdsmmdgdo Jomgdobomgals ma-
M 3050, bomgmos, Mmd od dgEm3s o oMnb, dogmed gb

RIO 30093 35dIMnyg)Mgds 3oMomJbomMma. o3 Goddnb sbob-
LEgmo® goboMmagdmmo bLBYmo semdsmmdal Bm@IYmoom SoMm-

3000 dsdsommdobomgnl, MmImalb msebsbdow:
P(A|W)=P(A|WND)P(D|W)+P(A|WNE)P(E|W),
P(AIM)=P(A|[M D)P(D|M)+P(A|M NnE)P(E|M)

o 3bggdom, Gm3 ,60bssm3gamdob® bagmdggmos doMmdomo

smdsommdgdo — P(D|W), P(E|W), P(D|M) oo P(E|M), bowsgs

sbabmmos o9 MmamE 06Rg396 393900 8 Jomgda Mmoz305bm 3o-

&9gam®098b. smdsmmds 0dobs, MM 3530 v0Mhg3L G ©s

»306803" 3@ gam@nsl 500l dgbodsdobog:

P(D| M) =1306/2691~ 0.49 > P(E|M)=0.51,
boenm Jomgdobsmzgol dgbodsdobo sendsmmdgdo ngbgdes:

P(D|W) =1702/1835~ 0.93 s P(E |W) ~ 0.07.
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03330600, Jomgdo momgdab ymggmmgolb oMhgzab ,Hogm®
39&9gamm0sl, 35d0b Mmegbss 393900 @osbmmagdom gMmbsnMaw
06Rg396 ,Eonm® s 30608 03" 39&gamG0gdl s LEMMgm 83sdn
damdatgmol 3omamdbol sdmblbe.

obems 3obgnboenmor Lo osizns, Gmezs (36m3oerns Jommdoon
oemdommdgdn gmon dodstmormemngdno s godmbsomgengemos ,dgd-
@969390m0 " 3ommEomo sendoomdgda. dgbododol dgwmggl bomdm-
0@396L 3s09b0b ggm@dyems, mmdgemory doowmgds bsdmogerol sem-
Bocmmdnbs o bEmwemn semdocmmdol gpm@dmemals 3odmygbgdoor o
mmdgenbors 39Mdm dgdombzgz0do o336 boby:

P(BNA) P(B)P(A|B)

PBIA) = P(A)  P(B)P(A|B)+P(B)P(A|B)

89850010 7. Lozyob & gdGmMo (3mmoaMagn) 95 % dgd-
0bg935d0 ndmggzs BybE 3obybb. (36mdomos, HmI badmsmme ym-
390 500b0 8@330sbnEsb gMmn (3BMMAL. asbzobommor 3d43-
obggz00 dg@hgmemo s@sdnsbn, Mmdgmai gowal G gbGomgdsl

©9&9d@MM 1Y s MmMIgmbas gomabyzg@&omo o43L azGymb. Mab
M0l smdosmmds 0dabs, M3 ©g@&gd&mcn smdmahgbl, Mmd ab

(3mdb?

03mbLbs. dgdmznmmoe bmdnmgdgdo: L={swsdosba (36rmmal},
Lr={0989J&™c3s> @sos0306s ™3 s@sdnsba (3GmaL}. s8m3960b
306Gmdol msbob8s P(L) =1/1000=0.001 o P(L,|L)=P(L,|L)=
=95/100=0.95. badngdgmos 3oBmdocmn smdsmmds P(L|Ly), Gm-
dgma(3 6509L0b BBl MSbsb3dE 0dbgde:

P(L)P(L, | L) B 0.95x 0.001 5
P(L)P(L, |L)+P(L)P(L, [L) 0.95x0.001+0.05x0.999

P(LIL,) =

smdommdol mgmns aobbasgmommgdom bdnMow asdmoygbgds
bodo@mmambamdmgdadn, Mm (35 88 30(39090m9093d0 GognEoMgdl
55305600 ,063%. 35b30b0mmo g. b. 39bdmmal 5dm(3560.

8980LN01N0 8. (JI6d IZNb H8MBY6Y). 31mbdmby dmzmgl swo-

d0sbo s 333mgmo 1bs aymb 39bdnmal smhgbomo N dsbmg-
960056 9Mm-gMm0. 36535l saomol dgbBagmabsl go3g-
0 gdmm3ds ,63“-b 8bomnDdds 5R396s, M3 3 33mgmb goshbos gob-
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Loggo®gdymo g9bm@odn, Gmdgmoars (3bmdomos ©s dmgem dm-
Lobmgmdadn ga3bgegds p 3GM3mM(30000. goggymobbdmo, Gm3
J00dmmob d(zbmgMmgdms g9bm@ndgdo wodmyz0gdgmns. 353ma-
dngdgmds snbym 396dmmal 3(36mzMgdms 3qbm@n3gdal dgdmb-
390s. 30M3qmo 30b(3 3godmb3gl nym do@mba Dgdge 0o ol sdm-
ohbs 333mgmol 3qbm@ondo. Mol oMb smdsmmds ndobs, HmJ
do@mbn D930 0365353957

5dmblbs. dgdmzommm  bmdommdgdo: C={ds@mba bgbzs
©0360d395} o D={ds8mbo bgbgeol aqbm@ndn smdmABgboemas
333mgmmdolb  sanmdgl. Ladogdgmos 3ommdoomo  smdsmmds
P(C| D), ®ém3mol godmbomgmagmom mbos gobamggdmmo dsng-
Lob GmEIYmom, Lbowsy ogzdaMmgds Gmamti P(C)-b, obg
»306083060" 30OMd0omo dmdscmdgdol (3m@bs. P(C) oMol oe-
dommdd 030bs, HM3 doGmbo Dgb3d 36535390 obsod bobsd 3 gbm-
03980l d93mb3gds sbygdmms s, 09y hg9b ogmdzgdm, Hmd
36bsnmn dodgba o6 sMLdMAL 0dabs, GM3 MmM3gemndy 3gMbmbe-
do 3980 g¢30 3930896mo 300009 bbgs MmMIgemndgdn, 35306 d4bgd-
0300 hogmgommm, Hmd P(C) =1/Nn. o) do@mbo dgdzs 05365d0-
399, 35d0b dobo agbm@odo on30mgdmom 5mdmAbrgds ©obsdoy)-
mob sanmdg s, dgbsdsdobsw, P(D|C) =1. ogzo ds@mbo bgb-
35 MEsbsdommmy, 35306 dabo ggbm@ndn abgz dgodmgds semdmh-
bgl absdommal s@gombdg 03 smdsmmdoo Mo 3MM3MM (3000053
33630905 50b0dbymo g96m@Gndn LodmgasmE dsdnsbms 3m3«-

ma(3090, 56y P(D | C)=p. 5308 ma:

P(C| D) - 1x (1/n) 1
Ix@/n)+px(1-1/n) 1+(n-Dp

dgdgan dsasmomon g30h39690L, MM Lbgssbbgs Jomagmadsd
dgodmgds bbgowabbgs 3abybsedog dng30g4356mb.

89891010 9. 4396 0300 MM 04396L sbaem 3gbMbgmb 3yo3L
Mo dz0mo. 9o 0edgb 0396 BobgaMal qbEmmal 35 s ©sn-
bobgom 353030, MmMIgmdsz md39b0 domomseb dgocdobs dgbdmdmoal
Lobdo. bLodbgmg ngm s Mg396 BbmEmeE ol gosMhogm, HmAd dog-
d30 dndo ngm. 3gmMg gl ofg3g0m dgbmdmab 306Mgddg o 3o-
0 3og00mm d0dds. Mol MMl semdscmmds adabs, MHm3 gL dagdo
©5365d03907
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0dmblibs. 5dmzblbom gl s3mzobs mMo abom. doMggmo doco-
am3s: o) 3gbmomol dgmMg dgamo gmams, 35306 0396 nz0m,
3 53653539 dagos, bmemm o) 39Dmdmal 3gmeg dgamas do-
g0s, 35306 dogo MmMBgmdsy oMo ad3300Mmm 563dsM0 dSmdscmm-
39600 dgademagds oymb 0536030393 ©d YYobadommm(s. sdn@md,
o9 3598m30m9d0 bomdomgdsl C={ds3930, GmIgmdsy gosmm
3960, 536535395}, 85306 LEMM deMdsIMIaL FMEINals oo-
bobdo dognmgdo, MmA:

P(C) = P(3040)P(C | b0d0) + P(3mgm)P(C | ymgm) = % X % + % x1= % .

dgmeég dogmds: dg36036mm, M3 gL 83m(356s Sbammaanns

9- 6. 39bdnmal 03m(3060b, Lawss 3gbm@odn dgsgmamas bjgboom,
boenm do@mbo bgbgs 3o ds3d30m, MHM3gmads(y oMo gosmm. o3
dgdmbgg3edo Rzqb g3043b: N=2 s p=1/2 ©s, dgbsedsednba,

1 1 2

PO = Ty re =2 3

a56bb35398mm3s Joamdgdds dmas(ze 3obbbgsggdmemn dgwg-
39%0! Gmams bgbo, bogoms domnsb oo bLogMmbomg 3ofm-

b330 dwgmadn brmdomgdgdol dgMhgzabsol. ©ogydgem, GmA bg-
30bdngFn 63330 gMmbonfn semdscmmdom Byz0803L go3009L me-
30b0 gbBMESL @ 3o gLEMEMML md39bL Gobxemel s 6gdnbdag-
60 353330 9M0bs0M0 dSendsmmdom 5 gdL 39Mb. mMo 3533300 Lg-
Lol BgdobdngMo 3m3dnbsznabomgols, Azgb dgagndmons dgdmbgg-
g0m obg dgzoMhomm 30b 836535390 5 306 omgdl oMb, MmA
Lgqgbob bgdabdngMo 3M3dabs(30s soYML MM gMmbsntaw dgbad-
mgdge dgdmbgggem. dogdn s gmam 5m360dbmm dgbsdsdabog b
> g sbmgdom, 53330 MMIgmds(s gosmm 3900 503603bmo 439-
s 06gdbom d , bememm 353330 HMIgmo(s 86535390 — Do nb-

©qdboo C. gmgdgb@ommm bomdomagdsms LogMzg dgmagds 16
960bs0Moe dgbadmgdgmo gmgdgb@omemmo bromdnmgdabogsb:

Q ={bjb,b,b®,b°b,,bb;,b;g,b,9°,b°g,,bgg, g5b, g,b°,
0°b,,9b5,959,.9,9% 094,994}
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5 bomdamgds — 653330, MmMIgmds(3 3oMn godsmm ©dbsdsgg omab:

C ={bgb,bbg,b5g,bgg,g5b,gbs, 959,994}

mdgmo bmdomgds Mbos gsbzobomma 3ofmdsdn? hggb 30-
(3000 M0 M53: 53653039 d53d30 dndns @ dndds gosmm 3oMoa. gb
bomdomgdgdns dgbodsdnbac:

A={bSb,b,b¢,bcb,,bbS,bSg,b¢g,, g b, gb},
B ={bch,b,b°®,b°b,,bbS,bSg,b,g°, g%, , gb}
5 306m3530 B396 W6ws gobgabormmm 8scmn msbsj39me:
A B ={bSb,b,b°, b, ,bbS by, gbS}.

30650050 mombo 53 6 gmgdgb@ommmn bomdomgdowsb oMol
C-do @o Q-b yggmo gmgdgbGomnmn bomdomgds ghmbsnfow
dmbommebgmos, sdn@ma:

P{6533830, ®m38gemda(3 gosmm 3060, sdbsdsggs}= P(C|ANB)=2/3,

(3 99L565dabmdsdns 3. 6. 31bdymol sdm(3965Lbmsb.
a0dmEal, Gmd doMggmo doamads a35dmgalb 33006 sdmb-
LBL. 0b3ab jombgs — MOGMAB? Mm(3s A396 3nmzmNENm dSemdscm-
398L P(d00) o P(amam), B396 sMosbomam 30bomegmnm dom-
3530 B bom3nmgdsl, doamad mog3e306yms A 3oMmds. semdsom-
3o P(d040) mbros go8mazgmgams Mmam(s
P(@gm@g dogdgo dodos| ANB) = é
s 30 1/2. Bmami(z 3bgosgm, 3ocmdomn semdscmmds 0dobs, Hmd
dgmeg 603330 dagos RGm domamons sbms, Mmss gozom, MHmI
©5365d039 353330 dagns. Snmmdnl wswg965 bozdomam 930000 bo-
J0060s @5 Logomms, mmd 3ommds aymb ombgdeemn 0bogmmdszo0b
b&oemno® 99339800, stz 8980 @ 33 bogemgdo. sbeas Radm-
394506900 30tggmo 53mbbbol 3mMgd@mm 39MLosl — yggme-
Rge0 9bos asdmomzammb ANB bomdomgdol d0Gmdsdo s

339g69%s:
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b )2kl 2
3 2 3 3

803OZ00N0 10 (LIS SAMGEMSS). 35d3L sbmgdals Mo 96-
OmMdmomds:
I={K, 1, 3, H} oo II={3, 4, H}.

dgdmbggz00 300hg3m gem gMmmdmomdsl s sMRgmmo gM-
OmMdomdoEsb 9o sbmb. sdm@mAge sbmb doemnsb 3306y Mmab
356353mmdado 39hg9bgdm ©ed33060M3909mb (abg M™d dob o6 dg-
mdemos domnobom send3olb sbm). Mmamns sbmb LEmGsw godm(s-
bmdal smdosmmds, oy ©ed33060M3909mob 3abybos ,H, Gmss ob
Sbmb godmbobmmgdsdn @onbsobagl g39ME 03 ne badl s 3obyyboos
»3", 130 Sbmb go3mbabyymgdada 39MEG 0 oMo babdo o6 sGal?

5dmblibs. dgdmgomme bromdomagdgdo:

A, ={o3mMRgnmos | —m&o ghomdmomds, i =1,2};

»K% 1%, 3%, JH" 0o ,4" — 0gmb bomdomgds, Mmd Bomdmwmagg-
boos dgbodedanbaw K, 1, 3, H s U sbmgdo;

B ={053 3306398935 LEmGow n3obnbo}.

83m(3560L 30MHmdgdda (3bowoe:
P(A) =P(A;,) =1/2;
P(CI A)= (| A)=P("3' A)=P(H A)=Ld,  P("HA)=0,
P3| A,)=P("| A)=P("H'| )13, P(K' A, )= P("I A,)=0.
306500006 A, o A, bomdnmgdsms LEMm LobEgdslb J360sb,

530@m3 mommgmo sbmb LEmGop sdm(3bmdal smdsmmds dga-
30dm0d g5dmgmgommo bEmmo sedsmmdal gmMInemno:

P("K")= P(A) P("K"| &)+ P(A,) P("K"| A,) = U8
P("H")= P(A) P("I' A)+ P(A,) P("H"| A,) = 1B
P("3")= P(A) P("3"| A)+ P(A,) P("3| A,) =124
P("H")= P(A) P("H"| A)+ P(A,) P("H'| A,) = 7124;
P("I") = P(A) P("T A)+ P(A,) P("U"| A,) = 16.
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53m(3560L 30Mmdgbdn sgMmgmay (3bowns, Mmd LEmMa 3sbybals
30Mmdomo smdosmnmdgda bbgowabbgzs sbmgdalb Bocmdmoggbals dg3-
0b3935d0 3gbodsdnbaw ngbgde:

P(B['K")= P(B['U")= P(B["U")=0 s P(B['3")= P(B['H")=1.

3065000506, "K", "H", "3", "H" o "U" saMgmgg bomdnmgdoms
LEYmo bobGgdss, sd0@md bLBYmo semdscmnmdols mMIMms a35d-
m93L LEmE0 3obybol smdommdal:

P(B) = P("K") P( B|'K") + P("H") P( B ['H") + P("H") P( B ["H") +
+ P("3") P( B['3")+ P("U") P( B["I") = P("H")}+ P("3") = 7/12.

dgbodadolb gboMma®msedsl g4bgds dgdwgan baby:

w | W W W wW

W w|

89850010 11. 35050530 dgdmbyyema §gmgz0bmMgdal I B
3530 2, 5 @s 3 6360 sddagdmas |, I s Il oMol doge.

Loga®sb@om mmab as63s3mmdsedo I, I @s Il go&mdal dog& dgdm-
&oboemo B gmaz0dma dmombmglb Mgdmb@L dgbodsdobsw 15%,
8% o 6% d53:b39398d0. 303M3mo smdsmmds 080bs, MMI Joos-
Boob dogH gogommo Ggmgzodbmmo bagsmMabGom Mmal gsbdsg-
mmd5do 3mombmab MgdmbE)L (bom3amgds B).

33mblbs. dgdmzocmmo bmdomgdosms bLEmo bobGgds: A -

3540 nmo 8 gmg30dbmmo ©sdbogdmmos i-mMo gomMdal dog@
(i=12,3). 306mdob 056sbdo@ Formdbnsdn sMbgdmmo Ggmgao-
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Bdm9600056 |, Il @s Il goMdols Bng ©sdbswgdymos dgbodsdnbow
2X, 5X o 3X @gmg3z0dmMn. dgbsdsdabo, smmdsmmdals gemsbo-
3060 3563508 gd0l ;mobobdsco:

P(A)=2x/10x=1/5, P(A,) =5x/10x=1/2,
P(A;) =3x/10x =3/10.

396 ©s 330bs, 53m(3960L 30MHMaL Msbsobdow a3o3L:

P(B|A)=15/100=0.15, P(B| A,) =8/100=0.08,
P(B| A,) =6/100=0.06.

Lodmemmme, LEYmo smdosmmdol Bm@IMmols Mmobsbdowe, 3mg-
dnemmoon:

3 1 1 3
P(B) =ZP(Ai)P(B |A) =g~0.15+§-0.08+ﬁ~0.06=0.088.

i1
83890010 12. 35(309680b babgol d930ga 9403L Bnshbas, 3
03658Mo© dgbodmgdgmns mM0 53503YmMPMdo@sb ghm-gHma: X
ob Y. 005g3bmbal @obodyb@gomaew 35(3096@L ©gDo36056 56s-
moddg, MHmImob dggan X 935034mymdals eH™ML egdoo M-
5g(300L ndemgge 30% dgdmbzggzeda, bmemm Y s3503ymamdal @mmb
30 20% 3dgdmbggzedn. obomadds Imagze momgdoon Mgsd(3ns
(bomdoemgds B ). Mmdgmo 03503ymegmdss gdm semdsoryn?
33mblbs. bomdamgdosms LEMm LobEgdsl 4360l bmdomgdg-
do: A= {35(3096@L o3l X og03ymagmds}, A,={35(3096@L ogsb
Y 03008ymamds}. s8sbmabagg, P(A) = P(A,) =0.5. gows 530bs,
P(B|A)=30/100=0.3 s P(B|A,)=20/100=0.2 5808m3 ds0g-

Lob gmOInems ggodmasl:

P(A, | B) = P(A)P(BIA) _ 0.15 06
P(A)P(B|A)+P(A)P(B|A) 025
P(A,|B) = P(A)P(BIA,) 01

= =0.4.
P(A)P(B|A)+P(A,)P(B|A,) 0.25

30600006 P(A |B)>P(A,|B), s308m38 X s3003ymagmds ma-
I SO0,
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898020010 13. 3c0mdob 6936190635 ©bos soMhomb emymdal 36g-
Bogb@B0. smdsmmds 0dobs, MMI sMhgymo 0g6gds dgds, bogs b
35 3gbodadnbaw ofab 0.3, 0.5 s 0.2. oy s06hg396 d94sL, bo-
3L 96 350, 35306 sedommds 0dabs, MM 3o0dGgds 3emmdob
Lobgzmm goabobown dgbadadabow omab 0.8, 0.1 s 0.4. godmzmo
Sdommds 030bs, M3 3endob 3G 5bogbGow sMhgmm ndbs -
39, 049 (36mdomos, Hm3 bobgzmm gowabobown gonbomes.

0dmblbos. aobznbommoe bomdomgdgdo: ALA A, — 3900l
369D0gbBom sMhgmm 0dbs dgds, 6ogs, mmze; B — Lobggem go-
obObIEN gonbaME.. (3bo@ns, MmI A, A,, A, bmdomgdgdo 4360l
bomdnmgdoms LEMm bobGgdol s dongbolb Bm@BYmols Mobob-
do bLadngdgmo SMbsMMbS 35dMOMNZM s BMMINMOc

P(AIP(BI A) |
P(A)P(B|A)+P(A)P(BIA,)+P(A)P(B|A;)
33m(3960L 306MHMb0sb 35dmdnbamyg g3og3L:

P(A)=0.3 P(A)=05P(A)=0.2;
P(B|A)=08, P(B|A,)=0.1, P(B|A)=04.

P(A; | B) =

530@md

0.2-0.4 ~ 0.08 8
0.3-0.8+0.5:01+0.2-04 0.24+0.05+0.08 37

P(A; | B) =

89801010 14. LobBgds dgagds ZsMamgmmMon dggMomgdy)-
mo mMo gmgdgb@obogsb bondgommdoo P, o P,, GMImgdacs
36ymdM0msb godmEnsb 9Mmdsbgmabogsb @edmyyz0mgdmaw. Lob-
&93s 30domdl o9y gFmn g gdgb@ o 35065 3mdomdl. 03mzqo oem-
oM 030bs, Hm3 o6 349domdl | gemgdgb@)o.

33mblLbs. dgdmzomma bomdomgdgdo: A — | gmgdqb@n duds-
mdb, B — Il gemg396@0 39domdlb, C — bobBgds ndomdl. s3m(ge-
6ol 306mdal mebobdo: C=AUB, P(A)=p, os P(B)=p,. dgbe-
3530bog, smdsmmdab (36mdamon m30bgdg0l Mmobsbdaw, 43543L:

P(C)=1-P(C) =1-P[(AUB)]=1-P(ANB) =1-(1- p,)d— p,).
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5308 M3 30Mmdomn smddscmnmdol gobdoM@gdabs s bodMog-
ol smdomnmdol gmMInmol gs3mygbgdom, oy aomgsmabbo-

bgdom, dmd P(C | Z) =P(B) = p,, s@30mow dngomgdm, H™A:

P(ANC) _P(APCIA) . (-p)p,
P(C) PC)  1-(-p)L-p,)

808020010 15. 3cngomsdqd 03mgs bbgobo Lo zmgoo@m doMomo,
Il 3mEo Mmob303M05606. 03mzgm dSemdsmmds 0dobs, MmA

dmgomadal gymes mMo d(zgmmds 3meob godmbasbmdae (398
dgbodmgdmmdal 3563m3s@0 o6 ndemy3s).

P(A|C) =

33mbLbs. dg3mzommo bomdomgdgdo: A (i=12) — dmgomo-
498 30Mggmo 3meo gsdmasbm i-mMo 3(309mmdabal. 35306 bo-
dngdgemo bomdomgds 0dbgds A= A U(ANA,). 30600006 A, 0o
E bomdomgdgdo sGomsgbgdowons, domydg@agl sMomogbgdowo
046905 bomdomagdgdo A ©o EK\AZ 5308 m3 bmdomgdosms go-
dobo o bodMmogmoal omdscmdgdol Bm@BYmgdol Mobsbdow
33°d3b:

P(A) =P(A)+P(A nA)=P(A)+P(A)P(A | A),
Los(s
P(A)=1/10*, P(A) =1-P(A) =1-1/10%, P(A, | A)) =1/(10* —1).
5308 m3 Ladogdgma semdsmmbds ngbgds

P(A) =1/10* + (1-1/10%) -[1/(10* -1)] = 2/10".

811680 3MZNb 36650PMILN: B56dmnanbgm, Gm3d mg3q6 dmbe-
Bomgmdo s35ddn, Mmdgmdnz g396 03ymyqdom bLsdao 3ol
B0b. 653y3060, GM3mal dgbobgdss (36mdamas, Gm3 ol 3sGnmbe-
oo, d93mbzg300m smo3LgdL gMma oGl 306 838 M3mdael, bm-
mm ©sbsmAgbo mMo 3060l 1396 moomm 39mmbadgel. Bs3y3zsebo
3999069000: ,00300006 04396 0MRgzo 9o 3960, dgfg 39 asgo-
090 sMhgbomn mMoEsb Mo 3oL, MmImal 4306 ©asb 39emm-
bodgeo. d930ga 0396 dgandmoom Mmog0@sb goszgomm 3ol
06hq3560: 56 s0MRomo bbgs 3060 96 56 dg(339mmo 30M35b0gmo
s6hg3560. 830b d9300ga B53Y3060 5gdL 396 Fnge Lodmmmme
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dgRgm 3oL ©d 0139060 03ob, M3 03 JoMab ¢35605%. go0DM©Yg-
ds o) 3Md mgggbo dobbn dmagmm s38m3mdamn, oy dg3gemom
306356 56hg350L7

5300056 5Mbs0mMds 0dobs, M3 mg39b soMhggzo 3oL, HmAI-
mob 3596 ©aslb 93@mM3mdacemo ol 1/3. 3sb dgdmaga Mo bodyzsebo
3550gdL 3oL, Mm3gmdog asl 3gmmbadgeon, ssdnsbgdal ¢ad-
03mgbmds mgmol, Mmd 538™M3mdoeal Imggdal semdsmmds 1/2-
05, 308653 gb obg o6 oMnb. B5dy3063s 0(30L, Lo sl 838™M3mda-
™0 5 5d0@GM3 56 5xgoL 0d oMb, Loo(s EasL v3@mImdagma.

bbmmo 3sbmbos: 0sb, s3&mImdocrals dmggdolb doblygdo me-
K9F 300 dM@Y30, 0y dmomsdsdy dyzaemol Somzobrgen 9mh93060.
0dnb yz90m5 B9 JomGogo obbbs dadwygdo drogmdstmgmdb: adabom-
30, MH™3 Bmogmo 338M3mdao 306356 shg3zo60L dg(33mals
350939 79396 930000639 Mbs 3sdmazbmo ol oMo A™Imal
1396 ©aob 838mImdoemn. 530l semdocmds 1/3-0s. 09130 0396 oo-
300000 506MRg30 03 3oMb, BHMImob m3065(3 adL 3gmmbadgoo (830l
3b0MAsd 2/3, Moasbss Mol mMo 39mmbodgon s gMomo o3-
&mImdoenn), 35306 30M30bmgemn oRg3560L dg(33emal dgdmbggae-
do 7396 (3ombobow dmnggdm 538mM3mdamb, Mowasbs(y omhAngbo-
™m0 0g670ms 83@mM3mdamo s gMmn 3gmmbndgeo ©s Bodyzebads
8550m ab 3960, Gm3mob 4935655 nas 3gmmbodgwn.

0dmblbs. dgdmgomme bomdomgdgdo: A — s38mImdoemn
©asl T-gfo 3060b 306 (i =12,3); C— dmmsdsdnlb 3nczobogmo
o6hg35600 godn 1; D — Bs8y3063s gosmm 3oco 3, bows(y semdmh-
bo 3gmmbodgwn; B — 3mmadadal 30Mgobpgmo ofmfiggebos 3o-
&0 1, benm 653y3063s goomm 3oa 3, bows (g 98mhbrs 39mmbo-
3900. (3bons, dm3d B=CND.

306mdomo smdscmmdal gob3oM@qdnsb godmdwmnbamyg (sbo-
03, HmMJ:

P(BIA)=P(CND[A)=P(D|CNA)PCI|A).
5308m3 b50gL0b BMEZMms d53mgabonfo gomsnbgmgds:
P(A |B) = SP(D|CﬁAi)P(C [AP(A)

D> P(D|CNA)P(C|A)PA)

j=1
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dmma35dnl 30M30bmgmo oMhggzebo oMss edm ogdymn oy
Mmdgmo 3ol 99396 aob Lobsdgznmgda s3@mImdoemn (3sb oM

0(30b Lo @aol 93@m3mdaemn) sbyy C s Ai (i=1,2,3) 0odmy) 3009890
bomBoemgdgdos. dgbadsdnbaw, P(C|A)=P(C|A)=P(C|A)=P(C).

53 Bo980b gomzgamabbabgdom, bomswals P(C) -4 d9339(30L dg0-
©9a, d509b0ob gmMInems donrmgdl babgl:
P(D|CA)P(A
P(Ai|B)=3( ICAA)P(A)
D> P(D|CNA)P(A)

j=1

04) 3m535dg3 soMfins 3ofMo 1, bmemm s3@mImdaemo ©asb 3o-
60 2-0b 1396, 35306 b33Y3560 3omEgdmmns gosmmb (s 30mgd-
md© a550gdL) 3oco 3, 56y P(D|C M A,) =1. o0 3m335d93 s06-
Roos 3060 1, beaenm 93@8m3mdaemn asl 3ot 3-0b 41356, 35306 653-
ygobl o dggdmoas  gosmlb (o6 gosmgdl) gofn 3, oby
P(D|CNA;)=0. 09 3mx»s35d73 soffns 3o6n 1 0o 038m3mdagmo
©asolb o3 3odab 9356, 35306 Mbws Rogmgommom, MGm3 Bsdygsbo
30mEqoMm0s 35dmbggz0m (569 03bsdstn semdsmmdom) gsscmmb
9F0-9Mm0 2 ©s 3 3oMwsb, sby P(D|CNA)=1/2 (bbmmgo >3s-
do a0dmabo@gds bsdy3zebol ,3580mbbgds“). asfs sdabs, nmgmgds
3 53@™M3Mdo 00bsdsmn smdsmmdnm asl bgdobdogmo oMol

1356 o6 P(A)=P(A,)=P(A)=1/3. 93565b369m0 533980l
dg307a do05L0b MmN Fonrmgdl bobgb:

P(D|ICnA

P(A |B)= 5 DICOA)

Y P(D|CNA)

j=1

5308 M3 LadmmmmE a39469d0:

PID|ICNA) 12
1/2+1+0

P(A |B)=—
Y P(D|CNA)

)

P(D|ICnA,) 1 _
1/2+1+0

P(A, |B)=—
ZP(D|CmAj)

2/3,
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P(D|CnA;) 0 3
1/2+1+0

P(A,|B) =~
ZP(D|CmAj)

03039 d9e9asdeg B39 dgazndens 8ogomgo ©gbrMmamady-
d0b g0dmygbgdom (4393mo Loddmmmma A 5wbndbyymos s3@m-
dmdoo, bmmm boddmemmgdoo Bl B2 30 — dgbodsedabaw | s I

39embodgeo):

3m»035953 Bodygobdo oM dg0(335md
s0Mmhos aoblbs dgozgoms || smBggebo
| s6hg3560
172 Bl |1/6 A B1
A 1/2
13 B2 |1/6 A B2
1/3 1
> B1 > B2 |13 B1 A
/3
1
B2 » Bl (1/3 B2 A

03 d93mbgg3o90, Mm (30 IMmodady mognsb Mgl s3@mdm-
doemb, 30M30bmgmn oMRg360b dg33ems 0bzgslb o3&mImdoemals
Boggdol, bmmm o9 meg0eb sMRgmm 0dbs 39mmbodgwn, 35306
o6hg3560L dg(33mms 06393L 038 mM3mdools 3maqgdsl. godyma oe-
dommds 0dabs, MHmI 30M3z56gmmo s@hgzebals dg33ems d0a304356L

538m3mdaemols Imaqosdg Gmmoas:

1.1_{_1.1:2’
3 3 3

boenm smdocmds 0dabs, MM 30fM3zsbmgmo o@MRg3s60l o6
dg (330 3033094356L 938M3mdaemal maqdsdwy Gmmos:

11 11 1 1 1
—_—e— 4 —— =+ =
32 32

6 6 3
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89800010 16 (81101985300 89J(1E5I3O D). asbzabomma g. b.
»39M30-bogabyEab” medsdo: mv) dmbg@nb sggdnbal dmgs dmme-
3590l dog® Babsbbom @obobgmgdmmn dmbg@ ol dbstryg, 3530b 0gon
0ggolb 1 oMb, Bobsomdwgg dgdmbggzedn 3o 0ggdL 1 momb.
30300, 3m535d0l babyobo 3o30@omon dgoagbl X oMb s do-
Lo 30Bsbos Fongzebmb gb msbbs @ mMoMedy. msdsdn gMmdgmeogds
30600 Lobdd IMModsdg o6 Fnnygebl Moz30L MbbOL BobobBsM asb-
LodENm a MoMady, 56 ngo o6 gd3MGM©gds (569 Booggdl dob
bgmo s0Lgdmm dogem X momb). MHmagmmMos smdsmmds ndobs, Gmd
dmmodadg a0 3mEMgds?

33mblLbs. gb smdscmmds ©sdm 3nEgdmmn 0dbgds bobyal X 3o-
308omby. 5¢36036mo ngo p(X) Loddmmmmoa. (3bswos, Hm3 ngo
3906806 gdmos bgdabdngMa 0<x<a s3sboobogg P(0) =1 o
P(a) =0. dgdmgocmm bromdamgdgdo:

A; ={3m3535d93 dmogm 30639 bodng Dy},
B ={3mxs35dg, Gm3gmbaz goohbos Lobyobo zodo@omo X, gozm-

&Mmgds}.
83m(3560L 30Mmdgddn g3043L:

P(A)=P(A)=1/2, P(B| A) = p(x+1) o
P(B|A)=p(x-1) (1<x<a-1).

306500006, A ©o E bomdnmgdoms LOYmo LobGgdss, sdn-
&m3 LEMo sMdsMIol BMEBYms P(X) dSedosmmdabsmgals ggo-

derg3b 39903 3bGmmgdab:

p(x) :% p(x+1)+% p(x-1),1<x<a-1
03 &30l 356@mMmadgdlL domgds@ngzodn Myzm@gbdumm a56-
&MmgdgdL bmgdgb. dgndmgds 393mb3gl, Hm3 83 gsb6@memg-
3oL 53mbLbsl o3 Loby:
p(x) =bx+c,

Los(s b oo C - 6560b30gMo I¢Mdnggdos. 93 3MgBn(3096@ 900l
dmboadgdbo  Mbos  goboMagdmmo  LabodmzMm  doMmdgdom
P(0) =1 s P(a) =0. 35306 30300530, Hm3

c=1 s ab+c=0,
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booabs(s, b=-1/a ©s bodmmmme p(x)=1-x/a, 0<x<a.

LIFOLI3I. ©o39)935m, A3 dgbodmbdgdgmo xangalb 1%
53503YMR0d, beemm ©sbsmfgbo 99% 30 xsbIGMmgemn. ssdnsbyg-
d0b dgMhg3s brgds 39dmbggznom s 30@8ma

P(535089m%0) =1% = 0.01 s P(xobd@mgeno) =99% = 0.99.

30amabbdmm, Gm3 0d dgdmbgzgzedn, Mms Ggb@omgds
MG9MY0s 5053056L, MMIgmboy 6o 593L vg003Ymeumds, 35dnb
1%-05 smdocmmds 0dabs, ®m3 dngommo (30560 oEgdomon dgmg-

a0, 9.0.
P(©0s©gdomo | xsbddmgeno) =1% o
P(o0ym5000 | xsbddmgano) =99%.

3dmMmmUL, @o39dz0m, MmAd 03 3g3mbzg3o3d0, MBm(3d &gbBomg-
35 MBOMgds 935003yma3 5@53056L, 35306 1%-0s smdosmmds 0do-
Lo, B™d dogommo I(30056M0 WofMYmBcmo g a0, J.0.

P(o09m000 | sgo0dyme3o) =1% oo
P(ogdomo | sgodymazo) = 99%.

35dmmgomgor smdommds 0dabs, MHmA: o) ssdnsbo KsbdMmg-
™03, beagnm §qbBds shggbs YofMymynmo dgmgan; 8) s@sdnsbn d350-
dymaz00, bememm GgbEds shzgbs ogdomn dgogan; ga) swsdnsbo
®O6AMMgm0s, bmmm qbGds shz9bs agdnmn dgogan; ©) ssdn-
560 53503YmMg30s, beaemm §gb@G s sh3z96s MofMymanmo dgogan.

89650bocrmor Bgoemmto bogasoos, Bmdgemary 85063969380
gmoo  dgbgrogoo  Imaemmobyrm  g3obbbgsggdst P(A|B) o
P(B|A) dommdoo samdscmmdgdl dmmab. ndobsogol, mmd godm-
303em0bmor bymom daemo oz3008ymamdob Jimby swsdosbgdn sw-
@gacen bgowos by, bpgds s@sdnsbgdol oo xamaob Sgbd&omy-
3o. donbgoozom 6nbsbbsmn dgdmbdydol bomggdenmdabs, o8 doco-
3mAsl 3oohbos womymanmn Jbomyg: oy ssdnsbl bobsdwzocmgdn
0 300hb0s 33509ymem3ds o bsbynbds 896885 o396 @s@ydoomn
d9®930 (@3798065 55350dyMmRmds), ob 0465385 bgmgbamen dwogmds-
mgmdsdo  (Morz, coz0b JbMog, @omymooms dmydywgdl dob
(36m3593589) bsbsd agmmm bomdsgdmemo Bgbdo om k396930,
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mmd ol xobdmogemos. 58 3Mmmdengdols dbndzbgemmds dgbodemydyg-
00 JMB3® 35308M0) 30mE000 sendoommdgdals §gmdnbyddon.

Bobs o35mgdal 3mbs(39398d0 godmazmzammo  smdsmmds
030bs, Mm3 &gbdo sh39693L ogdom dgwgal. LB semdscm-
d0b gm@3Ymols mobobdoco:

P(o0gd0m0) = P(xo6d@mgen0) P(oowgdomo | xobd@mgeno) +
+P(535039930) P(0s0gd0mo | sgsdymego) = 0.99-0.01+0.01-0.99 = 0.0198.

a3 (36Mmdomos, Jogsmomnl 3oMmdgddo
P(oo0gdomo | sgodymazn) = 99%.

30dmzm3zommo sbems 390Mbgdmmoa doMmdomn smdosmmds,
M0obogobss 3obofMagdmmo dnMmdama sendsmmdals gobdomGqdo-
S 5 bodMdzmal smdosmmdbol m@Inmagdom. dodnb bgdmo do-

@960
P(s@gdomo) =0.0198 =1.98%

dgqanb mebobdso:

P 8( 2)

P (sxgor0fj30 | sosgoboono) = - CBORIITB Dieoregdomo)
P(o©gdomo)

_ P(ogoedygmeo) P(eswgdomo|sgewdymyo)  1%-99%

1.98% 1.98%

=50%.

Mmam(s 369030, 30MHmdomo semdsmmds 0dobs MmI @ gb@o
dma3(399L @ogdom dgmgal, 30mmdada MM 5sd0sbo sg5dYm-
305 @mmod 99%-0b, 35306 MmEgLyg 3oMmdoma sdsmmds ndo-
Lo M3 sadnsbn v350dymggns, 3oMmdadn Mm3 8gLGds dmag(ze
ogdnmn dgmgan 6ol dbmeme 50%. o4 dgMhgmmo dmbs39dg-
d0b dgdmbggzada 13065L36gma dgrgan dgodmgds Rsomzammb
domgdgmo: 53056930l Bobgzemoa, Gmdgmms GgbBomgdsd
sh396s oadoma dgmgan, Bod@mdMnza, sGnl Ks6IGMgmo.

898910010 17. ymo3do Immo3bgdmemns mEn Imbg@o: A — Lo-

d9@monmo Imbg@o agMdalb dmbgmal smdsmmdboo 1/2, s A, —
56bndg@ Moo dmbg@s ggMmdol dmbamal smdsmmdboo 1/3.
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dgdmbgg300 300gdm 9o 3mbg@olb o gogmgdo. sgMadzom, MHma
dmgos g9Mdo. MHmam@os dsmdosmmds 0dabs, MmI sdmegdyymo
dmbg@o oym bodg@Eanma?

0dmbLbs. 53 dgdmbggzsdo gmgdgb@emmm bomdamgdsms bng-
(39 0dbgde:

2={(A,3), (A1), (A, ). (A, 1)},

Loa(z dogomomasw, (A,p) — 60dbogb, Hm3 sdmgzamgm A, dmbg@e
@5 dobo 0300960l dggasm dmzaes agfMdo. s3m (3060l 3nMmMdgddo

33°d3b:
P(A)=P(A)=1/2, P(3| A)=1/2 s P(3| A)=1/3.

dgbodsdobaw, bodmsegmals smdsmmdols gm&m3mol godmygbg-
d00 gddmgomgmoo:

P{(A,2)}=14, P{(A L)}=1/4, P{(A,,3)}=1/6 > P{(A,,1)}=1/3.
5308 ™3 d509b0b Bm@IYmol mobobdse

P(A)P(y| A) 3
P _ = —.
(A l2) P(A)P(a | A)+P(A)P(|A) 5

sbowons, ®mad P(A, | ) =2/5.

883EN0NN 18 (JIONT BO8MIGRITDY |). 3:0d350, Bobodatigdg-
™o a3593b g0dm 3000 s dgazndmos sz0Mhomo bgdnbdagmo Lado
353m3(309mnEsb. ogmdzom, Azgbozol (36mdamas, Gmd gHo-
96m0 bodo god3md(309mnEsE ((36mdns GM3gmon) — ,3g00m0s” s
3d50mMds 030bd, MM Fobmob hosdatm asdm(zws Gmmos 0.4-ab,
bmmm ©sbamBhgbo mMo g0dm3 (30090 ,0308% 8 Jommb 3odm (3000l
Rodamgdal smdommds Gmeos 0.1-0b. dgdmbggzom sgoMhogor go-
dm3(309m0 5 boMds@gdom hogodsmgm godm(3008. MmamMns s-
donmds 080y, MM sg06hngom , 3900 35dm3(30gmn?

8dmblsbs. dgdmzommm d93ga0 bromdomagdgdo: A — s3mMhge-

mo 353m3 (3090 ,3900m0ns" (35306 A - 046905 bom3omyds,
®md 53m@Rgmemn a53m3(309m0 ,0300%) s B — g8dm 300 Rodotg-

82



demos (dgbodadabog, B - 30dM (3000 M5 Rodofgdmma). sdm(3o-
bols oMb gddo g3573L:

P(A)=1/3, P(A) =1-P(A) = 2/3;
P(B|A) =04, P(B|A)=1-P(B| A)=0.6;
P(B|A)=0.1, P(B| A)=1-P(B|A)=0.9.

(36mdomos, Hm3d dmbes B bomdomgds s godmbsmgmygmos
306Mmdomo sendsomds P(A| B) . 30bsnsb, A o A bomdomgdgdo
360l LE LobEB 3oL, d509L0b RMABYmols Mobobdom Lodoqda-
e LoLGY gbob gmEOTY R b200g0Y
™0 dSmdosmmMds 0gbgde:
P(A)P(B| A) 2

P(AIB)= P(AP(B|A)+P(APB|A) 3

LIFOLI3I. 39-18 Bogomomal 306mdqddn asd3mmzgamgo dem-
dommds 030bs, MM sMhgmm 046 ,030% g0dm3(3Lgmon, 0y (36m-
dognos, MM 3o3m3s Asdamgdym 0dbs bocdsdgdom?

808OEN0NN 19 (3TN BMICRITHI If). og1d550, G a5
M3 (30936, HMBgmmsbs(z boMds@gdom hons@s asdm(3053 (nb.
dogomomn 18) godmbszmgmo Mngfmngmdoom dnznEs 300093 MMO
dmbbogmyg. xgfM 30dmzms 3gM hosdoms dgmeyg dmbbagmad, d93-
g3 3030005 d9bo3g d Fobo(s 3gM Aosdams godm(zws. o3 Bogdab
dgdga HmM3gmo 303mmgdos BMM obaxgMgdgmon: gb as3m3-
(3RIO »3JNOE0S" 077 530" 7

58mblb6s. 5036036ma P (A) (3gbodsdobam, P (A)) boddmenm-
o0 33mbGgMamGmma smdsmmds adabs, Hm3 gb godmd(30gmo
»390005“ (dgbodadnbaw, ,o300%) 3ol dgdwga, Mo godmzooe
0dbs i-960 LEMLabGN, 1=123. Rzgb ¢339 3508069, H™I
P.(A) =2/3.39L53580bo,

P(A)=1-P,(A) =1/3.

dgmg 3mbbogemolb mzombabdMaboo gb smdommdgda Bomdm-
0®396L ™Mo dgbodmm 303mmgbal s3MomEmm Smdscmdgdl.
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530@m3d, 6509L0b FMAIMmol Mobobdow, Jgmeg bgwgbGal hog-
0L d53mga 33mbEGgMnmEmmoa semdscmmdgdo ngbgds:
P(BIAP(A) A

A B AR PE AR 7% PATITRA=

3
-

sbosmmmagoy@o, sbms dJomgdnmo semdosmmdgdo 1339 040gds
33Mm0mEmmo smdosmmdgdn dgboedg dmbBsgmabomgal s 5do@md
bodngdgmo 83mbGgMomEmama sendsmmdgda, 3L dgdwgg Moz -
Lodg dmbbogmad 396 hosdoms godm (309, godmomgmgds nbgg dso-

9Lob gm@IYmaom:
PS(A)Z _ P(Bl A)PZ(_A)_ _ =£ CQO
P(B|A)P,(A)+P(B| AP, (A) 17
9

P,(A) =1-P,(A) =17 > R(A).

Mmam@z 3690030, g4b3gcndgb@olb (godmzeol) ©obygdals
Bob s3MnmGmmo semdscmmds 0dabs, MHmI s@Rgmma as3md(300gemo
»3900005° meo oym 1/3-0b. 94b39M03568930L dg30ga >3 beom-
domgdab 53mbBgfMnmGmma semdsmmds 3ondaMms s asbos 8/17.
dombgosgom 530bs, oy bodn g4L3gMndgb@ ol d93wgg dabormgdas
350by39@nmgds 53 g93md30gmol dgbobgd, 35d0b ygmm Lam-

B3nbms Rogmgammm ogn 0300 (306500006, P, (A) > P,(A)).

@sdmgjoegéyemo eydo.
89800010 20. 6oL ol smdsmmds 0dabs, Hm3 Bgbogo
dmbg &b 10-x g6 v300gd0bLoL 2-%q6M dmzs g96da?
3dmblLbs. 30bomggdmmoe dgFmbymol gm@Inmom. 3 dgd-
0bggzedn: N=10, k=2 s p=g=1/2.3d5bs5530bsc,
45

1, 1
P,(2)=C2(5)”(5)°? =— ~0.044.
10() 10(2) (2) 1024

8980210010 21. g asbememom 30bsbdo Imbzgomol smds-
omdss 1/8. Mab ol smdscmds 0dabs, Gm3 12 gobmmnoasb
56 (3 gm0 3mbzgds JodsbL?
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0dmblibs. 58 3q8mbggzedo g3odsb: n=12, k=0, p=1/8 o
q=7/8.5308md dgMbymal gmMInmalb msbsbdow:

1 7 7
P,(0)=C(3)°-()” =(=)* ~0.25.
12() 12(8) (8) (8)

8980LN01N0 22. ynodo 3 0goto s O dogn dnMomns. ymnsb
dgdmbgq3000 009696 4 bl IdGNbgdom. 03m3g0 Smdsmmds
030bo, MH™M3 5dMEgdymn dPMMNJdosb mgmmo dyMmmgdal Momg-
bmds 3980 096905 do30 dMcgdal Momegbmdabdy?

33mblLbs. oy bomM3sGgdow Rogmgmom mgmo dyfmomnl sdm-
0dsl, 35306 30MHMbol mobobdo ghom (305d0 Bomds@gdol smds-
omds 0gbgds p=3/8. Ladogdgmo bomdomgdol bgmdgdbymd
@mogbgdem dgdmbzq390L bofmBmamagbl mamb (30830 3 56 4 ;mgom-
0 dnMmol 5dmegds, MmIgmoms semdsmmdgdo, dgMbymoals gmm-
Imol 00bsbow, dgbodsdobsw Gmens:

P,(3)=C; -(3/8)°-(1-3/8)*° =135/1024 o
P,(4)=C, -(3/8)"-(5/8)" =81/4096.

dgbodsdobaw, badngdgma semdscmmds, semdscmdsms dg36gdals
39bmbal mobsbdow, ndbgde:

135/1024+81/4096 = 621/ 4096.

898910010 23. 05393350, 353mbB35d00 B Nemdodg be-
bl 3o 0ol, Mmdgmas dgagds 30 bobomdobogsb. (3bmdo-
™0, ®M3 ©BIJGNM0 3MmEnJ(300L Boemo dgoaqgbl 5%-b. GHm-
am0s Lagmbemol 83 3oMmE0odn gRgJGYMo dMmdoolb oo
04) 08 M03b30L 5IMAboL sSemdscmmMdgda?

5dmblibs. 53 dgdmbgggedn g4b3gcndgb@gdol Mazbzos N=30,
boaemm  smdommdalb  gemobogmo  asb3domBgdol  mobobdow
p=5/100=0.05 (dgbodsdabow, 4 =0.95). dgbsdsdnbog, azod3b:

P, (0) =C2,0.05°0.95*° =0.95% =0.2146,
306 530bo,
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30—k p 30—k 0.05 30—k

P.(k+)=———=P,(Kl\=————P,, (Kk\=——P, (k
)= 200 =3 S e 10 - B R,
Lonobors, Mmzo k=0: P (0+1)—ﬂ~0 2146 =0.3389 ;
Qo0o(3, (6] : Py 19-(0+1) . . ;
30

3071 3389-0.2586 (o5 5. 3. boden-
19-(1+1)

oo 3394698 398rga0 (3bGoero:

Gmis k=1: Py(1+1) =

©989J&0M0 bobs@dal ddsmMAS J09qmo@ oo
fobgo k P.(K) 3d50Mdd P (k)
0 0.2146 0.2146
1 0.3389 0.5535
2 0.2586 0.8122
3 0.1270 0.9392
4 0.0451 0.9844
) 0.0124 0.9967
6 0.0027 0.9994
7 0.0005 0.9999
8 0.0001 0.999998
9 0.000001 0.999999

83 (36G00l dgbsdsdabn sembdscmmdgdols asbsBamgdals
aMo030 0gbgds:

0.4

0.35 +
0.3
0.25 *
0.2
0.15

0.1
0.05 ¥
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330G oMo smdomnmdgdal dgbodsdobo gobsbomgdal gfs-
%3030 0gbgdes:

1.2

0.8 L2

0.6

0.4

0.2

8989L1010 24. bLsdnsrme ds630L dogH as(3934mo 3Mgd)g-
3oL 5% o6 dMbgds. g3odmzmm smdsmmds 0dobs, MM 3630l
3096 35399 100 36090006 sdOMbgdal 3GIMdmagds dgo-
3b6gds 96065 3mgd M dgdmbggzsdo. ngmmabbdgds, Gmd 3Mgoo-
8930 3503935 5 3Mbgds M NIsbgmnbogsb sdmy)30gdma.

0dmblibs. 3Mg0o@ ol o6 ©sdMNbgdsl ogemdzsm ,bomMmdsd)g-
30" o 30baMmggdmmo dg@mbymalb bgdom, bowsg ,606358gdab”
smdsomds P =0.05. ghon s 08039 (3000, GmIgmo(y dgmadstyg-
mdb 3Mgodob go(39393dn, dgmMwgds N=100-gq96. dmbodgdbos
3md30mMds bomBamgdalb — A={3Mg0d0 o6 3dMmbogds 2 393-
0bgg3030 3506(3}. go©sz0go LoBnbssmdmgam bomdomadadyg —
Z={dﬁ)aggo(8)o 56 ©3MMbogds MAMbg bogmgd dgdmbzgsadol. gb
1 39060L36gmn dgndmgds bomdmzgeanbmo dgdogan mGa bomdo-
mgd0b a59M0569d0lb Laboo: B ={3Mgmngn o6 ©sdMmbrogds 0
dgdombggzedo} o C={3Mg0080 56 @sdGbogds 1 dgdmbggze-
do}. dgLsdsdabog, 39Mbmmals gm@EIMemalb msbsbdow a394bgds:

P(z\) =P(B)+P(C)=C.,-(0.05)°-(0.95)" +C,, -(0.05)" - (0.95)* =
=(0.95)"* +5.(0.95)*.
5308 m3 Ladngdgmo seMdsmmds ngdbgdes:
P(A)=1- P(R) =1-(0.95)" —5-(0.95)* ~ 0.96.
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bLIBOBXNEM 1. 94L396M03gbE0 Jamdamgmdl Lado Lomsedsdm
3odoomnmob gogm@gdado. nd3mggom smsdsmmds 0dobs, MHmI g4L3g-
0396@&0L 10-%96 a93gmEgd0baol bybGew 4 94L3gM03968 30 dm-
35 BbGo MmM-mn ,,6%?

bLIBOBXNEM 2. H5dwgbo dgdmbggzoma (3083600 Nbos sgommo,
Mmd (306360 ,5% dmgogl gMoOK M do0b(3 956 3mgd 0.9-0b Gm-
0 dSmdsmmMbom?

8989L20010 25. Gmamns semdscmds 0dobs, MHm3 dgdmbizgzom
dgeRgmemo 500 50530560056 2 sndows 1 mgdgcigomb?

0dmblibs. d1690Mngz00 goaymobbdmo, MHm3 ©3bmdo ssdns-
bob @odowgdol myg Gmmo smdsmmdom dgodmgds agmb Bemal
6930b30gM0 g, 569 sedosmmds 0dnbs, GmM3 dgdmbggznom dgMhy-
M0 5830560 3ds©gdmos 1 mgdgMmzomb ndbgds 1/365. 30bs0-
36 gb Mozbgo sbmmbos 0-006, 5308 ™3 Mbos gobaMagdmmm 3¢)-
sbmbob dnsbemmgdomo gm@INmom, bowsis N=500,k =2, p=1/365,
A =500/365~1.3699. dgbodsdnbaw, badogdgmo semdscmmds 0gbgds

1.3699°
2

Py (2) == e 1% ~ 0.2385.

898910010 26. ymggeo 1000 35380 @ssbemmagdoo 8 (35(3090.
BMaME0 5ddmmMds 080bs, GmM3 3gdmbggzom dg@mhgme 100 3o(3-
do o6 53mAbrgds of(3 gfmo (35(3007

33mbbbs. 3 dgdmbzgzsdo n=100 k =0, p=8/1000, A =100-0.008=0.8.

5308 m3, bodogdgmo semdscmmds ngbgds

0.8°
0!

Py (0) = -7 ~0.4493.
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